1076 BUEL S W EIH]

=

JOHN DEERE

THER

1076 BB S UM

PC4496 (Jul-09)
Simplified Chinese H132 (f&j44)

L)F il REREENH B RA T
Chinese Edition
Litho in China (New)
COPYRIGHT © 2008
DEERE & COMPANY
Moline, lllinois
All rights reserved






10-A01

1076 BIBR S UL EIHL
R R =S
030- A01
PUC00494 -UN- 030- _A02
PUC00494
1076 BEA W EIHL PC4496 (30-JUL-08) 10-A01

PN=1



10-A02

1076 BIBR S UL EIHL
HHE R =S
040- AOf1
PUC00495 -UN- 050- AO0f1
050-_A02
PUCO00495 50
10-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=2



10-A03

1076 BIBR S UL EIHL
HEERZES
040- A02
PUC00496 -UN- 060- AO01
060- A02
070- AO01
070- A02
B 070- _A03
§ it AR EE 070- A04
§ T
L
R
Tﬂ%
i iy
7
2
/’gif
P
=
A
PUC00496
1076 BEA W EIHL PC4496 (30-JUL-08) 10-A03

PN=3



10-A04

1076 BVEE S U HIH
R RERS

080- AO01

PUC00497 -UN- 080- AQ02

080- AQ3

080- A04

80

PUC00497

10-A04 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=4



10-A05

1076 BVEE S U EIH

EBEE F S

090- AOf1
PUC00498 -UN- 090- A02
090- A03
090- A04
100- AO1
100- A02
100- _A03

PUC00498 ; 100

1076 BEA W EIHL PC4496 (30-JUL-08) 10-A05

PN=5



10-A06

1076 BVEE S U HIH

ERHEE &S

0- AO1
0- AD2
0- _A03

7
PUC00499 -UN- 1
110- A04
1
1
1

10- AO5
20- A0t
20- A02

PUC00499

10-A06 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=6



10-A07

1076 BVEE S U EIH

BB 351

=
A

— QN —|Q
o OO0
<< <|<
S S o|o
M <[
T T

4

=

<

<

o

(3]

S

[&]

2

o

140

PUC02044

10-A07

1076 BEA W EIHL PC4496 (30-JUL-08)

PN=7



10-A08

1076 BIBR S UL EIHL
BEE R RS
150- AO01
PUC02045 -UN-
150
PUC02045
10-A08 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=8



1076 BIBR S UL EIHL
PUCO00500 -UN-
PUCDR500
Z985 - @ /R 1076 BUBES W EIHL
(RAMBIELMNETE, BABZITRED
(C) 2007 FIRIITH: MR LA, FEEEFERIMNEHTT: (RETTERFY
1076 BEA W EIHL PC4496 (30-JUL-08) 10-1

PN=9



1076 BVEE S U HIH

IR A X

Epd
APPL U A Tz A
AR b
ASSY LERR
CAT Byl
CNLA EfERE GTHRMmE
FI MG =EHEEMN
FOR HT
FRONT B
ID Wi
INCL KEYS &4
KIT =it
L PUEES 3
LGTH K
LH e
LOW T
MARKED s
MF g7 =
NA & H
NSEP S PARFEAL
oD Az
OR B
ORD )
ORD W/ EligaNe)
PACKG A
RATIO Bl
REAR G
RH A
SuB B
SUB FOR e
TK I=5; 3
uP B
W/O I
z UrEe v BRI R i3
10-2 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=10



10-3

1076 BVEE S U EIH

BESWEINFTISHE

1 23 4
|

PUC02001 -UN-

“YC1076 A 123456 *

PUC02001
1. RERBARERHIER YC - i « R{ERRT )
2. REBEREWHE S 1076
3. AERBAIENLIRA A
4. REBERENUTFS 123456

PUC02002 -UN-

PUC02002

BRE W NS S A TR ICA I ONRTTED -

1076 BEA W EIHL PC4496 (30-JUL-08) 10-3
PN=11



1076 BVEE S U HIH

HERP TS EBATFRERZEMEANILE: fln

- EHAHEHT AN

000000- ZH-a# FFZFH5 2 5B L.

-000000 ZE e # T ZF5 5 2 ar L X ZF5 S TE Hlis.

000000-000000 FHFIHH T %75 2 ALK %P5 K E M2 .

WERFFISEEIR XXXXXX BFFS, RnFe5H B IAERT S B R MR e 755 .

VGRS
PR SRR AT . I A TR U R

T HE Lk [E
WREHEREPOEME S AL, RrRERMHENRBES, REHE.

DM o4 ER 1

F BRI EE A THERR) FEEN M. BRRREZLH T AT BB e mla A, (e 25 4 mT e 2R AL B A
KB A AN G A B

10-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=12



10-5

1076 BVEE S U EIH

RATFRIR A2 SR E ARIR
BEAF NI SR T M AUEBAR RS SAE 8 BT HS (E5EE) HIREER (AHBARKERERIRN 10.9) . EERRT 2R SR
4k, FTAEREETFFERZER N SAES R (FRiF 8.8) Bk T H &4,

[E Brbm A 2 BB AL

AT H SR B A 150 A IR A
R XXXXXX 7905 s RS S0, FRon oS A2 WAREAR T AT H SRS BT i AR e R P51 =

EHEE

EMNHRETRR. LARMITIY. AREAEEERAT SRS,

1076 BEA W EIHL PC4496 (30-JUL-08) 10-5
PN=13



10-6

1076 BVEE S U HIH

10-6

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=14



30-A01

PRFNEL S
XOOOOKHIHKHHKHHIXX I IXKKKHIXXIXKXXXXKXX LT
1- 2
PUC00242 -UN- 2- 4
3- 6
48
5- 10
6- 11
7- 12
ALY 11- 20
: / z,/,,-//z //”,,,,/f,
k.
9y
PUC00242
30-A01

1076 BEA W EIHL PC4496 (30-JUL-08)
PN=15



30-A02

BRI S
XXXXXXXXKX XK XXX XHXXXHX XXX XK KXK XXX XKKXXK XXX XK XXX XXX X RS
8- 14
PUC00243 -UN- 9- 16
10- 18
PUC00243
30-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=16



30-1

BRRFNEL S

1076 BEA W EIHL PC4496 (30-JUL-08) 30-1
PN=17



30-2

PERINEL S

W RER

PUC00244 -UN- “

PUCQ0244

30-2 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=18



30-3

PRHANEL S
1
0
7
HE FHE FHE #HE ViZiaa 6 &t
1 YC12584 = 1 X
2 AS24774 1EENH 1 X
3 S26386 HE R 8 X
4 12M7013 AL E] 20 X 10MM
5 YC11975 =ik 1 X
6 YC16900 4 1 X
7 19M7161 HE R 8 X M6 X 45
8 00G00088 E 2 X
9 YC16162 FRE 1 X
10 JD10052 ik 1 X #o
11 YC16161 LEEh 1 X
12 YC11964 S 1 X
13 12M7014 A B 8 X
14 19M7073 HE R 8 X M12 X 50
15 40G02045 4 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 30-3

PN=19



30-4

PERINEL S

PUC00245 -UN- “

PUC00245

30-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=20



30-5

PRANES
1
0
7
HE  FHE 4 #E S [
1 AYC10811 B 1 X
2 19M7168 iR 10 X MI10X 30
3 12M7013 0E 1 X
4 14M7140 125 10 X M10
5 YC12707 ok 1 X
6 YC14490 TKE 1 X
7 YC12601 W4 3 X
8 YC12342 I 2 X
9 YC12343 I 2 X
10 YC12345 4 1 X
11 YC12438 BT 2 X
12 YC12445 B 1 X
13 YC12435 KA HE 1 X
14 24M7028 R 14 X 10MM
15 14G25122 125 2 X M12
1076 BEA W EIHL PC4496 (30-JUL-08) 30-5

PN=21



WPMFNED =
HESEIEN
PUC00246 -UN- k
17
PUC00246
ZEMERSE T
30-6 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=22



30-7

BBAE S
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC12627 FEENEERL 1 X
2 YC12985 EHE 4 X
3 710872 EESE: 1 1 X
4 00GP502 RDE 1 X
5 YC12984 EH 4 4 X
6 YC16821 HNER T b A R 2 X
7 00G390202 ik 1 X
8 03M7068 by 3 X M6X20
9 12M5737 R 18 X 6MM
10 14M7027 125 3 X M6
11 YC16857 HNER T b A R 1 X
12 00G390204 Ak 1 X
13 00GP504 (RDE 1 X
14 19M7163 by 3 X M8 X 25
15 12M7008 i 3 X 8MM
16 14M7029 125 3 X M8
17 21M7280 BRET 12 X M6 X 20
18 14M7027 125 12 X M6
19 738597 FEAR 12 X
20 AZ21454 EEEN] 1 X
21 739668 e 1 X
22 AYC10905 W BEH IR L 1 X
23 19G52116 by 15 X M6X16
24 19M7269 by 2 X M8 X 50
25 733018 e 2 X
26 733854 T G R R 1 X
27 00G180203 Ak 1 X
28 739834 [y 1 X
29 24M7207 i 1 X 8MM
30 19G52125 by 2 X M6X25
31 AYC10904 HEZE 1 X
32 24M7139 R 15 X 6MM
33 AZ22047 FIH 2 X
34 14M7307 125 2 X M8
1076 BEA W EIHL PC4496 (30-JUL-08) 30-7

PN=23



30-8

WPMFNED =
TESEIEM 153N
PUC00247 -UN- w
21
- 20
19
S \%%
15
PUC00247 4
BREMEREE T
30-8 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=24



30-9

PEMFIEL S
1
0
7
#5  EHE FlHE #E  FAE 6 &
1 YC12444 = 1 X
2 YC11968 B 1 X
3 14M7029 125 1 X M8
4 22G36420 BRET 1 X
5 12M5737 R 4 X 6MM
6 AZ23070 FHEE 2 X
7 11G01720 2] 2 X
8 11G02330 =1 2 X
9 721232 hERE 2 X
10 00G390203 ik 2 X
11 YC16822 hA 4 X
12 14M7027 2 E 4 X M6
13 00GP503 RE 2 X I
14 YC16183 ) 2 ] day 1 X
15 732190 = 1 X
16 34G00530 2] 1 X
17 710818 N 2 1 X
18 03M7068 by 4 X M6X20
19 19M7167 by 4 X M10 X 25
20 12M7013 R 4 X 10MM
21 YC11970 AN R AR 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 30-9

PN=25



30-10

WBNE S
g |
PUC00248 -UN- k
2 ]
/1
(1
7
7
//
12 /
&
A
7
7
PUC00248 //
1
0
7
e FHE FHE #E o2z 6 #E
1 19M7301 by 1 X M8 X 40
2 24M7055 R 2 X 8MM
3 14M7029 125 2 X M8
4 733071 FEHH 1 X
5 732924 @ 1 X
6 733070 R 2 X
7 03M7068 IR 6 X M6X20
8 19G52116 12 4 X M6X16
9 12M5737 R 10 X 6MM
10 24M7054 R 10 X 6MM
11 14M7027 125 6 X M6
12 YC16856 % R 1 X
30-10 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=26



30-11

BRRFNEL S

R ANHLIE S E AN & AL A B

PUC00249 -UN- ‘
iz
gf/x;fﬁ
H
7
Zi
H

PUC00249
1
0
7

HE FHE FE #HE Vo2 7k 6 #it

1 AYC10680 O R RS 1 X

2 734562 O #I[E 1 X

3 YC12676 Hosigs 2 X

4 19M7376 [T 2 X M8X22

5 12M7008 g 2 X 8MM

6 734214 e 1 X

7 734215 JeF 2 X

8 19M7168 b 2 X M10X30

9 14M7140 il 2 X M10

10 12M7013 g 2 X 10MM

11 YC13988 ST 2 X

12 YC13671 wE RS 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

30-11
PN=27



30-12

PERINEL S

HSRSE

PUC00250 -UN- “

3
\\

2

™~

4

™~

2 .~

3

2
PUC00250
ZEMERSE T
30-12 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=28



30-13

PEMFIEL S
1
0
7
#5  EHE Ffks #E  FAE 6 &
1 AH148879 AR PEE R 1 X
AH14880 EXmn 1 X
RE63932 BAPET 1 X
2 YC13966 R 8 X
3 YC12620 HAT R 2 X
4 YC13982 FHEE G 1 X
5 AYC11324 RIFEIRL 1 X
6 YC17336 KT 2 X
7 YC16169 AT 1 X
8 AYC11325 YRS AR L 1 X
9 12M7013 i 2 X 10MM
10 19M7166 by 2 X M10 X 20
11 YC13968 T 1 X
12 14M7029 125 12 X M8
13 12M7008 i 12 X 8MM
14 19M7139 by 8 X M8 X 20
15 19M7378 by 4 X M8 X 45
16 YC13967 T 1 X
17 AYC11529 FHRE 2 X
18 24M7207 R 12 X 8MM
19 24M7028 i 2 X 10MM
1076 BEA W EIHL PC4496 (30-JUL-08) 30-13

PN=29



30-14

WBNE S
HERESETF
PUC00251 -UN- ‘
PUC00251

1

0

7
e FHE FHE #E o2z 6 #it
1 AH161463  BEE 1 X
2 YC10572 X 1 X
3 12M7008 R 3 X 8MM
4 14M7029 125 1 X M8, M8
5 19M7298 by 1 X M8 X 35, M8X35
6 24M7055 R 1 X 8MM
7 YC12401 B 2 X
8 YC12405 R 2 X
9 AYC11322 KFRE 2 X
10 14M7307 125 2 X M8, M8
11 YC12345 WEET 2 X
12 $29458 g 1 X
30-14 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=30



30-15

BRRFNEL S

1076 BEA W EIHL PC4496 (30-JUL-08) 30-15
PN=31



30-16

PERINEL S

it

PUCDO252 -UN- ﬁ

PUC00252

30-16 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=32



30-17

PR S
1
0
7
- FHE FE #HE Vo2 7k 6 #it
1 YC13986 WEHE T 10 X
2 YC14457 IRME AR X
3 S40537 SR AR X
4 AYC10903 JRMAE 1 X
5 19M7328 2R 2 X M10 X 70, M10X70
6 YC16740 B 2 X
7 YC16741 Bk 2 X
8 YC16742 PRAFLES 2 X
9 YC17376 EokiH 2 X
10 AYC10547 g 1 X
11 19M7640 2R 6 X M5 X 12, M5X12
12 AYC10722 iR 1 X
13 YC12638 R 1 X
14 AYC10531 e 1 X
15 YC11945 %= 1 X
16 AZ24546 PRMFE B 2 X
17 19M7288 2R 8 X M8 X 30, M8X30
18 24M7055 B 1 X 8.400 X 16 X 1.600 MM, 8MM
19 12M7008 B 8 X  8MM, 8MM
20 14M7029 B 8 X M8, M8
21 AYC11483 RIS S 1 X
AS40524 e 1 X
AS41954 b 1 X
22 YC14456 ¥ 1 X
23 19M7382 2R 2 X M10 X 40, M10X40
24 24M7028 B 4 X  10MM
25 12M7013 B 2 X  10MM
26 14G00102 W2 2 X  M10
27 AZ50621 Kt e 1 X
28 YC14881 Bk 1 X
29 AYC10160 SHIEE FF 2% 1 X
30 AH130127 B E 1 X #o
1076 BEA W EIHL PC4496 (30-JUL-08) 30-17

PN=33



30-18

PERINEL S

AT

PUC00253 -UN- “

PUC00253

N

TE RS T

30-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=34



30-19

PEMFIEL S
1
0
7
#5  EHE FlHE #2  FAE 6 &
1 YC12709 SHITAF 1 X
2 19G52120 by 4 X
3 12M7069 i 4 X
4 14G14060 125 4 X
5 YC12708 Wi 1 X
6 L12259 & 1 X
7 19M7163 by 2 X M8 X 25
8 14G14050 125 3 X
9 YC11410 B4%h 1 X
10 AZ22970 WS 1 X
11 19M7376 by 1 X M8 X 22
12 14G02089 125 1 X
13 12M7008 A E 2 X
14 14M7307 4R A 1 X M8
15 YC16137 BRE: 1 X
16 YC16138 R 1 X
19M7376 B 1 X
17 YC16136 Rk 1 X
18 12M7064 AL E] 1 X 5 MM
19 AYC12288 BUFT 1 X
20 740822 %= 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 30-19

PN=35



30-20

PERINEL S

RAINIE

PUCD0D254 -UN- “

PUC00254

30-20 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=36



30-21

BBAE S
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AS40559 BN 1 X
2 AS40558 X 2 X
3 H78856 TR B A 8 X
4 H34482 k=4 4 X
5 H80197 TRE R 8 X
6 P50456 g 8 X
7 YC16918 IR 1 X
8 19M7504 by 4 X M16 X 85, M16X85
9 14G25162 125 4 X M16
10 YC16919 HH 1 X
11 12M7014 R 8 X 12MM
12 19Mm7387 by 4 X M12 X 40, M12X40
13 19M7167 by 9 X M10 X 25, M10X25
14 12M7013 R 9 X 10MM
15 14M7140 125 9 X M10
16 19M7068 by 4 X M16X30
17 12M7069 R 4 X 16MM
18 24M7053 R 2 X 16 MM
19 19M7285 by 4 X M12X30
1076 BEA W EIHL PC4496 (30-JUL-08) 30-21

PN=37



30-22

WPMFNED =
&5
30-22 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=38



40-A01

BEA%
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I

1- 2
PUCO00255 -UN- 2- 4
3- 6
4- 8
6- 12
8- 16

&

Gl

i

8
PUCO00255

1076 BEA W EIHL PC4496 (30-JUL-08) 40-A01

PN=39



40-A02

BEA%
XXXXXXXXKX XK XXX XHXXXHX XXX XK KXK XXX XKKXXK XXX XK XXX XXX X RS
5- 10
PUC00256 -UN- 7- 14
9- 18
10- 20
- & = T
ﬂi’:z:_:—:._asﬂ-w,r..::_ﬁ;;ggm-““s" ﬁ,,_f-.!‘-,a_a_':'-.?‘;;
PUC00256
40-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=40



40-1

B

1076 BEA W EIHL PC4496 (30-JUL-08) 40-1
PN=41



40-2

RS RK

ERithiei

PUC00257 -UN- ‘

PUC00257

N

THEREET
40-2 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=42




40-3

BEA%
1
0
7
#5  EHE FlHE #2  FAE 6 &
1 AYC12492 E i 1 X
2 AYC11154 EHEh 5L 1 X
3 AYC10648 et ek 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-3

PN=43



40-4

RS RK

SRR RTH

PUCO00258 -UN- “

PUCQO0258

40-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=44



40-5

BEA%
1
0
7
HE FHE FE #HE Vo2 7k 6 #it
1 DQ49959 BHEER 1 X (A)
2 AYC10585 e 1 X
3 AYC10696 L3 1 X
4 AYC10488 hEE 1 X
5 AYC10865 agi:) AR X
6 AYC10866 BT K JK812-1 1 X
7 DQ49957 KIEE 1 X
8 AS29688 B 1 X
9 AYC10785 MEEST 1 X
10 AS32248 F47 FF 55 KN1-223 1 X
11 AYC10165 EE SR 1 X (A
12 AYC10860 NERERE 1 X
13 AL62707 s 1 X
14 AYC10654 T 2 X
15 AZ28084 ER B I 2% 1 X
16 AYC10859 A2 2 X
17 AYC10786 Wt 2% 1 X
18 AZ24217 EEleTE 1 X
(A) 2006 E2 J&
1076 BEA W EIHL PC4496 (30-JUL-08) 40-5

PN=45



40-6

RS RK

EREFER
PUC00259 -UM-
PUCO025%
40-6

%

TE RS T

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=46



40-7

BEA%
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC10164 BWE BEH 1 X (A)
2 19G52116 by 1 X M6X16
3 12M7116 R 1 X 6MM
4 14M7027 125 1 X M6
5 YC16954 B4 AR X
6 YC12858 s AR X
7 YC12693 Bk AR X
(A) 2006 2 5
1076 BEA W EIHL PC4496 (30-JUL-08) 40-7

PN=47



40-8

RS RK

BIRATEEEL . BI/NVT2EER

PUCD0280 SUN-

PUCOQ0260

S

THEREET
40-8 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=48




40-9

BEA%
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC12583 W\ 1 X
2 14M7029 125 1 X M8
3 12M7116 R 1 X 8MM
4 19G01120 by 1 X M8X20
5 AYC10784 FIAMT 2 X
6 AS38204 AT 2 X
7 AS50201 FREFE 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-9

PN=49



40-10

FHR (A3, BED

PUCO0281 -UN- ‘

PUC00261

40-10 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=50



40-11

BEA%
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC10169 MIESSE 1 X
2 YC17370 B4R AR X
3 YC12693 Bk AR X
4 AS31326 Bt 1 X
5 AYC10730 =3 1 X
6 AYC10857 o [A]4% BR 1 X
7 721238 P 2 X
8 AYC12588 Hh 2 X
9 AYC10650 RiT&® 1 X
10 AYC12083 B 1 X
11 AZ34292 W% 3 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-11

PN=51



40-12

RATRRITE

PUCO0282 -UN- “

PUC00262 \/

40-12 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=52



40-13

BEA%
1
0
7
HwE FHE FHE #E o2z 6 #E
1 19M7168 by 2 X M10 X 30
2 YC16146 i 2 X
3 724302 e 2 X
4 721238 P 2 X
5 19M7139 by AR X M8 X 20
6 12M7008 i AR X 8MM
7 14M7029 125 AR X M8
8 722215 [ 2 48 2 X
9 AYC12656 4T 2 X
10 AYC12147 BT 2 X
11 12M7013 R 2 X 10MM
12 740291 k= 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-13

PN=53



40-14

RS RK

R RTH

PUCO0283 -UN- ‘

PUC00263

40-14 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=54



40-15

BEA%
1
0
7
HwE FHE FHE #E o2z 6 #E
1 19M7163 by 2 X M8 X 25
2 12M7013 i 2 X 10MM
3 14M7140 125 2 X M10
4 YC17370 by 1 X
5 AZ22892 i 1 X
6 12M7116 125 AR X
7 AS32232 Er 1 X
8 AYC10858 (e 1 X
9 YC16954 R AR X
10 YC12858 Eig=atey AR X
11 YC12693 BRER 2 AR X
12 AYC10862 A 1 X
13 YC12870 EZES 1 X
14 YC12871 Bk 2 X
15 AS29678 A& 1 X
16 AYC10631 s 1 X
17 AYC11154 LR 1 X
18 AYC10649 BEIVLE 1 X
19 YC12351 Ak R PR ER AR 1 X
20 24M7054 EHEh 5L 1 X 6MM
21 21M7094 REINME: 1 X M6 X 16
22 12M7008 LA 35 2 X 6MM
23 19M7139 i 12 X M8 X 20
24 14M7029 BRET 12 X M8
1076 BEA W EIHL PC4496 (30-JUL-08) 40-15

PN=55



40-16

RS RK

ITEERE RITERE RS

PUC00264 -UN- g

PUC00264

S

TE RS T

40-16 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=56



40-17

BEA%
1
0
7
#5  EHE FlHE #2  FAE 6 &i
1 AZ24218 (e 1 X
2 AZ24504 b 1 X
3 YC16993 ERT 1 X
4 12M7064 R 7 X 5MM
5 YC17010 VE IR 1 X
6 14G14050 125 7 X M5
7 YC17375 [ M 1 X
8 19G52116 by AR X M6X16
9 12M7116 R AR X 6MM
10 19M7162 by AR X M8 X 16
11 AZ24217 R 1 X
12 AYC10865 HER 1 X
13 11M7078 agi:) 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-17

PN=57



40-18

RABFRHREF X

PUCO00265 -UN- “

PUC00265

%

THEREET
40-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=58




40-19

BEA%
1
0
7
HwE FHE FHE & o2z 6 #it
1 AYC10652 BT L B 1 X
2 21M7094 BRET 1 X M6 X 16
3 12M7116 R 1 X 6MM
4 14M7027 125 2 X M6
5 AS29677 RAEIT 1 X
6 AYC10164 Bk 1 X
7 YC17316 AL 1 X
8 YC12693 S8k AR X
9 24M7055 R 1 X 8MM
10 19M7376 by AR X M8 X 22
11 YC12640 JAg:S 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-19

PN=59



40-20

REREERERE

PUCOD0266 -UN- ' !

PUCOD0266

40-20 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=60



40-21

BEA%
1
0
7
HwE FHE FHE #E o2z 6 #E
1 YC16954 B4 AR X
2 YC12693 S8k AR X
3 AZ52663 AERR 2 1 X
4 YC17147 X 1 X
5 12M7116 R AR X 6MM
6 19G52112 by 1 X M6X12
7 741217 B 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 40-21

PN=61



40-22

40-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=62



50-A01

EHE
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
1- 2
PUCOD267 -UN- 2- 4
3- 6
4- 8
5- 10
6- 11
7- 12
8- 14
9- 16
10- 18
11- 20
12- 22
PUC00267
1076 BEA W EIHL PC4496 (30-JUL-08) 50-A01

PN=63



50-A02

feah %

3

=

BB

10,.9,9,9,0.0.9.9,9.0,0.9.9,0,9,0.0.9,0,0,0,9,0.9,9,0,0.0.9,9,.0,0,0.0.9,0,0,0.9.9,0,0,0.0.0.0,0.¢

o4
25

13-
14-

UN-

PUCOo0268

T T AR
w..lw»nh /m.....wﬂ..u

P ) -d-b...-...
; A
"

3=

gl

PR
)

i

-

-

-

LTI c....-l

..... T ey LI
. Tkisrhhese T

et et =]
o

| =,

-
o —

B gt

P

-

iy

.’_.u'-'

PUC00268

1076 HEE W EIHL PC4496 (30-JUL-08)

50-A02

PN=64



50-1

feah %

B

1076 BEA W EIHL PC4496 (30-JUL-08) 50-1
PN=65



50-2

feah %

TR

PUCO0289 -UN- ‘

PUCOQ0269

N

THEREE T
50-2 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=66




50-3

EHE
1
0
7
#HE FHE FlHE #E JFIE 6 &2
1 AYC12297 F B 1 X
2 YC12150 e 2 X
3 AYC11853 3 B 1 X
4 YC16916 hig 1 X
5 YC16147 R 2 X
6 YC15170 VE IR 1 X
7 S43363 ETIEG 1 X
8 14G25162 SR 1 X
9 14G00182 125 4 X
10 734099 F 1 X
11 AYC10131 A 1 X
12 19M8767 by 4 X M12 X 75
13 12M7014 BRI 4 X 12MM
14 19M8761 by 4 X M10 X 22
15 14M7140 125 4 X M10
16 12M7013 BRI 4 X 10MM
17 19G08681 by 1 X
18 711183 b 1 X
19 14M7031 125 2 X M12
20 58M5573 I 1 X M6X1.00
21 734095 b 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-3

PN=67



50-4

feah %

fEhilig

PUCO0270 -UN- ‘

PUC00270

S

FE RS T
50-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=68




50-5

AR
1

P& g
wHE  FHE FE #HE OR YEAR 6 HE
1 AYC10548 TREERR 1 X
2 YC12149 R E 1 X
3 YC12145 WHE 1 X
4 YC12146 g 1 X
5 YC12147 i 1 X
6 YC16346 JE A 1 X
7 19G28030 2R 6 X M12X30
8 12M7014 B 6 X 12MM
9 AYC12249 i 1 X
10 00G2007114A HEHRA A BR 1 X
11 00G2007114B HESH AR SN IE 1 X
12 19M8197 B 6 X M10 X 85
13 00G7507EA HEHRA A BR 1 X
14 58G21010 SHIAR 1 X M10X1.00
15 YC12079 i 1 X
16 40G02068 g 1 X
17 H86012 P E 1 X
18 YC16151 ERERE 1 X
19 00G7507EB HESH AR SN IE 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-5

PN=69



50-6

feah %

TR

PUC00271

UN-

PUCD0271

PN=70

1076 HEE W EIHL PC4496 (30-JUL-08)

50-6



50-7

EHE
1
0
7
#5  EHE FlHE #E JFIE 6 &
1 YC16347 = 1 X
2 19G02659 by 1 X M16X115
3 14M7142 125 1 X M16
4 12M7069 R 1 X 16MM
5 H85989 sl 1 X
6 11M7030 24 1 X
7 AH87130 D 1 X
8 S32816 E 1 X
9 A16529 By 1 X
10 H30463 4 1 X
11 R26863 O HIE 1 X
12 34H323 F A4y 1 X
13 H85993 BT 1 X
14 u11017 O AP 1 X
15 H85988 FLER 1 X
16 YC12148 R 1 X
17 YC16152 125 1 X M20X1.5
18 H89171 HEE 1 X
19 58M5573 SHIAR 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-7

PN=71



50-8

feah %

HEHEE (TEER)

PUCOo0272 -UN- g

PUCO0272

50-8 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=72



50-9

NEES
1
0
7
HE FE FltE #HE FAE 6 HE
1 19M7414 g 6 X MI12X90
2 12M7014 P I 9 X 12MM
3 58G31013 s 1 X
4 H84672 TR 1 X
5 11G01726 5 1 X
6 YC16334 iR 1 X
7 YC12761 g 1 X
8 YC16335 - 1 X
9 YC16336 - 1 X
10 JD10087 K 1 X
11 AYC12678 HEr 1 X
12 40M7115 i 1 X
13 AYC12570 4P 1 X
14 YC17302 O AifE 1 X
15 YC17303 L 1 X
16 YC17304 TR 1 X
17 HB84666 TR 1 X
18 AYC12655 HEr 1 X
19 58G31018 T 1 X
20 19G02445 g 3 X
21 AYC12554 ool 1 X
22 40G00084 i 2 X
23 JD9913 ik 1 X
24 YC16332 B 1 X
25 T3142-HA & 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-9

PN=73



50-10

MZIE
BEaEEk
PUC00273 -UN- g
PUC00273

1

0

7
e FHE FHE #E o2z 6 #it
1 YC17319 EEF 1 X
2 19M7140 by 2 X M14 X 65
3 12M7068 35 2 X 14MM
4 727661 R AR X
5 YC16840 Rt 2 X
6 YC16676 B 4 X
7 710973 BEBRAER 1 X
8 12M7014 G 5 X 12MM
9 19M7744 by 2 X M12 X 35
10 19M7791 by 3 X M12 X 40
11 58G21010 SHIAR 1 X
12 19G08425 B 6 X M8X25
13 12M7008 7 2% I [E 6 X 8MM
14 19G08530 e 6 X M10X30
15 12M7013 G 6 X 10MM
16 14M7029 ¥R 2 X M8
17 YC16337 e 2 X
18 YC10646 B LR (0 1 X
50-10 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=74



50-11

NEES
HEH
PUC00274 “UN- g
PUCO00274

1

0

7
HE FHE FE #HE  FHE 6 #it
1 S10705 B4 BRIR A 1 X 2005 2 J&
2 44G10830 44 2 X
3 12M7008 g 6 X  8MM
4 19G08430  #2f 6 X M8X1X30
5 00G80205  [a.LoEkih A& 1 X
6 360111K1  |FHEHA 1 X 2005 F£2 &
7 S10706 [ 1 X 2005 2 J&
8 10974 EEES Sd 1 X
9 AS46970 AFHE MR 1 X 200542 &
10 AS46969 TR H75 AR 1 X HEL (2005 2 F)

1076 BEA W EIHL PC4496 (30-JUL-08)

50-11
PN=75



50-12

feah %

BasaBiITis

PUCD0275 -UN- ‘

PUC00275
1
0
7
e FHE FHE #HE Vo2 7k 6 #it
1 19G08530 by 2 X M10X30
2 12M7013 PREE R 2 X 10MM
3 734721 e 1 X
4 YC16804 P 1 X
5 710976 FLAF 1 X
6 YC10651 HE 2 X
7 734711 #h 1 X
8 26G00828 Eid 2 X
9 22G17325 E BT 2 X  M6X25
10 14G00062 125 2 X M6
11 710710 X 1 X
12 34M7042 fel el e 1 X
50-12 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=76



50-13

feah %

B

1076 BEA W EIHL PC4496 (30-JUL-08) 50-13
PN=77



50-14

feah %

W

PUCO0278 -UN- ‘

PUCQ0276

50-14 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=78



50-15

NEES
1
0
7
HE FE FltE #HE FAE 6 HE
1 AH20868H EAEE 1 X
2 AYC10587 = 1 X
3 YC10614 R 1 X
4 732602 10 X 1 X
5 738012 15 Xt 1 X
6 YC10601 T 1 X
7 AYC10588 4P 2 X
8 34M7042 Eetealzhage 1 X
9 711298 WX 1 X
10 34M7040 Eetealzhage 1 X
11 711299 WX 1 X
12 14M7031 iR 2 X Mi12
13 34M7038 BRI 2 X
14 15H238 E3r 1 X
15 738439 - 1 X
16 738438 FE 1 X
17 405RH ® 2 X
18 711175 FEA 1 X
19 12M7014 P I 2 X
20 AYC12279 S 1 X
21 12M7014 P I AR X 12MM
22 19M7268 2R 1 X MI12X25
23 12M7008 P I 14 X  8MM
24 19M7162 B 14 X  M8X16
25 19M7375 2R 4 X M6 X18
26 14M7027 iR 6 X M6
27 AYC10175 RED 2 X
28 14M7504 2 AR X Ml4
29 12M7068 B E AR X
30 19M7362 g 2 X  MI12X55
31 YC12141 R 2 X
32 12M5737 P I 4 X
33 AH18240 Wi 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-15

PN=79



50-16

feah %

UN-

PUCO0277

PUC00277

TE RS T

N

1076 HEE W EIHL PC4496 (30-JUL-08)

50-16

PN=80



50-17

AR
1
Vo2 7k g
HE FHE FE #HE OR YEAR 6 #E
1 H10163A AR 2 X
2 YC10612 g AR X 0.08MM
YC10616 g AR X 0.05MM
YC10617 P AR X 0.13MM
YC10618 g AR X 0.25MM
YC10619 g AR X 0.5MM
3 JD7449 HhAANER 3 X
4 JD8134 A A 3 X
5 YC10584 3 1 X
6 H64031 o ]y 1 X
7 H33491 Wik 1 X
8 R26266 P 2 X
9 H75179 ke 1 X
10 YC10598 IEFEE 1 X H64035 HI4 ¢
11 R26255 TS 1 X
12 YC10606 THIERE 1 X
13 H75180 Wik 1 X
14 YC10666 B 1 X
15 40M7043 g 1 X
16 YC10605 B ERAT 1 X
17 34M7094 FEVEF AR 1 X
18 H64037 E3 1 X
19 YC10600 FHELE 1 X
20 AH21815 i 1 X
21 ID7424 HiR ST 2 X
22 L851T po BNV 3 X
23 JD8100 AR 2 X
24 H32057 ke 2 X
25 YC10603 W H 1 X
26 40M7044 P 1 X
27 G10928 — &y 1 X
28 JD8179 A A 1 X
29 738278 T 1 X
30 JD8220 HhAANER 1 X
31 G10974C Br & B84 1 X
32 AZ19023 ool 1 X
33 19M7744 2R 9 X M12 X 35
34 12M7014 B 12 X
35 14G01132 it 3 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-17

PN=81



50-18

feah %

EERE

PUCOD0278 -UN- ‘

PUC00278

50-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=82



50-19

NEES
1
0
7
HE FHE FE #HE Vo2 7k 6 #E
1 738235 i 1 X RH
2 710910 EHAR AL 1 X RH
3 YC10620 g AR X 0.05MM
YC10613 P AR X 0.08MM
YC10621 g AR X 0.13MM
YC10622 g AR X 0.25MM
YC10623 P AR X 0.5MM
4 AZ16786 4P 2 X
5 JD8171 AR 1 X
6 JD8217 HhAANER 1 X
7 710964 ERBATM 1 X
8 734489 g 2 X
9 T29394A NERS 2 X
10 129226 +FH 1 X
11 129227 Wik 4 X
12 AZ23520 ke 1 X
13 JD7425 HhAANER 1 X
14 JD8161 AR 1 X
15 710909 EHAR AL 1 X LH
16 738234 g 1 X LH
17 12M7014 B AR X 12MM
18 19G24535 YRAT AR X M12X35
19 T21430A S 8 X
20 YC10609 e 4 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-19

PN=83



50-20

feah %

RERHINE

PUCO0279 -UN- ‘

PUCQ0279

50-20 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=84



50-21

EHE
1
0
7
HwE FHE FHE #E FFAE 6 #E
1 711362 =ik 2 X
2 H10280 = 2 X
3 H22782 R 2 X
4 710941 Ak B 2 X
5 YC10657 B AR X 0.13MM
YC10656 B AR X 0.25MM
YC10655 B AR X 0.5MM
734380 T AR X 0.08MM
6 19G08630 by 6 X M12X30
7 12M7014 BRI 6 X 12MM
8 19G02340 by 16 X M10X40
9 E12817 g 8 X
10 H22785 FE 8 X
11 19M8049 by 8 X M10 X 80
12 12M7013 BRI 16 X 10MM
13 15H255 FEIE 6 X
14 H22789 E3 2 X
15 YC12143 tE 4 X
16 19M7617 by 4 X M20 X 80
17 12M7070 BRI 10 X 20MM
18 YC12142 tE 2 X
19 19G02746 by 8 X M20X50
20 14G01212 125 4 X M20X1.5
21 YC12140 LK HEAS 4 X
22 YC12144 o 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-21

PN=85



50-22

feah %

REEfRE

PUCO0280 -UN- ‘

PUC00280 28

N

THEREET
50-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=86




50-23

NEES
1
0
7
- FHE FE #HE Vo2 7k 6 #it
1 711404 fEzhH 2 X
2 711013 Wik 2 X
3 736742 B 8 X (A
S32258 2R 8 X  (B)
4 YC12368 B 8 X MI18X1.5(A)
YC16179 it 8 X M18X1.5(B)
5 710764 S 2 X
6 22G34420 EEMRET 6 X M8X20
7 731005 O RIE 2 X
8 AZ19602 FHE 2 X
9 711403 o8 2 X
10 JD8923 A AR 2 X
11 JD8248 BRI 2 X
12 H22784 P 6 X
13 JD8249 HhARSNE 2 X
14 JD8152 A AR 2 X
15 34G00318 Eetealzhage 2 X
16 H31263 it 2 X
17 G31264 3 2 X
18 JD7222 A AR 4 X
19 JD7266 HhARSNE 4 X
20 711315 W H 2 X
21 AH81622 4P 2 X
22 737932 %= 4 X
23 34M7037 Eetealzhage 4 X
24 737940 fEzha 1 X RH
737937 fEzha 1 X LH
25 YC16178 B 16 X
26 740239 % 2 X
27 YC17484 PR 4 X
28 34M7049 BRI 4 X
AS32311 BAAER (D 1 X
. AYC12871 BAAER (R 1 X
(A) R4 (B) JBF&t
1076 BEA W EIHL PC4496 (30-JUL-08) 50-23

PN=87



50-24

feah %

AR

PUCD0281 -UN- ‘

PUC00281
1
0
7
e FHE FHE #E o2z 6 #E
1 AYC10552 TR 1 X
50-24 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=88



50-25

feah %

LS

PUCO0282 -UN- ‘

PUC00282
1
0
7
#5  EHE FlHE #E JFIE 6 &
1 AYC10571 i 2 X
2 AYC10570 ol 2 X =354
S31693 A fa 2 X
S$31694 SMBA 2 X
S$31695 s 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 50-25

PN=89



50-26

feah %

50-26 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=90



60-A01

§E mAAH h

XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
1- 1

PUC00283 -UN- - 2
3- 4
4- 6
8- 12
9- 14

PUC00283
1076 BEA W EIHL PC4496 (30-JUL-08) 60-A01

PN=91



60-A02

AN 2
XXXXXKXXHKKXXXXX XXX XXKKX XX KKK KKKX XXX XXX KK XKKX XXX BB =3
5- 8
PUC00284 -UN- 6- 9
7- 0
10- 16

.”u/ ,,,,,,,, l////// ,, Ferises

_ i ’,’//”/,,,,
// /,/MW / s i
. /
7
;

/

,mf
. / //é’/ 7Z
//

PUC00284

60-A02

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=92



60-1

(o A0 7

R

PUC00285 -UN- '

PUCO00285
1
0
7
HE EHE FltE #HE FAE 6 HE
1 YC15423 4 1 X (A
YC16375 4 1 X  (B)
2 YC16739 e 2 X
3 AZ28785 JER RS 1 X ©)
AYC12145 JER RS 1 X (D)
4 58M5573 SHAR 1 X M6X1
5 14G29219 2 1 X M20X1.5
6 24M7051 H[E 1 X 20MM
7 11M700 # 1 X
(A) 2005 2 J5 (B) 2005 £ 7]
(C) 2006 2 j& (D) 2006 -2 A
1076 BEA W EIHL PC4496 (30-JUL-08) 60-1

PN=93



60-2

S [ AN 5h
BV BT
PUCD0286 -UN- k
fom)
PUC00286

1

0

7
e FHE FHE #E o2z 6 #it
1 710793 A B 1 X
2 YC16382 = 1 X
3 AYC10174 RS 2 X
4 YC12154 by 2 X M24X1.5X100
5 45G12249 B 2 X
6 11M7030 R 2 X
7 14G36240 125 2 X M24X1.5
8 58G30818 AR 1 X
9 19G02746 by 2 X M20X50
10 12M7070 R 4 X 20MM
11 14M7144 125 2 X M20
12 24G00022 R 2 X 22MM
60-2 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=94



60-3

(o A0 7

B

1076 BEA W EIHL PC4496 (30-JUL-08) 60-3
PN=95



60-4

(o A0 7

BmuAT SR

PUCO0287 -UN- ‘

PUCQO0287

S

O R T

60-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=96



60-5

§E mAAH h
1
0
7
% FHE Ffks #E A 6 &
1 AYC12140 i EES 1 X (A)
2 00G32209A Ego 2 X
3 00G32209B i 2 X
4 YC12067 - Eaas 1 X
5 YC16643 BRE: 1 X
6 YC16143 BRE: 1 X
7 00G7506B ST 2 X
8 00G7506A A 2 X
9 AYC12139 EEREEL 1 X (A
10 14G29239 ik 2 X
11 11M7087 tE 4 X
12 YC16306 i AR X 0.5MM
13 AYC10550 R AR X 2MM
14 AYC10551 P 2 X
15 S31687 i 2 X
16 S31688 WRE 2 X M18X1.5
17 S31689 IT 5 2 X
18 YC16641 by 2 X M10X50
19 24M7053 by 2 X M10X35
20 14M7142 R 4 X M16
21 12M7069 125 6 X M10
(A) 2006 E2 5
1076 BEA W EIHL PC4496 (30-JUL-08) 60-5

PN=97



60-6

(o A0 7

R#

PUCO0288 -UN- ‘

PUCO0288

60-6 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=98



60-7

ANl zh
1
0
7
% FHE FlHE #E S 6 &2
1 YC15924 i 2 X
2 00G32209A B IR 2 X
3 00G32209B HhARSNE 2 X
4 YC12067 W 2 X
5 H20336 e S 16 X
6 S50040 E 2 X
7 00G7506B HhASNE 2 X
8 00G7506A B IR 2 X
9 S43178 E 2 X
10 14G29239 F=IE] 2 X M22X15
11 11MmM7087 F O 2 X
12 BP13226 i 2 X
13 AS20190 ML 2 X
14 AS20195 hA 2 X
S31687 M 2 X
S31688 S 2 X
S31689 w4 2 X
15 710861 [ERER=S 4 X
16 24M7053 R 8 X 16MM
17 14M7142 125 8 X M16
18 12M7069 E 24 X 16MM
19 19M7609 [T 24 X M16 X 90
20 AS20189 BREE 2 X
21 19M7283 by 16 X M16 X 35, M16X35
1076 BEA W EIHL PC4496 (30-JUL-08) 60-7

PN=99



60-8

S [ AN 5h
HRRR
PUC00289 -UN- g
PUC00289

1

0

7
e FHE FHE #E o2z 6 #E
1 AYC12252 BREE 1 X
2 AYC12251 EYABEL 1 X
3 AYC12250 EYAEEL 1 X
4 YC17357 e 1 X
5 YC16824 P 1 X
6 726239 R 1 X
7 14G31209 125 1 X M20
8 11Mm7087 24 1 X
9 19M7169 by 10 X M10 X 35
10 03G44425 by 4 X M10X25
11 12M7013 R 10 X 10MM
12 14M7140 125 10 X M10
13 14G25102 125 4 X M10
60-8 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=100



60-9

(o A0 7

EER

PUC00290 -UN- g

PUC00290
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC11816 EEREL 1 X
2 119162 g AR X
3 09G04535 12 8 X M12X35
4 24G00012 i 8 X 12MM
5 14G25122 125 18 X M12
6 19M7744 by 10 X M12 X 35, M12X35
7 19M7169 by 8 X M10 X 35
8 12M7013 i 8 X 10MM
9 14M7140 125 8 X M10, M10
1076 BEA W EIHL PC4496 (30-JUL-08) 60-9

PN=101



60-10

(o A0 7

F3IRE

PUC00291 -UN- k

PUCO00291
1
0
7
e FHE FE #HE Vo2 7k 6 #it
1 AYC12159 FERE 1 X
2 AYC12162 BEREAN MR 1 X
3 AYC12158 R 1 X
4 19M7744 by 4 X M12 X 35
5 14M7031 [E3Es 4 X M12
6 12M7014 R 4 X 12MM
7 58M5573 SHIAR 1 X
60-10 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=102



60-11

(o A0 7

B

1076 BEA W EIHL PC4496 (30-JUL-08) 60-11
PN=103



60-12

(o A0 7

EUH R 35-R ) 2

PUCDO0292 -UN- ‘

PUCQ0282

60-12 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=104



60-13

[ Fnil zh
1
0
7
HE FE FltE #E  FHE 6 HE
1 AZ31230-1 VL A 1 X
2 AZ28467 N 4 X
3 YC10581 ® 10 X
4 YC10653 P 6 X
5 711196 =k 2 X
6 12M7069 P I 6 X 16MM
7 19M7495 24T 6 X M16 X 100
8 JD10087 ik 2 X
9 40G00080 i 4 X
10 YC10663 & 2 X
11 11G01714 Oy 2 X
12 45M6299 5 2 X
13 710698 g 2 X
14 YC10658 5 2 X
15 11H211 Oy 4 X
16 J16931 R 1 X
17 YC10665 5 2 X
18 14G01132 iR 2 X MI12X1.25
19 YC10602 2 2 X
20 711244 AT 2 X
21 AZ22761 N 2 X HE2-4, 22-24
22 YC10659 EBT 4 X
23 YC10654 et 4 X
24 14H774 YE 4 X
1076 BEA W EIHL PC4496 (30-JUL-08) 60-13

PN=105



60-14

(o A0 7

HFH 35 F 5 7

PUC00293 -UN- ‘

PUC00282

60-14 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=106



60-15

§E mAAH h
1
0
7
#HE FHE FlHE #E S 6 &
1 H11492 =ik 1 X
2 H11493 frTas 1 X
3 34H375 fel el e 1 X
4 AZ28508 REYE B 2 X
5 YC10611 B 2 X
6 YC10610 H BRI 2 X
7 YC10581 BR 4 X
8 737714 B 1 X
9 M834T P 2 X
10 M833T ERT 2 X
11 14H463 125 2 X
12 11G01620 F O 1 X
13 YC10615 24 1 X
14 T19037T AT 1 X
15 YC10604 125 2 X
16 14M7505 125 1 X M10
17 19M7668 by 3 X M10 X 100
18 12M7013 BRI 3 X 10MM
19 AM3098T1 #2208 B 1 X 4% 5-11
1076 BEA W EIHL PC4496 (30-JUL-08) 60-15

PN=107



60-16

(o A0 7

TRFEH

PUCO0294 -UN- ‘

PUC00284

60-16 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=108



60-17

E 0l h
1
0
7
#HE EHE FE #E V272 6 &1
1 AYC12768 W 1 X 4% 15, 16
2 AR26746 Bk 1 X
3 R21612R HSIRET 1 X
4 YC10664 Bl 2 X
5 12M7069 G 2 X 16MM
6 AZ27754 W 1 X
7 738526 JHIET 1 X
8 AZ27753 W 1 X
9 R27139 Bl 2 X
10 R26287 I divéan 4 X
11 738559 ET 1 X
12 738521 ik 3 X
13 YC10662 R 1 X
14 51M4467 SEiaE 1 X
15 YC16849 EEHRER 2 X
16 YC16855 & 2 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 60-17

PN=109



60-18

(o A0 7

60-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=110



70-A01

XXXXXXXXHXXXXKEXXKHXXXXHXXKKXX XXX XXKXX XXX XK XXX XXX =3I
1- 2
PUC00295 -UN- 3- 6
16- 26
17- 28
18- 30
20- 34
21- 35
PUC00295
1076 BEA W EIHL PC4496 (30-JUL-08) 70-A01

PN=111



70-A02

XXXXXXXXXX XK XXX XKXXXK XXX XK KXK XXX XKKXK XXX XK XXKXXXXX RS
4- 8
PUC00296 -UN- 5- 10
| 8- 13}
23- 37
24- 38
-4
27- 44
28- 45
PUC002%6
70-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=112



70-A03

XXXXXXXXHXXXXKEXXKHXXXXHXXKKXX XXX XXKXX XXX XK XXX XXX =3I
6- 11
PUC00297 -UN- 7- 12
9- 14
10- 16
11- 18
12- 20
15- 24
19- 32
22- 36
PUC00297
1076 BEA W EIHL PC4496 (30-JUL-08) 70-A03

PN=113



70-A04

XXXXXXXXXX XK XXX XKXXXK XXX XK KXK XXX XKKXK XXX XK XXKXXXXX RS
2- 4
PUCOD298 -UN- 13- 21
14- 22
25- 40
29- 46
30-__ 48
PUC00298
70-A04 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=114



70-1

BUE R

B

1076 BEA W EIHL PC4496 (30-JUL-08) 70-1
PN=115



70-2

BUE R

R

PUC00299 -UN- “

PUCQ0289

70-2 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=116



70-3

BERG
1
0
7
HE FE FltE #HE FAE 6 HE
1 AYC10773 VR A8 1 X
2 YC12077 WERE 1 X
3 AYC12918 wEE 1 X
4 AZ22878 AR 1 X
5 734046 B e 1 X
6 YC12798 0 72 4 1 X
7 AZ23076 A =40 1 X
8 AZ22892 HUEFFE 1 X
9 AYC10601 ik 1 X
10 YC12804 Lk 1 X
11 AZ21974 Effk 1 X
12 YC12805 ik 1 X
13 YC11596 RN 1 X
14 YC12609 R 1 X
15 YC13989 YT 1 X
16 19G00147 R AR X MB6X55
17 19G01125 g AR X M6X25
18 12G45006 P I AR X  6MM
19 21G08425 EEC 1) 1 X M4Xx12
20 S28896 Ex vt 1 X
21 19G08425 B 1 X M8X25
22 12G45008 P I 1 X  8MM
23 14G00082 iR 1 X M8
24 24G00008 g 1 X  8MM
25 AYC10700 TR S 1 X
26 19G01116 g 1 X M6X16
27 $28897 AN 1 X
28 YC12799 RE 1 X
29 AZ23828 x: 1od 1 X
30 YC12807 SrHEAT 1 X
31 735613 ERC 1 X
32 YC12806 g 1 X
33 YC12808 g 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-3

PN=117



70-4

BUE R

REER ChiE. ®. =H@RD

PUC00300 -UN- “

PUCQ0300

S

TE RS T

70-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=118



70-5

1

0

7
#HE FHE FlHE #E JFIE 6 &
1 AYC10700 W 1 X
2 YC12578 Bk 1 X
3 YC12243 Bl 1 X
4 YC12614 by 1 X
5 YC12615 Bk 1 X
6 YC12613 i 2 X
7 AYC11349 = 1 X
8 AYC11350 3155 1 X
9 AYC11346 W 1 X
10 AYC10777 W 1 X
11 AYC10779 Bk 1 X
12 AYC11347 W 1 X
13 AYC10774 W 1 X
14 YC16324 125 2 X
15 YC16854 +E 2 X
16 AS28884 i 1 X
17 AS28863 Pt 1 X
18 AYC10599 Bk 1 X
19 YC12580 i 2 X
20 YC12579 P 1 X
21 AYC12339 Bl 1 X
22 YC12609 W i 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-5

PN=119



70-6

BUE R

ZI=EHE

PUC00301 -UN- “

PUC00301

N
4

FIE RS E T
70-6 1076 HELE W EIHL PC4496 (30-JUL-08)
PN=120




70-7

1

0

7
HE FHE FE HNE Vo2 7k 6 #it
1 14G03189 [l 2 X 1
2 YC12617 TR 1 X 2
3 AZ22870 B AR X 3
4 AZ23842 i AR X 4

70-7

1076 BEA W EIHL PC4496 (30-JUL-08)

PN=121



70-8

BUE R

v

23

ErEaEf

PUC00302 -UN-
PUCO00302

70-8

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=122



70-9

1
0
7
#5  EHE FlHE #E A 6 &
1 S32977 B 1 X
2 S32996 by 6 X
3 S32978 by 1 X
4 S32979 Y] 1 X
5 AYC12227  #EH5e 1 X
6 S32980 45 1 X
7 AS32981 BrETHE 1 X
8 S$32982 PR A 1 X
9 S32983 PR AT HE 1 X
10 S32984 BERN 4 1 X
11 S32985 RS 1 X
12 S32986 G 6 X
13 S32987 PEED 1 X
14 S$32988 LI 1 X
15 S32989 ool 1 X
16 19G02320 by 4 X M8X20
17 S32990 R 1 X
18 S32045 MER 1 X
19 S20955 O HIE 1 X
20 12G45008 i 4 X 8MM
21 S32991 FEEE 7 X
22 S32992 O AP 3 X
23 S32993 ke 1 X
24 YC13006 O #E 1 X
25 S32994 L 1 X
26 S32995 LI 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-9

PN=123



70-10

)RR ML
PUCD0303 -UN- “
+—B
PUC00303
1
0
7
e FHE FHE HNE Vo2 7k 6 #it
1 AYC10581 AT 1 X
2 19G02340 by 4 X M10X40
3 12G45010 i 4 X 10MM
4 14G03189 125 1 X M8X1.5
5 AYC12228 e 1 X s
6 12G45012 R 2 X 12MM
7 19G22540 by 2 X M12X40
8 YC13005 O AU 4 X
70-10 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=124



70-11

BERG
&R FAHE (60MM)
PUC00304 -UN- ‘
PUC00304

1

0

7
#HE EHE WL HE JFRE 6 &
1 FLTE 2 X 4NME=60MM
2 XSS 2 X
3 O RIFE 2 X
4 L FEHE (Y ED 2 X
5 By 2 Pl 2 X
6 iz 2 X
7 AYC10808 R T 2 X A% 16
8 740104 iz 4 X
9 AYC12819 Fa 2 X
10 14G25102 B AR X M10
11 19G08530 B 2 X MI10X30
12 45G12256 FA 4 2 X
13 11G02236 T8 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

70-11
PN=125



70-12

AR [ 4% R R R AT
PUC00305 -UN- '
PUC00305
1
0
7
e FHE FlE #HE Vo2 7k 6 #it
1 40G00042 4 1 X
2 e 1 X
3 AR 1 X
4 L ik 1 X
5 1R 1 X
I eldss 2 X
7 4B 1 X
8 O AP 1 X
9 . e 1 X
10 ... O AP 1 X
11 O AP 1 X
122 B2 1 X
13 PiiEa) 1 X
14 By 1 X
15 EENT 1 X
16 O AP 1 X
AR90986 3Lk 1 X
70-12 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=126



70-13

HIERLG
e imE
PUC00306 -UN- k
PUC00306

1

0

7
HE FHE FHE #HE Vo2 7k 6 #it
1 AS32732 FLTE 1 X
2 $32878 W2 1 X
3 S32731 HE 2 X
4 S32729 P 1 X
5 $32730 I 1 X
6 $32362 O #pE 1 X
7 $32810 R 1 X
8 S32811 O AE 1 X
9 $32812 XS 1 X
10 AS32839 PiiEa) 1 X
11 S32840 & E 1 X
12 19G02346 B 2 X M10X50
13 YC17062 S ¥ 2 X
14 12G45012 g 2 X 12MM
15 14G00102 i 2 X M10
16 AYC12794 ERYHTY 2 X
17 14G29189 1R 2 X M18X1.5
18 11G02036 FO4 1 X
19 AYC10572 T 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

70-13
PN=127



70-14

BUE R

REER (TEERER

PUCDO307 -UN- l !

PUCO00307

S

TE RS T

70-14 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=128



70-15

1

0

7
HwE FHE FlE & o2z 6 #E
1 YC16678 O A 1 X
2 AYC12336 L 1 X
3 AYC12405 s 1 X
4 734637 TR 2 X
5 S32997 £ 2 X
6 YC16849 12 £ 2 X
7 AS40670 s 1 X 4% 5-6
8 729668 ST 1 X
9 19G08325 B2 AR X M6X25
10 734953 =2 1 X
11 19G02135 B2 1 X M6X35
12 12G45006 B hE AR X 6MM
13 14G00062 12 £ AR X M6
1076 BEA W EIHL PC4496 (30-JUL-08) 70-15

PN=129



70-16

BUE R

REER EARAM)

PUCO0308 -UN- | !

PUCQ0308

70-16 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=130



70-17

1

0

7
HwE FHE FlE #E o2z 6 #E
1 AS40676 e 1 X EH4-5
2 730667 ] FE AR 2 X
3 734951 BT 2 X
4 YC16569 12 £ 4 X
5 YC17350 RE 1 X
6 732962 B34k 1 X
7 AZ23970 e 1 X EH4-5
8 AYC10577 e BBk i 2 X
9 24G20014 P 2 X 14MM
10 12G45006 HaEhE 2 X 6MM
11 19G08335 B2 2 X M6X35
1076 BEA W EIHL PC4496 (30-JUL-08) 70-17

PN=131



70-18

BUE R

REER (Rl

PUC00309 -UN- k

PUC00309

N

TE RS T

70-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=132



70-19

1
0
7

HwE FHE FlE & o2z 6 #it

1 AYC12821 i 2 X

2 AS32383 WE 1 X

3 YC16848 12 £ 8 X

4 YC16853 & 8 X

5 734952 T 4 X

6 730667 ] FE AR 4 X

7 AYC10576 L 1 X

8 19G02147 B2 AR X

9 AS20141 L 2 X

10 YC16378 O AIpE 2 X

11 19G02130 B2 AR X

12 AZ25659 WE 1 X

13 730668 ST 6 X

14 722067 ST 3 X

15 734957 o 2 X

16 AZ25660 e 1 X

17 YC16852 BLik 1 X

18 19G02140 B2 AR X

19 AYC12690 s 1 X

20 19G08320 B2 AR X

21 734959 & SE AR 2 X

22 19G08335 B2 AR X

23 12G45006 B hE AR X

24 14G00062 12 £ AR X

1076 BEA W EIHL PC4496 (30-JUL-08) 70-19

PN=133



70-20

WEERE (R&)
PUCD0310 -UN- k
-
o
./.
\\\4
1
-
PUCO00310
1
0
7
P EHE T4 g FoE 6 i
1 AYC12420 TR RS 1 X LGTH=2300
2 AYC10942 gl ik 1 X AE3
3 YC16292 i 1 X
4 731799 A& 1 X
70-20 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=134



70-21

BUE R

RERE TR EHE B

PUC00311 -UN- w

PUC00311

1

0

7
HwE FHE FlE #E o2z 6 #E
1 AS40678 e 1 X 423
2 YC16324 12 £ 2 X
3 YC16854 £ 2 X
4 AYC12814 R 1 X
5 732683 U E e e 2 X
6 734861 BT 2 X
7 19G08325 B2 AR X M6X25
8 24G00008 P AR X 8MM
9 12G45008 B hE AR X 8MM
10 14G00062 12 £ AR X 6MM
1076 BEA W EIHL PC4496 (30-JUL-08) 70-21

PN=135



70-22

BUE R

REER (@D

PUC00312 -UN- '

PUCQ0312

N

TE RS T

70-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=136



1

0

7
HwE FHE FlE #E o2z 6 #E
1 AYC12814 R 4 X
2 YC16844 B34k 2 X
3 AYC10807 D) 1 X
4 AS30924 i 4 X &6
5 19G08325 B2 2 X M6X25
6 YC16324 12 £ 12 X
7 YC16854 RE 12 X
8 YC16294 B34k 4 X
9 YC16295 & 4 X
10 14G00062 12 £ 2 X M6
11 AZ23956 e 1 X EE6-7
12 AZ23957 e 1 X EH6-7
13 AYC10931 R 1 X
14 734955 T 6 X
15 730667 5] R 4 X
16 19G02135 B2 4 X M6X35
17 12G45006 B hE 6 X 6MM
18 AYC10774 R 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-23

PN=137



70-24

BUE R

HREEE CREER)

PUC00313 -UN- ‘

PUC00312

N

TE RS T

70-24 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=138



70-25

1

0

7
HwE FHE FlE #E o2z 6 #E
1 AS40672 i 1 X T8
2 AS40674 s 1 X 478
3 734953 ST 2 X
4 730667 8] BB AR 1 X
5 732683 [ 52 22 1 X
6 734956 [ 52 22 1 X
7 YC16849 12 £ 4 X
8 YC16855 & 4 X
9 AYC12863 i 2 X
10 19G02135 B2 1 X M6X35
11 11G45006 BB 2 X 6MM
12 14G00062 12 £ 2 X M6
13 19G08325 B2 1 X M6X25
14 24G00008 P 1 X 8MM
15 19G08522 B2 1 X M10X22
16 24G00010 P 2 X 10MM
17 12G45010 BB 1 X 10MM
18 14G00102 12 £ 1 X M10
19 AYC10573 L 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-25

PN=139



70-26

BUE R

WEEFR (G5-16-6)

PUC00314 -UN- “

PUC00314

70-26 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=140



70-27

1
0
7
HwE FHE FlE & Vo2 7k 6 #it
1 AYC10988 SR 1 X
2 S32755 BE 4 X
3 S32754 BE 1 X
4 24G00010 P 4 X 10MM
5 24G45010 o 4 X 10MM
6 S32753 b3 1 X
7 S32752 DU #li& 4 X
8 S32751 2] 2 X
9 S32750 Tk (2) 1 X
10 AS32749 T ER o] 1 X
11 S32748 O A 4 X
12 YC13208 M4 2 X
13 S32746 4B 2 X
14 S32745 & E 2 X
15 S32744 =51 1 X
16 S32743 = (D 1 X
17 AS32742 BRERAT 1 X
18 S32741 8]k 1 X
19 S32740 DU #li& 3 X
20 S32739 =1 2 X
21 S32738 iz 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-27

PN=141



70-28

BUE R

HERIRMEHHRERE

PUCDO315 -UN- “

PUCQ0315 4

70-28 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=142



70-29

1
0
7
HwE FHE FlE #E o2z 6 #E
1 YC12244 12 £ 1 X
2 24G00010 P 1 X
3 AZ32127 Easl 1 X
4 YC12009 )it 1 X
5 YC12010 o 1 X
6 742383 e 1 X
7 40G02025 $4 5 1 X
8 YC12604 P 6 X
9 YC12605 P 2 X
10 YC12618 P 1 X
11 734828 =L 1 X
12 12G45010 P 1 X
13 753355 tE 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-29

PN=143



70-30

BUE R

AT

PUC00318 -UN- ‘

13

PUCQ0316

N

TE RS T

70-30 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=144



1
0
7
#5  EHE FlE #E A 6 &
1 AS34631 o 1 X
2 YC16891 2] 1 X
3 21M7314 BRET AR X
4 14G00082 12 £ AR X M8
5 12G45008 BB AR X 8MM
6 34G00420 8 TR AT 1 X
7 733681 1+ 1 X
8 40G02016 E 1 X
9 YC16671 e 8 X
10 AS20288 FH 1 X
11 YC17112 FH 1 X
12 14M00122 12 £ AR X
13 729873 k=4 AR X
14 AYC10584 1B FT 1 X
15 AYC10583 1B FT 1 X
16 AYC12847 18 T 1 X
17 55G70030 RS AR X
18 12G45005 BB AR X 5MM
19 14G00052 12 £ AR X M5
20 56M5259 BR4Y B 6 X
21 42G65130 B2 AR X
22 AZ23723 s AR X
23 56M5258 e 2 X
24 AS20287 FH 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-31

PN=145



70-32

BUE R

BRI

PUC00317 -UN- ‘

PUCQ0317

N

TE RS T

70-32 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=146



1
0
7
HwE FHE FlE #E o2z 6 #E
1 YC16138 s 1 X
2 AZ23668 i 3 X 4813
3 14G14050 12 £ 1 X M5
4 YC16137 BRE 4 X
5 AYC10776 o 2 X
6 19G08420 B2 AR X M8X20
7 14G00082 12 £ AR X M8
8 12G45008 B hE AR X 8MM
9 741952 L 1 X
10 19G08316 B2 1 X M6X15
11 14G00062 12 £ 1 X M6
12 12G45006 B hE 8 X 6MM
13 734588 PE 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-33

PN=147



70-34

HRIE L E
PUC00318 -UN-
PUCO00318

1

0

7
e FHE FlE #E Vo2 7k 6 #it
1 14G00082 12 £ 2 X M8
2 731208 F/ 1 X
3 14G00102 125 1 X M10
4 AZ22673 AT 1 X
5 721613 [ f37 3 & 2 X
6 11G01720 F O 1 X
7 24G00012 R 1 X 12MM
8 AZ23852 ol 1 X
9 21G08516 BRET 2 X M8
10 12G45008 WBEIE 2 X  8MM
11 14G14050 12 £ 2 X M5
12 12G45005 B hE AR X 5MM
13 YC16136 BREY 1 X
14 YC16137 TR B 2 X
15 AZ23667 R 1 X
16 YC16139 W 2 X
70-34 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=148



70-35

BUE R

RERETRRENAFR
PUC00319 -UN-

PUC00319
1
0
7
HE FHE FltE HE ViZiaa 6 &t
1 14G00082 B8 2 X M8
2 731208 ES 1 X
3 14G00102 12 1 X M0
4 AZ22673 BYIT 1 X
5 721613 Bl 2 X
6 11G01720  FF A% 1 X
7 24G00012  #FE 1 X 12MM
8 AZ23852 5 1 X
9 21G08516  #g4T 2 X M8
10 12G45008  BELE 2 X 8MM
11 14G00052 124 AR X M5
12 12G45005 — BEHE AR X 5MM
13 YC16136 TRES 1 X
14 YC16137 RS 2 X
15 AZ27176 il 1 X
16 YC16139 B 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

70-35
PN=149



70-36

£
PUC00320 -UN- ‘
PUCO00320
1
0
7
HE FHE FltE HE ViZiaa 6 &t
1 AZ24189 EES 1 X
2 YC16914 o EINGN 1 X
3 AZ24018 W 1 X 84,5
4 YC16848 R 2 X
5 YC16853 £ 2 X
6 734005 g 1 X
7 AZ22845 =EEk 1 X
8 19G02235 HE A 3 X M8X25
9 12G45008 BEIE 3 X
10 24G00008 R 3 X
11 YC13010 I INE 1 X
70-36 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=150



70-37

BERG
BEERE
PUC00321 -UN- “
PUC00321

1

0

7
HE FE FlEE #HE FAE 6 HE
1 AYC12769  jhaT 1 X A%82-7,10-15
2 14G02169 2R 1 X  Mi16
3 S32971 A 1 X
4 S32963 e 1 X
5 S32973 B 1 X
6 40G05032 e 1 X
7 S32962 O AI[E 1 X
8 19G08530 B 2 X M10X30
9 12G45010 P8I0 E 2 X 10MM
10 S32946 0 AI[E 1 X
11 S32972 =k 1 X
12 YC12798 0 Ri[E 1 X
13 S32974 E3 1 X
14 S32975 3k 1 X
15 AS32967 Al A E Ak 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

70-37
PN=151



70-38

BUE R

BEBEHT

PUCO0322 -UN- ‘

10

PUC00D322

N

TE RS T

70-38 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=152



70-39

1
0
7
#5  EHE FlE #E A 6 &i
1 734769 & & 1 X
2 19G02455 B2 2 X M12X95
3 S20955 O AIpE 1 X
4 S$32948 s L 1 X
5 S31118 O A 1 X
6 S32958 B34k 1 X
7 10M7051 418 2 X
8 S32959 A% 1 X
9 YC13006 O AP 1 X
10 AS32950 Fh 3 1 X
11 S32960 =k 1 X
12 12G45012 B hE 2 X 12MM
13 14G00122 12 £ 2 X M12
14 14G14100 12 £ 1 X M10
15 19G01335 B2 1 X M10X35
16 YC18766 O A 1 X
17 S32961 ES 1 X
18 S32962 O A 1 X
19 S32963 By 1 X
20 S32964 FxE 1 X
21 S32965 B hE 1 X
22 S32942 Sa%kE 1 X
23 YC12798 O AlpE 1 X
24 D32965 X B 1 X
25 YC13007 O A 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-39

PN=153



70-40

BUE R

BasmE

PUCO00323 -UN- ‘

PUC00323

N

TE RS T

70-40 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=154



1

0

7
#5  EHE FlE #E A 6 &
1 AZ23960 e 1 X
2 14G00052 12 £ AR X M5
3 YC16844 BLik 1 X
4 YC16324 12 £ 4 X
5 YC16854 R EHERE 4 X
6 12G45005 B hE 1 X
7 AZ23958 e 1 X
8 733654 sl 1 X
9 728856 KT AR X
10 12G45008 HaEhE 1 X 8MM
11 14G03089 12 £ 1 X M8X1
12 14G21082 12 £ 1 X M8X1
13 741639 W 1 X
14 740671 B2 AR X M6X35
15 734959 & &R 2 X
16 730603 RiEfT AR X
17 730668 MEET AR X
18 19G02135 B2 AR X M6X35
19 14G00062 12 £ AR X M6
20 12G45006 B hE AR X 6MM
21 722067 ST AR X
22 19G02147 B2 AR X M6X55
23 730667 ] FE AR AR X
24 740871 s 1 X
25 19G02030 B2 AR X M5X30
26 24G00005 P AR X 5MM
27 734861 BT 2 X
28 19G02140 B2 AR X M6X40
1076 BEA W EIHL PC4496 (30-JUL-08) 70-41

PN=155



70-42

BUE R

M ZEE M ET

PUCD0324 -UN- w

8
PUCO0D324

N

THEREET
70-42 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=156




70-43

1
0
7
HwE FHE FlE #E o2z 6 #E
1 S32940 =k 1 X
2 S32941 e 2 X
3 S32942 Sa%E 2 X
4 S32943 Bk 3 X
5 S32944 e 2 X
6 S32362 O A 2 X
7 S32945 EXCETEES 2 X
8 S32946 O A 2 X
9 S32947 L 2 X
10 YC16679 O AE 2 X
11 YC17015 %] =2 JB 1 X
12 12G45012 P 2 X
13 S31118 O HIpE 2 X
14 S$32948 s L 1 X
15 YC13006 O A 1 X
16 S32949 E3] 1 X
17 AS20351 FFE 1 X
18 AS32950 Fh 3 1 X
19 S32951 O AIpE 2 X
20 S32952 By 2 X
21 S32953 FxE 2 X
22 14G00122 12 £ 2 X
23 S32954 ES 1 X
24 S32956 O AlpE 1 X
25 S32955 G 1 X
26 YC18766 O AE 1 X
27 19G08420 B2 4 X M8X20
28 19G08640 B2 1 X M12X40
29 19G04462 IR 1 X M12X123
30 19G01335 B2 2 X M10
31 14G14100 12 £ 2 X M10
32 14G00082 12 £ 4 X M8X35
33 12G45008 P 4 X 8MM
34 24G00008 P 4 X 8MM
35 40G06015 E 2 X
36 S32957 5l 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-43

PN=157



70-44

N ZE 3T
PUCD0325 -UN- “
12
PUC00325
1
0
7
e FHE FlE #E Vo2 7k 6 #it
1 AS32966 Wi F yh T 2 X AE6-11
2 AS32967 WAE AL 2 X
3 S32946 O A 2 X
4 19G08430 IR 4 X M8X30
5 S32968 IR 2 X
6 PRI 2 X
7 S32969 R 2 X
8 i 2 X
9 40G05010 4 E 2 X  NSEP
10 730218 HEFT 2 X
11 730219 B 2 X  NSEP
12 730222 EAIER 2 X
13 S32970 s % 2 X
70-44 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=158



70-45

BUE R

Bl ZE AR

PUCD0326 -UN- '
PUC003268

1

0

7
HE FHE FHE #HE Vo2 7k 6 #it
1 AZ28883 TR 1 X 4835
2 AZ28884 75 PR 1 X &#3,5
3 YC12694 HE 2 X
4 727188 T AR X
5 58M5573 HE 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

70-45
PN=159



70-46

BUE R

MZEHE

PUC00327 -UN- ‘

4
e
e e
A
P
s
-

PUCQ0327

%

THEREET
70-46 11076 B EE U EIN] PC4496 (30-JUL-08)
PN=160




70-47

1
0
7
HwE FHE FlE #E o2z 6 #E
1 AS20312 e 1 X
2 AS20311 s 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 70-47

PN=161



70-48

MERE
PUC00328 -UN- ‘
PUC00328
1
0
7
e FHE FlE #E o2z 6 #it
1 YC13987 %4 @10-016 4 X
2 740848 e 1 X
3 AS52325 FIZE Wb 1 X
4 AZ23755 125 1 X
5 728856 = 1 X
6 19G01118 by 1 X M6X18
7 24G00006 R 1 X 6MM
8 12G45006 o 1 X 6MM
9 14G14060 125 1 X M6
10 727991 F2E TR 1 X
11 14G14050 12 £ 1 X M5
12 12G45005 R 1 X 5MM
13 24G00005 R 1 X 5MM
14 730603 HwEET 1 X
15 19G00030 IR 1 X M5X30
ZEMERSE T
70-48 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=162



80-A01

E#R, ZFEFERAE

XXXXXXXXXKXXXXXK XX XXX EXX KX KKK XXX KX KKX XXX XK XXX X XXX =31

1- 2

PUC00329 -UN- 2- 4
3- 6

12- 24

17- 33

18- 34

13 i '-‘i-.
= r}:%’s:”# ey
PUC00329

1076 BUBLA W EINL PC4496 (30-JUL-08) 80-A01

PN=163



80-A02

10,.9,9,0,0.0.9.9,9,0,0.9.9,0,9,0,0.9,0,0,0,9,0.9,9,0,0.0.9,9,9,0,0.0.9,0,0,0.9.9,0,9,0.0.0.0,0,¢ RS

E#R, ZFEFERAE

)
10
12
14
16
26
36

PUC00330 -UN-

O] 0o ~l|S U1
I N EE]

PUC00330

80-A02 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=164



80-A03

E#R, ZFEFERAE

XXXXXXXXHXXXXKEXXKHXXXXHXXKKXX XXX XXKXX XXX XK XXX XXX =3I
9- 18
PUC00331 -UN- 10- 20
11- 22
14- 28
15- 30
16- 32
20- 38
PUC00331
1076 BEA W EIHL PC4496 (30-JUL-08) 80-A03

PN=165



80-A04

10,.9,9,0,0.0.9.9,9,0,0.9.9,0,9,0,0.9,0,0,0,9,0.9,9,0,0.0.9,9,9,0,0.0.9,0,0,0.9.9,0,9,0.0.0.0,0,¢

E#R, ZFEFERAE
EBEE=ESI
PUCDO332 -UN-

21- 40

\
1
X

S
Jl
,—7&
&
4{1
\

w

o
G

.

N -~
f
— ; -

I SRR eI T
\ *~

LY

1Y

Y

A

LY
\ R

N

.,
P

e

PUC00332

80-A04

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=166



80-1

E#R, ZFEFERAE

B

1076 BEA W EIHL PC4496 (30-JUL-08) 80-1
PN=167



80-2

E#R, ZFEFERAE

FIEZ:S

PUCDO0333 -UN- ‘

PUCQ03323

N

TE RS T

80-2 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=168



E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC11425 AR 1 X
2 YC14400 Rz 1 X
3 YC14318 ® 1 X
4 14G25122 2 AR X M12
5 19G08635 VoS AR X M12X35
6 19G02776 febes AR X M20X200
7 12G45020 WEHIE AR X 20MM
8 14G00202 =85 AR X M20
9 726239 g AR X
10 19G10840 Ve AR X M16X40
11 12G45016 WEIE AR X 16MM
12 14G00162 R AR X M16
13 19G04647 R AR X M16X55
14 YC16377 AL AR X
15 711076 [F FE i AR X
16 12G45012 R AR X 12MM
17 19G08535 WEIE 4 X M10X35
18 14G25102 febes 4 X M10
19 YC17327 2 2 X
20 19G08530 AR 4 X
21 YC16751 febes 1 X
22 YC15494 i 1 X
23 19G08520 Fm AR X M10X20
24 14G00082 febes AR X M8
25 12G45008 2 AR X 8MM
26 AYC11429 WEIE 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-3
PN=169



80-4

MR, ZEF0tRh

et

PUC00334 -UN- ‘

PUCQ0324

BEMERGER
80-4 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=170




E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC11836  ZAMEEEL 1
2 720713 EHR 1
3 720917 EHR 2
4 03G24320 R 11 M8X20
5 720367 T 11
6 YC12352 0 2 11
7 720913 & E 1
8 720912 P B 1
9 19G52116 B 2 M6X16
10 19G52120 R 2 M6X20
11 12G45006 g 2 6MM
12 14G14060 i 2 M6
13 19G02670 2R AR M16X170
14 19G08845 2 AR M16X45
15 YC14045 =5 1
16 YC14044 BT 1
17 YC14042 ¥ 1
18 YC16673 g AR
19 14G25162 EE 153 AR M16

1076 BEA W EIHL PC4496 (30-JUL-08)

80-5
PN=171



80-6

E#R, ZFEFERAE

HiMEE

PUC00335 -UN- “

PUCQD335

80-6 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=172



E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC11844  HMEEEL 1 X
2 720713 EHR 1 X
3 720917 EHR 2 X
4 03G24320 R 11 X M8X20
5 720367 T 11 X
6 YC12352 0 2 11 X
7 720913 & E 1 X
8 720912 P B 1 X
9 19G52116 B 2 X  M6X16
10 19G52120 R 2 X M6X20
11 12G45006 g 2 X  6MM
12 14G14060 i 2 X M6
13 19G02670 2R AR X M16X170
14 19G08845 2 AR X  M16X45
15 YC14045 =5 1 X
16 YC14044 BT 1 X
17 YC14043 B 1 X
18 YC16673 g AR X
19 14G25162 EE 153 AR X  M16
20 YC16734 TR 1 X
21 19G08535 B 1 X  M10X35
22 14G00122 W2} 2 X  Mi12
23 12G45010 A 1 X  10MM
24 14G00102 W2 1 X  M10

1076 BEA W EIHL PC4496 (30-JUL-08)

80-7
PN=173



80-8

E#R, ZFEFERAE

EMIAE

PUC00338 -UN- ‘

PUCQO03236

N

TE RS T

80-8 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=174



80-9

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC12484 AP ETFj5E 1 X
2 19M7163 2 AR X  M8X25
3 YC17449 ke 1 X
4 14M7307 W2} AR X M8
5 740640 BB 1 X
6 19M7376 B AR X  M8X22
7 24M7207 g AR X  8MM
8 12M7008 g AR X  8MM
9 14M7029 i AR X M8
10 740801 2 BT T AR 1 X
11 741025 FLEAT 1 X
12 AYC12469  ZIPZM#HK 1 X
13 741162 1B A R 1 X
14 24M7053 g AR X  6MM
15 AYC12865 o g 1 X
16 AZ30196 P ERIMIR 1 X
17 12M7116 g AR X  6MM
18 14M7027 i AR X M6
19 19G52112 R AR X M6X12
20 AYC12853  {EE4PiRIE S 1 X
21 21M1238 j=Xa) AR X  M6X18
22 YC19427 E3 1 X
23 YC17115 S B 1 X
24 YC17113 S5 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-9
PN=175



80-10

E#R, ZFEFERAE

EMIAE

PUC00337 -UN- ‘

PUCQ0337

N

TE RS T

80-10 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=176



80-11

E#R, ZFEFERAE

1
0
7
HE FE FlEE #HE FAE 6 HE
1 YC19045 EX 1 X
2 AZ30117 MRS 1 X
3 14G14060 2R AR X M6
4 12M7116 g AR X  6MM
5 24M7054 g AR X  6MM
6 21M7094 WR4T AR X  M6X16
7 19G52116 R AR X M6X16
8 AYC12454  PEBRFEL 1 X
9 AZ23679 FETAEE 1 X
10 AYC12832  AMiPEX s 1 X
11 YC12352 i 7 g2 1 3 X
12 24M7055 g AR X  8MM
13 AYC12833  AMHPEHMK 1 X
14 12M7008 g AR X  8MM
15 14M7029 2R AR X M8
16 YC17123 EX A 1 X
17 19M7284 B AR X  M8X18
18 21M7030 WR4T AR X  M8X20
19 AYC12483 AP Ej5 LB 1 X
20 03M7093 B AR X  M8X25
21 R20759 e 1 X
22 720443 TE IR EE 2 X M6
23 37G33619 £ HuEAT 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-11
PN=177



80-12

E#R, ZFEFERAE

MR R

PUC00338 -UN- ‘

PUC00328

N

TE RS T

80-12 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=178



80-13

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 19M7139 W2 AR X  M8X20
2 14M7029 W2 AR X M8
3 12M7008 g AR X
4 24M7055 g AR X  8MM
5 YC17111 FHEHT 1 X
6 19M8763 B AR X  M10X28
7 21G08620 BRET AR X M10X20
8 AZ30064 & &M 1 X
9 19M7167 B AR X  M10X25
10 AZ30066 EVIRAE 1 X
11 14M7140 W2 AR X  M10
12 12M7013 g AR X  10MM
13 24M7028 g AR X 10MM
14 YC17432 FHR 1 X
15 14G25102 W2 AR X  M10
16 19M7156 2R AR X M10X 60
17 AYC12834  #E LT 1 X
18 YC17099 EEITTEMN 1 X
19 740466 ¥ 1 X
20 19M7328 2 AR X  M10X70
21 19M7168 B AR X  M10X 30
22 19M7376 R AR X  M8X22
23 740640 W 1 X
24 14G25082 i AR X M8
25 19M7163 R AR X  M8X25
26 741158 ZEM AT E S 1 X
27 YC14533 ¥ B 1 X
28 740970 Tk Ji5 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-13
PN=179



80-14

E#R, ZFEFERAE

MR R

PUCD0339 -UN- ‘

PUCO0D339

N

TE RS T

80-14 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=180



80-15

E#R, ZFEFERAE

1
0
7
HE FHE g #HE Vo2 7k 6 #it
1 14M7029 2 AR X M8
2 12M7008 g AR X 8MM
3 24M7055 g AR X 8MM
4 741024 AN 1 X
5 AYC12480 AR By 1 X
6 19M7163 febes AR X M8 X 25
7 19M7284 Ve AR X M8 X 18
8 21M6667 BRAT AR X M8 X 18
9 AYC12482 T E 1 X
10 19M7139 Ve AR X M8 X 20
11 740679 Fm 1 X
12 19M7376 febes AR X M8 X 22
13 19M7288 R AR X M8 X 30
14 744722 T 1 X
15 AYC12481 AR By 1 X
16 03M7191 R AR X M10X25
17 12M7013 g AR X 10MM
18 14M7140 R AR X M10
19 737590 ] 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-15
PN=181



80-16

E#R, ZFEFERAE

HMIAE

PUCO0340 -UN- w

PUCQ0340

N

TE RS T

80-16 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=182



80-17

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AZ29942 - R AE 1 X
2 14G14060 W2 AR X M6
3 12M7116 g AR X  6MM
4 AZ29936 FE AR 1 X
5 14M7029 W2 AR X M8
6 12M7008 g 8 AR X  8MM
7 21M6667 BRET AR X  M8X18
8 740395 BROTa/EE 1 X
9 21M7094 j=Xa) AR X  M6X16
10 24M7054 g AR X  6MM
11 19M7284 2 AR X  M8X18
12 19G52116 B AR X  M6X16
13 24M7055 g AR X  8MM
14 AYC12487  HEEL 1 X
15 19M7139 2 AR X  M8X20
16 19M7327 2R 2 X M10X 65
17 24M7028 g AR X  10MM
18 740572 HEITEXM 1 X
19 14G25102 W2} AR X  M10
20 19M7329 2 1 X  M10X75
21 21M1237 j=Xa) AR X M6 X12
22 YC11773 PR 1 X
23 AYC12475  HiPHEL 1 X
24 AYC12460  HMERES 1 X
25 740640 RS 2 X
26 14M7307 W2 AR X M8
27 19M7139 B AR X  M8X20
28 YC12330 M ER T 2 X
29 YC17103 EEITFXMF 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-17
PN=183



80-18

E#R, ZFEFERAE

AMTER A E

PUC00341 -UN- w

PUCQ0341

%

THEREET
80-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=184




80-19

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC11895  AHE[TES 1 X
2 YC15979 & T 1 X
3 AYC12898 RS 1 X
4 19G52116 R 2 X M6X16
5 24M7054 g 4 X  6MM
6 14G14060 i 2 X M6
7 12M7116 g 2 X  6MM
8 YC16917 BIR 1 X
9 AYC12394 FF [ 25 B e 1 X
10 725462 fok-3 1 X
11 734398 W 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-19
PN=185



80-20

E#R, ZFEFERAE

AMTER A E

PUC00342 -UN- w

PUC00342

%

THEREET
80-20 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=186




80-21

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AS44177 HiEMERES 1 X (A
2 YC15979 & T 1 X
3 AYC12898 RS 1 X
4 19G52116 R 2 X M6X16
5 24M7054 g 4 X  6MM
6 14G14060 i 2 X M6
7 12M7116 g 2 X  6MM
8 YC16917 BIR 1 X
9 AYC12394 FF [ 25 B e 1 X
10 725462 fok-3 1 X
11 734398 W 1 X

(A) B AR A I

1076 BEA W EIHL PC4496 (30-JUL-08)

80-21
PN=187



80-22

E#R, ZFEFERAE

RBE

PUC00343 -UN- *

PUC00343

N

TE RS T

80-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=188



E#R, ZFEFERAE

1
0
7
#HE FHE FlE #E S 6 &
1 740200 B 1 X
2 AYC11196 BELERE 1 X
3 733604 Fx 2 X
4 AYC12027 REERE 1 X
5 AYC13381 B LR 1 X
6 19M7139 B2 AR X M8 X 20
7 24M7055 o AR X 8MM
8 12M7008 0 AR X 8MM
9 14M7029 12 £ AR X M8
10 19M7298 B 2 X  M8X35
11 14M7027 12 £ AR X M6
12 12M7069 o AR X 6MM
13 24M7054 o AR X 6MM
14 19M7077 B2 AR X M6 X 20
1076 BEA W EIHL PC4496 (30-JUL-08) 80-23

PN=189



80-24

E#R, ZFEFERAE

e

PUC00344 -UN- ‘

PUCQ0344

%

THEREET
80-24 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=190




E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC12431  %& FUEEESG 1 X
2 AYC12432  HT{UEEESG 1 X
3 AYC12392 J& T AR 1 X
4 24M7139 g AR X  6MM
5 21M7280 BRET AR X M6 X20
6 12M7116 g AR X  6MM
7 14M7027 W2} AR X M6
8 19G02340 2 AR X M10X40
9 24M7028 g AR X
10 14G25102 W2} AR X  M10
11 19M7139 2 AR X  M8X20
12 24M7055 g AR X  8MM
13 12M7008 g AR X
14 14M7029 W2 AR X M8
15 24M7054 g AR X  6MM
16 YC17343 E3 AR X
17 YC16908 PR 1 X
18 YC16907 PR 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-25
PN=191



80-26

E#R, ZFEFERAE

RMER

PUCOD345 -UN- ‘

PUDOD345

N

TE RS T

80-26 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=192



80-27

E#R, ZFEFERAE

1
0
7
HE FE FlEE #HE FAE 6 HE
1 AZ23252 FERE 1 X
2 AZ23251 FERE 1 X
3 AYC12451  HlLikj5ZHHK 1 X
7 740237 ERAR 1 X
5 YC16929 ¥ 1 X
6 YC16930 ¥ 1 X
7 AYC12394 FF (A 25 20 1 X
8 YC16917 BRI 1 X
9 21M7094 WR4T AR X  M6X16
10 21M7280 WR4T 1 X M6 X20
11 21M7030 WR4T AR X  M8X20
12 19G52116 B AR X  M6X16
13 19G01220 R 1 X M8X20
14 19M7288 B 1 X  M8X30
15 19M7744 B 1 X  M12X35
16 24M7054 g AR X  6MM
17 24M7055 g AR X  8MM
18 12M7116 g AR X
19 12M7008 g AR X  8MM
20 14G14060 2R AR X M6
21 14M7029 2R AR X M8
22 14G25122 W2 RE 1 X  Mi12

1076 BEA W EIHL PC4496 (30-JUL-08)

80-27
PN=193



80-28

E#R, ZFEFERAE

RRFTE

PUC00346 -UN- ‘

PUC00346

80-28 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=194



80-29

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 YC17367 JE Uk BB 2 X
2 YC17365 JE Uk & -- 0 SRR 2 X
3 737917 J& i & AT 1 X
2 YCI7369  EHGE @R 1 X
5 AYC12478 R EIRE 1 X
6 735138 J& i £ S g e 1 X
7 YC16965 JEE & B 1 X
8 AYC10489  EHFESE 1 X
9 AYC12438  SH#ES 1 X
10 19M7163 R AR X  M8X25
11 24M7055 g AR X  8MM
12 12M7008 g AR X  8MM
13 14M7029 s AR X M8
14 14M7140 W2 AR X  M10
15 19G52118 2 AR X  M6X18
16 24M7054 g AR X  6MM
17 12M7116 g AR X  6MM
18 14G14060 i AR X M6
19 21M6689 WR4T AR X  M8X16
20 AYC12491 SRS 2 X
21 734522 JE vk & R 1 X
22 738441 JEE & B 1 X
23 21M1237 WR4T AR X M6 X12
24 19M7288 B AR X  M8X30
25 739304 Bk G BT 1 X
26 19M7168 2 AR X  M10X 30
27 24M7028 g AR X  10MM
28 12M7013 g AR X  10MM

1076 BEA W EIHL PC4496 (30-JUL-08)

80-29
PN=195



80-30

E#R, ZFEFERAE

A

PUC00347 -UN- '

PUCQ0347

N

THEREET
80-30 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=196




E#R, ZFEFERAE

1
0
7
HE FE FlEE #HE FAE 6 HE
1 AYC12486 R EHRF 1 X
2 YC13199 J& Uk B 1 X
3 734591 Kb EE T 2 X
2 AYC12407  S¥E & MR 1 X
5 734537 JEEE BB 2 X
6 AYC12403 JEuEEHF 1 X
7 19M7139 R 2 X M8X20
8 24M7055 g AR X  8MM
9 12M7008 g AR X  8MM
10 14M7029 W2 RE AR X M8
11 19M7284 B AR X  M8X18
12 19M7295 B AR X  M8X45
13 03M7074 R AR X M8X65
14 21G08525 W4T 3 X M8X25
15 19M7163 B AR X  M8X25
16 21M1237 BRAT 2 X M6 X12
17 24M7053 g 2 X  6MM
18 12M7116 g AR X  6MM
19 14M7029 W2 RE AR X M8
20 AYC10995 J& Uk B 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 80-31

PN=197



80-32

E#R, ZFEFERAE

TE#E
PUCD0348 -UN- w
PUC00348
1
0
7
e FHE FlE #HE Vo2 7k 6 #it
1 14G00082 12 £ 3 X M8
2 12G45008 BEIE 3 X  8MM
3 24G00008 R 3 X 8MM
4 734718 40 1 X
5 AYC12691 T A% 1 X 711
6 21G08520 BRET 3 X M8X20
7 AYC12589 EH 1 X
8 14G00062 12 £ 2 X M6
9 12G45006 BEIE 2 X  6MM
10 24G00006 R 2 X 6MM
11 21G08412 BR4T 2 X M6X12
80-32 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=198



80-33

E#R, ZFEFERAE

ErithE
PUC00349 -UN- k
PUC00349
1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC12173  EmjyE 1 X
2 YC17460 AR 1 X
3 740964 MR 1 X
4 YC12642 B 1 X
5 19M7139 VoS AR X M8 X 20
6 14M7029 =85 AR X M8
7 24M7055 g AR X
8 12M7008 g AR X
9 19M7284 febes AR X M8 X 18
10 YC16214 R 1 X
11 YC16215 EoR s 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-33
PN=199



80-34

E#R, ZFEFERAE

HEREM, KEHLRR

PUC00350 -UN- ‘

PUCQ0350

%

THEREET
80-34 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=200




80-35

E#R, ZFEFERAE

1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC12652 EWR 1 X
2 YC17354 ® 1 X
3 AYC12680 EWR 1 X
4 AZ23172 EWR 1 X
5 733315 IESER 1 X
6 733316 HELER 1 X
7 19G08420 Ve AR X M8X20
8 19G08525 VoS AR X M10X25
9 19G08425 febes AR X M8X25
10 14G00082 2 AR X M8
11 12G45008 g AR X
12 19G52118 febes AR X
13 14G00062 R AR X M6
14 12G45006 g AR X 6MM
15 24G00006 g AR X
16 24G00008 g AR X 8MM
17 19G52112 VoS AR X M6X12
18 19G08520 febes AR X M10X20
19 14G00102 2 AR X M10
20 12G45010 g AR X 10MM
21 19G08416 febes AR X M8X16
22 19G08420 Ve AR X M8X20
23 YC16753 B 1 X
24 YC16752 £ 1 X
25 19G08430 Ve 6 X M8X30

1076 BEA W EIHL PC4496 (30-JUL-08)

80-35
PN=201



80-36

E#R, ZFEFERAE

IRk

PUCD0351 -UN-

[ A warnne |
HOT FLUID CAUSE SERIOUS BURN.
SHUT DOWN ENGINE WHEN SERVICING
1 COOLING PACKAGE. LOOSE RELIEF
VALVE SLOWLY AND REMOVE ONLY
AFTER RADIATOR COOLED ENOUGH
TO HANDLE.

[ A wamima
1. SHUT CFF ENGINE BEFRE FILLING
3 FUEL TANK,
7. BEWARE SAFETY KEEP AWAY FROMW
FIRE
3. NEVER FILL FUEL TANK Ik FIELD.

-

I

I IMPORTANT

IMPORTANT THE SCREW 1S A SAFETY
MECHAMIEM WHEN OWVERLDADED. ONLY
DRIGINAL TYPE OF BCREW CAN BE
INSTALLED. THE TORQLUE OF THE
SCREW IS 18KGM

| A\pancer |

AVCID SERIQOUS INJURY. DIS-
ENGAGE POWER WHEN CLEAN 2

CLOGGED MATERIAL.

\

's

[ UPORTAN ]
DISCONNECT BATTERY \

WHILE SERVICING

4

CHECHK ENGINE OIL LEVEL AND
DRAIN WATER IN THE WATER
TRAP BEFORE STARTING

PUC00351

N

80-36

TE RS T

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=202



80-37

E#R, ZFEFERAE

1
0
7

HE FHE FltE HE ViZiaa 6 &t

1 YC18680 =F] 1 X

2 YC18683 ki 2 X

3 YC18681 ki 1 X

4 YC18678 P=E] 1 X

5 YC18679 ki 1 X

6 $22739Y ki 1 X

7 760327 P=E] 1 X

8 760326 ki 5 X

9 760329 ki 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-37
PN=203



80-38

E#R, ZFEFERAE

HRig
PUCO00352 -UN-
/.
TURBOCHARGED ENGINE
ACTAUTE STARTER FOR ATLEAST SSECONDS
é CAUTION WITH HAND THROTTLE IN STOP OR LOW IDLE
POSITION BEFORE STARTING IDLE ENGINE
RELEASE BRAKE BEFO- FOR SMINUTES BEFORE SHUTTING OFF
RE ENGAGING GEARS
OR MOVING MACHINE 8
/
N
ACAUTION Py /A CAUTION
1. Keep =l sheiids in place I -“
[ gt { g ’ b\ Avoid serious injury, S-
i 'ﬂ { *—-} [II hut off machine to se-
P Hecp el fort o Chal- i\ '_-‘ rvice or clean.
iven pars. v v YHC3198
L __]
9 10 11
/ ,-'
/. / /
AWARNING AWARNING
i, =
N
Avoid motor vehikcle collision
and sarious injury or dexth.
Avoid serious injury Alxays swing ladder to
from falling. Do not forward locked i
ride |wdej \Vhll@ before driving combine on
combine is moving. mehuny
[=Ee] L [, —
PUC00352
R B T
80-38 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=204



80-39

E#R, ZFEFERAE

1
0
7

HE FHE FHE #HE Vo2 7k 6 #it

1 YC16252 H MR 1 X

2 YC16253 EMERIE 1 X

3 YC10174 1076 #7512 1 X

4 S42960Y [ 1 X

5 734229Y ¥Rio 1 X

6 E82510 ¥Rio 1 X

7 YC10193 FEIRID 1 X

8 YC10486 ¥Rio 1 X

9 H149064 ¥Rio 1 X

10 H170654 [ 1 X

11 164995 ¥Rio 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-39
PN=205



80-40
E#R, ZFEFERAE
o

PUC00353 -UN-

3

[HER IR

4
/

/
—
KEEP WHEEL BOLTS
RPM
TIGHT 420 N-M
~

. A
-— o ™ s
15
/\\\/14
f\ O?)
L
17 )
- / G 18
/ /\\‘\' L BRAKE OIL RESERVOIR 7
fmm N - ()
% AN / MUST BE FILLED %
ZN = .

PUCD0353

N

TE RS T

80-40 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=206



80-41

E#R, ZFEFERAE

1
0
7
HE FHE FltE HE ViZiaa 6 &t
1 741136 i 1 X
2 YC10675 g 1 X
3 722158 g 1 X
4 Z34656Y i 1 X
5 741135 g 1 X
6 732500 g 1 X
7 732501 i 1 X
8 734722 g 1 X
9 741207 g 1 X
10 744392 i 1 X
11 744393 g 1 X
12 YC17462 g 1 X
13 741210 r) 1 X
14 YC15337 g 1 X
15 741211 g 1 X
16 H151671 r) 1 X
17 739053 g 1 X
18 YC16997 g 1 X
19 S41027Y i 1 X
20 S41028Y g 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

80-41
PN=207



80-42

E#R, ZFEFERAE

80-42 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=208



90-A01

3

=

BB

10:.9,:9,0,0.0.9.9,0.0,0.9.9,0,9,0.0.9,0,0,0.9,0.9,9,0,0.0.9,9,.9,0,.0.0.9,9,0,0.9.9,0,0,0.0.0.0,.0,¢

1-

2.

14
16
22
52

7-
8-
11-
28-

UN-

PUC00354

TN
N

SR

PUC00354

90-A01

PN

1076 BEA W EIHL PC4496 (30-JUL-08)

209



90-A02

s

XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX RS
3- 6
3UC00355 -UN- 4- 8
5- 10
6- 12
14- 28
15- 30
16- 32
18- 36
21- 42
23- 45
25- 47

‘o -~ e '4’4'/,;;‘/: .

s P
el ’,(///////’”-’/(4/
PUC00355

90-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=210



90-A03

s
XXXXXXXXHXXXXKEXXKHXXXXHXXKKXX XXX XXKXX XXX XK XXX XXX =3I
13- 26
PUC00356 -UN- 17- 34
19- 38
20- 40
22- 44
27- 50
29- 54
PUC003556
1076 BEA W EIHL PC4496 (30-JUL-08) 90-A03

PN=211



90-A04

fo
Bi=
XOOOXHHKIHIXXKXIKHIIKH XXX IXHKXIXHXXXXXXK PCEET
9- 18
PUC00357 -UN- 9- 20
12- 24
D446

PUC00357

1076 HEE W EIHL PC4496 (30-JUL-08)

90-A04
PN=212



90-1

B

1076 BEA W EIHL PC4496 (30-JUL-08) 90-1
PN=213



90-2

Bia

PUC00358 -UN-
PUC00358

90-2

%

TE RS T

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=214



s
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AYC12455 S 1 X
2 733639 AR 1 X
3 740535 HFEXLE 1 X
4 19M7168 B2 AR X M10 X 30
5 21M7325 BRET AR X M5 X 30
6 24M7054 o AR X 6.400 X 12 X 1.600 MM
7 12M7116 oS E] AR X 6.400 X 12 X 0.500 MM
8 14M7027 12 £ AR X M6
9 S50711 PR 1 X (A
YC15536 PR 1 X
10 19M7560 B2 AR X M6 X 16
11 733697 o 1 X
12 AYC12153 E 2 X
13 14M7140 12 £ AR X M10, M10
14 12M7013 BB AR X 10.200 MM
15 12M7014 o AR X 12 MM
16 721841 AR 2 X
17 14M7031 12 £ 4 X M12, M12
18 12M7014 oS E] 4 X 12 MM
19 19Mm7387 B2 4 X M12 X 40
20 YC17286 Fp 1 X
A FEREBRE
1076 BEA W EIHL PC4496 (30-JUL-08) 90-3

PN=215



90-4

s
EHagEHt
PUC00359 -UN- ‘
4
PUC00359

1

0

7
e FHE FlE #E o2z 6 #E
1 37M7009 BRET 2 X
2 720443 =T 2 X
3 733702 oz 2 X
4 734505 3 2 X
5 AYC12391  F# 2 X
6 YC16843 % T3 2 X
7 19M7166 by 4 X M10 X 20
8 12M7013 BEIE 4 X 10.200 MM
9 14M7140 125 4 X M10, M10
90-4 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=216



90-5

B

1076 BEA W EIHL PC4496 (30-JUL-08) 90-5
PN=217



90-6

BRaes

PUC00360 -UN-
PUC00360

90-6

%

TE RS T

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=218



90-7

s
1
0
7
E FHE FlE #E o2z 6 #E
1 14M7029 12 £ AR X M8
2 12M7008 B hE AR X 8 MM
3 24M7055 o AR X 8.400 X 16 X 1.600 MM
4 19M7139 B2 2 X M8 X 20
5 19M7269 B2 AR X M8 X 50
6 AS50393 P E B 1 X (A
7 740535 o 1 X
8 AYC11309 =2 s 1 X
AS52222 =t 1 X (A
9 AYC10488 REHT 1 X
10 21M7087 BRET AR X M6 X 12
11 12M7116 BB AR X 6.400 X 12 X 0.500 MM
12 14M7027 12 £ AR X M6
(A) PHIEEZG =
1076 BEA W EIHL PC4496 (30-JUL-08) 90-7

PN=219



90-8

ERasT

PUC00361 -UN-
PUCO00361

90-8

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=220



90-9

s
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AZ30088 BB HR 1 X
2 21M7325 B2 AR X M5 X 30
3 AYC11468 KRS 1 X
4 14M7140 12 £ AR X M10, M10
5 12M7013 BB AR X 10.200 MM
6 24M7028 P AR X 10.500 X 20 X 2 MM
7 19M7167 B2 AR X M10 X 25
8 AYC10867 BT 1 X
9 AYC12473 f=yae 1 X
10 740843 itE 2 X
11 19M7184 B2 2 X M8 X 55
12 24M7028 P 4 X 10.500 X 20 X 2 MM
13 YC10552 S 1 X
14 21M7030 BRET AR X M8 X 20
15 24M7055 o AR X 8.400 X 16 X 1.600 MM
16 14M7307 12 £ AR X M8, M8
17 21M7087 BRET AR X M6 X 12
18 12M7116 BB AR X 6.400 X 12 X 0.500 MM
19 14M7027 12 £ AR X M6, M6
20 740847 o 1 X
21 14M7169 12 £ 2 X M14, M14
22 YC17119 o 1 X
23 19M5827 B2 2 X M14 X 30
1076 BEA W EIHL PC4496 (30-JUL-08) 90-9

PN=221



90-10

#ZER

PUCO0382 -UN- ‘

PUCQ0362

90-10 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=222



90-11

s
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AS44399 FEX 2 X
2 19M7301 B2 2 X M8 X 40
3 AYC10592 Fas 1 X
4 YC12201 o 1 X
5 14M7307 12 £ 2 X M8, M8
6 YC16621 ST 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-11

PN=223



90-12

FHEE

PUC00383 -UN- ‘

19 12
20 % )
22

PUCQD363

%

THEREET
90-12 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=224




90-13

s
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AZ31228 =1 1 X
2 AS20284 Vag ks 1 X
3 YC12175 =N 1 X
4 AYC12275 e 1 X D]
5 YC16634 # 1 X B
6 37M7011 BRET AR X
7 734506 LR 1 X
8 711279 B 1 X
9 AZ18424 o 1 X
10 24M7085 P 1 X 15 X 28 X 2.500 MM
11 11M7020 IO 1 X
12 24M7055 P 2 X 8.400 X 16 X 1.600 MM
13 11M7011 FF O 2 X
14 739401 & 1 X
15 AYC10582 o 1 X
16 12M7013 HaEhE 2 X 10.200 MM
17 19M7167 B2 2 X M10 X 25
18 739402 ]’ 1 X
19 12M7008 HaEhE 4 X  8MM
20 19M7139 B2 3 X M8 X 20
21 19M7184 B2 2 X M8 X 55
22 14M7029 12 £ 3 X M8
23 14M3246 12 £ 1 X M12, M12
24 YC12176 HE 1 X
25 YC14568 8] & 2 X
26 14M7140 12 £ 2 X M10, M10
27 19M7163 B2 1 X M8 X 25
28 732649 & & 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-13

PN=225



90-14

BRE

B

_UN-

PUCO0384

PUCQ0364

1076 HEE W EIHL PC4496 (30-JUL-08)

90-14

PN=226



90-15

s
1
0
7
#5  EHE FlE #E A 6 &i
1 AS43362 T 1 X
2 AYC11866 JEFE 1 X
3 AYC11865 BRI 1 X
4 YC11763 % 1 X
5 19M7163 B2 8 X M8 X 25
6 12M7008 B hE 8 X  8MM
7 14M7029 12 £ 8 X M8
8 24M705 hg 8 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-15

PN=227



90-16

URERGMEIITE

PUCD0365 SUN-

PUC00385

90-16 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=228



=
1
0
7
e EHE FlE HE V272 6 &1
1 YC16165 =R 1 X
2 37M7115 BR4T 2 X
3 AYC12152 EWREE 1 X
4 YC12644 hE=: 1 X
5 14M7027 1R & 4 X M6
6 12M7116 BB 4 X
7 14M7027 HE A AR X M6
8 YC17142 AR 1 X
9 740760 # 1 X
10 YC17450 PpE 1 X
11 AYC12464 PpE 1 X
12 AYC12289 4= 1 X
AS28078 2 1 X (A
13 19M7159 BR4T AR X M6 X 15
14 19M1914 BR4T 5 X
15 37M7115 W4T AR X
16 AYC12890  # 1 X
17 YC12865 1 AT 1 X
18 AYC12889  fi/E¢ 1 X
19 AZ30192 B 1 X
20 12M7116 o 4 X
21 19M1914 HE A 4 X
22 14M7027 1R & AR X M6
23 37M7115 BR4T 10 X
24 AZ30424 PEEL 1 X
25 YC16954 T AR X
26 AYC12838  #4R 1 X
27 19M7162 HE A AR X M8 X 16
28 24M705 o AR X
29 12M7008 B EHE AR X
30 19M8059 2 AR X M6 X 12
31 12M7116 BB AR X
(A FHBEER=E
1076 BUBLA W EINL PC4496 (30-JUL-08) 90-17

PN=229



90-18

AT

PUCO0386 -UN- ‘

PUCQ0366

N

THEREET
90-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=230




90-19

s
1
0
7
#5  EHE FlE #E  FHE 6 &i
1 AYC11525 FH 1 X
2 14G01124 12 £ 1 X
3 744372 1B FT 1 X
4 744373 s 1 X
5 22M7081 B EARAT 1 X
6 744374 EE 1 X
7 YC10336 Bk 1 X
8 YC16693 TP 1 X
9 34M7049 8 TR AT 1 X
10 711533 TE 1 X
11 YC12872 HhE 1 X
12 YC16614 Hhs 1 X
13 727188 TR 4 X
14 40M1825 418 2 X
15 19M7162 B2 1 X M8 X 16
16 12M7008 HEhE 1 X
17 24M705 o 1 X
18 24M7024 o 1 X
19 19M7073 B2 1 X M12 X 50
20 12M7014 BB 1 X
21 14M7031 12 £ 1 X M12
22 03M7075 RS 4 X
23 YC16822 i AR 4 X
24 YC12864 K 1 X
25 12M7116 oS E] 4 X
26 14M1914 12 £ 4 X
27 AYC12888  ZFifaRfT 1 X
28 YC10160 itE 1 X
29 AYC12291 BT 1 X
30 YC12863 K 1 X
31 14M7307 12 £ 2 X M8
32 AZ19889 BR4Y B 2 X
33 14M7029 12 £ 4 X M8
34 19M7095 B2 4 X
35 AZ34570 A5 R G 2 X
36 AZ34644 1R 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-19

PN=231



90-20

MRS R ZERAT

PUCDO367 -UN- ‘

PUC00367

N

TE RS T

90-20 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=232



90-21

s
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC12489 [rr e 1 X
2 AYC12292 BUFT 1 X
3 24M7028 i 2 X
4 11M7015 F O 2 X
5 741546 ¥ 1 X
6 721823 4 2 X
7 721833 BT 1 X
8 744389 7+ 1 X
9 721613 Bl 2 X
10 AYC12818 F B 1 X
11 729162 P 2 X
12 730685 P 1 X
13 711323 BHSHR 1 X
14 711324 BB ABRAL AL 1 X
15 729945 b 2 X
16 19M7163 by 3 X M8 X 25
17 12M7008 BRI 5 X
18 14M7029 125 5 X M8
19 YC12216 ]’ 1 X
20 YC16620 FIH 2 X
21 YC16338 FEAR 1 X
22 12M7013 i 1 X
23 11M7012 F o4 2 X
24 729941 h 1 X
25 TOM1914 e AR X
26 19M1904 by AR X
27 12M7116 BRI 7 X
28 14M7027 125 9 X M6
29 AYC10555 Ry 1 X
30 14M7140 125 1 X M10
31 724492 Xk 2 X
32 724487 2] 2 X
33 L17952 R 1 X 14.250 X 36 X 3 MM
34 19M7280 by 2 X M14 X 60
35 19M7167 by 2 X M10 X 25
36 AZ18547 4 5 2 X
37 12M7013 BRI AR X
38 14M7140 125 AR X M10
39 34M7046 2] 1 X
40 729951 FRE 1 X
41 721834 4 1 X
42 740219 h 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-21

PN=233



90-22

EMRMITE

PUCO0388 -UN- ‘

PUCOQ0368

90-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=234



90-23

s
1
0
7
#HE FHE FlE #E S 6 &2
1 AYC12848 M E4E 1 X
2 AZ30422 P B 1 X
3 37M7115 BRET 15 X
4 YC16954 T 4 X
5 24M7054 o 5 X
6 AZ30402 BHEE 1 X
7 19M8059 B2 5 X M6 X 12
8 12M7116 BB 5 X
9 14M7027 12 £ 5 X M6
10 19M7162 IR 5 X M8 X 16
11 12M7008 B 5 X
12 24M705 g 5 X
13 21M7031 BRET 5 X M6 X 15
1076 BEA W EIHL PC4496 (30-JUL-08) 90-23

PN=235



90-24

EMERMPAT

PUC00389 -UN- ‘

PUCQ0368

N

TE RS T

90-24 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=236



90-25

=
1
0
7
#HE  FHE FlE HE JFRE 6 &1
1 734446 % 1 X
2 AS40107 1B FT 1 X
3 14M7029 1R & AR X M8
4 12M7008 oS E] AR X
5 721613 [B4 % 2 X
6 24M7028 o 2 X
7 11M7015 F o4y AR X
8 721834 G4 2 X
9 AZ23854 7+ 1 X
10 34M7051 8 TR A A 1 X
11 19M7163 HE A AR X M8 X 25
12 736022 Fas 2 X
13 710207 s 2 X
14 24M7055 o 4 X
15 740219 a4k 1 X
16 723436 B 1 X
17 723433 (=4 1 X
18 YC16623 FH 1 X
19 AYC12287 18T 1 X
20 YC16620 FH 2 X
21 721823 % 1 X
22 14M7027 1R & 2 X M6
23 AYC12448 1B FT 1 X
24 YC16618 AT 1 X
25 34M7035 e 1 X
26 21M7125 BR4T 2 X M8 X 25
27 21M7314 BR4T 2 X M8 X 15
28 YC16886 R 1 X
29 E10086 I 1 X
30 AYC12390 BUGT 1 X
31 11M7038 F o4y 1 X
32 724651 o 3 X
33 740557 k=4 1 X
34 727187 hg 2 X
35 727186 o 2 X
36 722572 R 1 X
37 735544 s 1 X
38 YC17374 R 1 X
39 YC16612 BUGT 1 X
40 YC16611 R 1 X
41 19M7163 HE A 2 X M8 X 25
42 11M7087 F o4y 1 X
43 AZ10984 R 1 X
44 711325 Ry 2 X
45 24M7108 o 2 X
46 727188 o 2 X
47 AYC12818 o 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 90-25

PN=237



90-26

Ey=
BRaBiR
PUCD0370 -UN- k
PUC00370

1

0

7
e FHE FlE HNE Vo2 7k 6 #it
1 AYC12852 =R 1 X
2 19M7159 B2 AR X M6 X 15
3 37M2020 BRET AR X
4 AYC12850 EH 1 X
5 AYC12851 =R 1 X
6 12M7116 SAEE T AR X
7 14M7027 125 AR X M6
8 24M7008 o AR X
90-26 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=238



90-27

B

1076 BEA W EIHL PC4496 (30-JUL-08) 90-27
PN=239



90-28

BE

2l

UN-

PUC00371

PUCQ0371

PN=240

1076 HEE W EIHL PC4496 (30-JUL-08)

90-28



90-29

s
1
0
7
% FHE L #E S 6 &2
1 AYC11305 ATEAMR 1 X
AS50710 ATEAMR 1 X (A)
2 37M7115 BRET 13 X
3 24M7027 E 13 X
4 19M1912 2R 4 X
5 12M7008 T 4 X
6 24M705 E 4 X
7 14M7029 125 4 X M8
8 S50140 KAT BB 2 X A
9 DQ72827 ARk 1 X
10 YC16165 EHR 1 X
11 AYC12152 EH 1 X
(A) PHIEEEG =
1076 BEA W EIHL PC4496 (30-JUL-08) 90-29

PN=241



90-30

BRERE

PUCOD0372 -UN- ‘

PUC00372

N

TE RS T

90-30 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=242



s
1
0
7
#HE FHE FlE #E S 6 &2
1 YC17445 BT 2 X
2 YC17102 EoR s 2 X
3 19M7287 B 2 X M10X 50
4 14M7140 o 10 X M10
5 14M7140 12 £ 12 X M10
6 YC12198 EHY 2 X
7 AD19456 et 2 X
8 12M7013 BT 2 X 10MM
9 14M7140 R 4 X M10
10 11M7021 I a4 2 X
11 AYC12153 e 3 2 X
12 12M7014 BB 6 X 12MM
13 40M1817 418 4 X
14 YC12191 il 2 X
15 YC12194 o 2 X
16 19M7157 B2 4 X M12 X 40
17 24M7028 0 8 X 10MM
18 AS21340 BDE 2 X
19 AYC10594 % Z¢ 2 X
20 19M6872 B 8 X  M10X35
21 19M2889 B 4 X M12X30
22 AYC10593 %% 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-31

PN=243



90-32

BR=E

PUC00373 -UN- ‘

PUCOQ0372

90-32 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=244



90-33

By
1
0
7
HE FE FlEE #HE FAE 6 HE
1 AS27200 TiE 1 X
2 AS24707 I 1 X
3 AS31156 T3 #7 1 X
4 YC12926 B 1 X
5 AYC10009  SzFjHEfT 1 X
6 YC13412 B 1 X
7 S27211 BET: 1 X
8 AYC10507 |74t 1 X
9 AYC10712  Ff 1 X
10 AYC10709 AT 1 X
11 AYC10710 AT 1 X
12 YC12521 TR 8 X
13 YC13410 B 2 X
14 AYC10509  ¥FEigEil 16 X
15 YC13411 RSB 2 X
16 AYC10504 K& (12V) 1 X
17 19M7318 B 8 X M6 X30
18 12M7116 g 8 X
19 24M7054 g 8 X
20 14M7027 2R 8 X M6
21 AS20393 #7kg: (12V) 1 X
22 14M7029 W2 RE 2 X M8
23 12M7008 g 2 X
24 24M7055 g 2 X
25 AS27201 R 1 X
26 YC13412 J=E% 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 90-33

PN=245



90-34

Ey=
EWErE
PUC00374 -UN- ‘
PUC00374

1

0

7
e FHE FlE #E o2z 6 #E
1 YC13914 st 1 X
2 AYC11303  H#HE& 4 X
3 17G02412  HiSHAT 8 X
90-34 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=246



90-35

B

1076 BEA W EIHL PC4496 (30-JUL-08) 90-35
PN=247



90-36

ERETH

PUC00375 -UN- ‘

PUCQ0375

90-36 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=248



90-37

ZH=
1
0
7
HE FE FlEE #HE FAE 6 HE
1 AYC11237  AJ] 1 X
2 YC15961 i 1 X
3 S21342 W 1 X
4 AYC11257  IJIEéEis 1-54 1 X
5 AYC11254 R 34uiE 1 X
6 AYC11299 ! 1 X
7 YC10226 ANk 1 X
8 AYC11301 U FsaklgEa 1 X
9 AYC10714 B4 1 X
10 AYC10711 % 1 X
11 YC12507 &7k 2 X
12 40G06008 Fr O$4E 4 X
13 24M7055 o 4 X
14 YC12505 & T 2 X
15 YC12929 ] 2 X
16 AYC11256  BZEK% 1 X
17 AYC11255 U FsaklgEa 1 X
18 AYC11253  TFiE 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-37

PN=249



90-38

ERELNEH

PUCO0378 -UN- ‘

PUCQ0376

N

TE RS T

90-38 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=250



90-39

s
1
0
7
#5  EHE FlE HE JFFE 6 &
1 YC13933 FTE 1 X
2 YC13916 EH % 1 X
3 YC13930 e 1 X
4 YC13929 =R 1 X
5 YC13934 B 1 X
6 S40340 EH % 1 X
7 37M7040 B BRAT 45 X
8 19M7163 B2 4 X M8 X 25
9 24M7055 g 4 X
10 S40341 AR 1 X
11 YC13987 1 fifi 2 X
12 YC14457 ok 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-39

PN=251



90-40

EREAFEH

PUC00377 -UN- ‘

PUCQ0377

90-40 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=252



90-41

s
1
0
7
#HE FHE FlHE #E S 6 &2
1 AYC11911 wE 1 X
2 AYC11912 RER 1 X
3 AYC11249 A B 1 X
4 AS38029 bt 2 X
5 YC13925 FE 1 X
6 AYC11235 ROE 1 X
7 YC14412 EpEa) 8 X
8 S38556 B AT 10 X
9 S45319 SERLNAT 12 X
10 AS38026 AT 1 X
11 21G16208 BRET 2 X M4 X 8
1076 BEA W EIHL PC4496 (30-JUL-08) 90-41

PN=253



90-42

ERERETH

PUCO0378 -UN- ‘

PUCQ0378

N

TE RS T

90-42 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=254



90-43

s
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AYC11231 HEPRAR 1 X
2 AYC10223 BEd 1 X
3 AYC11307 B 1 X
4 21M7250 BRET 1 X M4 X 12
5 S$38405 |18 1 X
6 YC13923 G 1 X
7 19M7095 [ 1 X
8 AS38676 s 1 X
9 14M7029 12 £ 4 X M8
10 12M7008 3HE 6 X
11 24M705 P 6 X
12 YC13911 i 4 X
13 YC13910 g 2 X
14 19M7214 B2 2 X M12 X 70
15 YC12195 hg 2 X
16 S21355 sy 2 X
17 YC13903 i 2 X
18 14M7031 12 £ 2 X M12
19 37M7040 B HURAT 4 X
20 24M7210 P 4 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-43

PN=255



90-44

BRAEER

PUC00379 “UN- k

G@
3
3
PUC00379
1
0
7
#HE FHE FHE #HE Vo2 7k 6 &t
1 AYCI1300  Z2IHiR 1 X
2 AS38165 AR 6 X
3 $38556 EEt=) 14 X
7 AYCI1302 =BT EAam 1 X
90-44 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=256



90-45

o
[kl
PUC00380 -UN- ‘
PUC00380

1

0

7
HE FHE FltE HE ViZiaa 6 &t
1 AYC11259  Filss 1 X
2 AYC10230  FIRISEFF 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

90-45
PN=257



90-46

PUCD0381 -UN- ‘

PUC00381
1
0
7
e FHE FlE HNE Vo2 7k 6 #it
1 AYC11239 Bt 1 X
2 21M7253 BRET 4 X M4 X 25
3 24M1750 R 4 X
4 12M7031 hiE 4 X
5 14G00042 YR 4 X M4
90-46 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=258



90-47

ZH=
REEMH
PUCO00382 -UN- ‘
PUCO00382
1
0
7
HE FE FlEE #HE FAE 6 HE
1 YC14427 VULBRET 4 X
2 AS29690 LR 1 X

1076 BEA W EIHL PC4496 (30-JUL-08)

90-47
PN=259



90-48

s
[ER=y it
PUCD0383 -UN- ‘
PUCO00383

1

0

7
e FHE FlE #E o2z 6 #E
1 AS41217 R EF AR 1 X
2 AS41218 R EF AR 1 X
3 S43382 AR AR 1 X B
4 S43383 EE 1 X f4
90-48 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=260



90-49

B

1076 BEA W EIHL PC4496 (30-JUL-08) 90-49
PN=261



90-50

BE

2l

FEHF (—)
PUCO00384

HH

UN-

PUCQ0384

PN=262

1076 HEE W EIHL PC4496 (30-JUL-08)

90-50



90-51

s
1
0
7
#5  EHE FlE #E A 6 &
1 AYC12052 [ 1 X
2 YC13919 AEEEE 1 X
3 37M7115 B BORAT 4 X
4 YC14417 EAY 1 X
5 YC14418 EAY 1 X
6 AYC11226 R B R 1 X BE
7 AYC11227 AR 1 X
8 YC15961 R 1 X %k
9 YC12634 % & HER 1 X ik
1076 BEA W EIHL PC4496 (30-JUL-08) 90-51

PN=263



90-52

EHEM (D)

PUC00385 -UN- ‘

PUCOQ0385

90-52 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=264



90-53

s
1
0
7
HwE FHE FlE #E o2z 6 #E
1 YC12626 5 b kAR 1 X
2 YC12624 F& E 1R AR 1 X
3 YC12630 B 2R AR 2 X
4 YC12629 B 2 Mk AR 1 X
5 YC12628 5 2 MR AR 1 X
6 YC12625 5 2 MR AR 1 X
7 YC12627 B 2R J R AR 1 X
8 YC15516 EAY 1 X
9 S45321 5 2 MR AR 1 X
10 S45322 B 2 Mk AR 1 X
11 S45323 B 2R H R AR 1 X
12 S45324 B 2R H R AR 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 90-53

PN=265



90-54

s
BWEEER
PUCD03886 -UN- k
PUCO00386
1
0
7
e FHE FlE #E o2z 6 #E
1 AYC11234  ZJEEHeF 1 X  &37
2 AYC11233 ¥ 2 X
3 AYC11273 nFE 1 X
4 YC13894 e 1 X
5 14M7240 12 £ 1 X M24
6 YC13896 P 1 X
7 YC13895 Es 1 X
8 24M7054 o 1 X
9 11G01412 FOw 1 X
90-54 11076 B EE U EIN] PC4496 (30-JUL-08)

PN=266



100-A01

%
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
1- 2
PUC00387 -UN- 3- 5
4- 6
8- 12
11- 18
PUC00387 3
1076 BEA W EIHL PC4496 (30-JUL-08) 100-A01

PN=267



100-A02

iR
XXXXXXXXXX XK XXX XKXXXK XXX XK KXK XXX XKKXK XXX XK XXKXXXXX RS

2- 4

PUC00388 -UN- 5- 8

7- 10

9- 14

12- 20

PUCO00388

100-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=268



100-A03

%
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
6- 9
PUC00389 -UN- 10- 16
PUC00389
1076 BEA W EIHL PC4496 (30-JUL-08) 100-A03

PN=269



100-2

HiixEETE ik

PUC00390 -UN- ‘

PUC00380

100-2 1076 HEE W EIH PC4496 (30-JUL-08)
PN=270



100-3

%
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AYC11343 ik ges ik 1 X
2 AYC11344 R 1 X
3 720713 EW 1 X
4 720367 =2 4 X
5 AYC11224 o 1 X
6 AYC10541 BRI 1 X
7 24M7053 o 1 X
8 YC13157 k=4 1 X
9 14M7142 12 £ 4 X M16
10 AYC12398 EW 1 X
11 YC16682 G 2 X
12 AYC12606 FH 2 X
13 YC17326 T 4 X
14 19M7268 B2 2 X M12 X 25
15 12M7014 B B 2 X
16 14M7031 12 £ 2 X M12
17 14G25162 12 £ 1 X M16
18 YC12352 R 4 X
19 19M7395 B2 4 X M16 X 40
20 12M7069 B hE 4 X
21 03M7054 BRET 4 X
22 03M7230 BRET 1 X
23 24M7047 P 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 100-3

PN=271



100-4

HXRERR (4O

PUC00391 -UN- k

PUCO00391
1
0
7
e FHE FlE HNE Vo2 7k 6 #it
1 AYC12421 e 1 X
2 YC17036 w4 3 X
3 AYC12624 S 2 X
4 YC17337 P E 2 X
5 12M7008 o P P AR X
6 24M7055 R 24 X
7 14G14060 125 AR X M6
8 03M7067 B2 18 X
9 19G52116 BRET 12 X M6 X 16
10 19M7139 E) 24 X  M8X20
11 12M7116 P AR X 6.400 X 12 X 0.500 MM
100-4 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=272



100-5

HEET

PUCO0392 -UN- ‘

PUC00392
1
0
7
#5  EHE FElth #E A 6 &
1 AZ41044 EMES 1 X
2 AYC12903 HEEE 1 X
3 14M7140 R 2 X M10
4 12G46010 P 2 X 10MM
5 YC17236 Fas 1 X
6 19M7376 B2 2 X M8 X 22
7 752306 BYGT 1 X
8 12M7008 P 4 X
9 14M7029 12 £ 3 X M8
10 14M7031 12 £ 1 X M12
11 724302 s 1 X
12 19Mm7327 B2 1 X M10 X 65
13 19M7139 B2 1 X M8 X 20
14 YC16564 2] 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 100-5

PN=273



100-6

X 28 IR

PUC00393 -UN- ‘

PUC00383

%

THEREET
100-6 1076 HEE W EIH PC4496 (30-JUL-08)
PN=274




UL ;i
1
0
7
HE FHE FltE HE ViZiaa 6 &t
1 AYC12443 M 1
2 YC16838 B ER 1
3 YC17024 Fas 1
4 YC17023 s 1
5 736964 Fas 2
6 AYC12640 ET 1
7 21G08630 HR4T 12 M10 X 30
8 21G08620 HR4T 12 M10 X 20
9 24M7028 o 24
10 12M7013 o 24
11 14M7140 1R & 24 M10
12 19M7376 HE A 9 M8 X 22
13 24M7055 o AR
14 12M7008 o AR
15 14M7029 1R & AR M8
16 21M7030 BR4T 7 M8 X 20
17 19M7284 HE A 4 M8 X 18
18 21M6667 BR4T 10 M8 X 18
1076 BUBLA W EINL PC4496 (30-JUL-08) 100-7

PN=275



100-8

Hiikag b ke

PUCO0394 -UN-

PUC00394

1
0
7
e FHE FHE #E o2z 6 #E
1 40M7046 4 2 X
2 00GP507 (R 2 X
3 006390207 BhK 2 X
4 YC12047 Ay 2 X
5 YC14046 B 2 X
6 YC12063 o3 3 X
7 50G01054 B3 3 X
8 YC15508 4 1 X
9 09G04440 by 12 X M10 X 40
10 12M7066 T TR E 12 X 10 MM
11 14M7140 125 12 X M10
12 26G01032 Eid 1 X
ZEMERSE T
100-8 1076 HEE W EIH PC4496 (30-JUL-08)

PN=276



100-9

L7
AR A
PUC00395 -UN- k
PUC00395

1

0

7
£ FHE FE =S RS 6 #HE
1 AYC10543 % 1 X
2 AYC10538 %% 2 X T=38L=107
3 AYC10539 4 1 X T=38L=107
4 YC16882 R 36 X
5 AYC12367  id@ET AR X T=38X5
6 19M7139 [ 144 X M8X20
7 14M7307 [ 144 X M8
8 AYC12406 %% AR X T=38X5

1076 BEA W EIHL PC4496 (30-JUL-08)

100-9
PN=277



100-10

Bl & &bl

PUC00396 -UN- ‘

PUCQ0386

100-10 1076 HEE W EIH PC4496 (30-JUL-08)
PN=278



100-11

%
1
0
7
#5  EHE FElth #E A 6 &i
1 AYC10540 X3 1 X
2 AYC12609 {EzhH 1 X
3 YC16675 WEER 3 X
4 40M1839 $4 5 1 X
5 AYC12348 P 1 X
6 734740 i 4 X
7 00GXJ208 7K 2 X
8 03M7191 Fas 1 X
9 YC16989 Easl 1 X
10 735318 £ 1 X
11 YC12034 AR 1 X
12 YC11368 s 1 X
13 YC16685 B 1 X
14 735321 B2 1 X M10 X 25
15 19M7169 B2 4 X M10 X 35
16 19M7167 B2 2 X M10 X 25
17 19M7268 B2 2 X M12 X 25
18 03M7089 B2 4 X M12 X 25
19 19M7382 B2 3 X M10 X 40
20 24M7095 P 2 X 8MM
21 24M7028 P 2 X 10MM
22 24M7047 o 4 X 12MM
23 12M7013 o AR X 10MM
24 12M7014 o AR X 12MM
25 14M7140 12 £ 7 X M10
26 14M7031 12 £ 6 X M12
1076 BEA W EIHL PC4496 (30-JUL-08) 100-11

PN=279



100-12

HHfREEE

PUC00397 -UN- ‘

PUC00387

100-12 1076 HEE W EIH PC4496 (30-JUL-08)
PN=280



100-13

UL ;i
1
0
7
HE FHE FltE HE ViZiaa 6 &t
1 YC14169 g 1 X
2 YC11998 B 1 X
3 YC11999 B 1 X
4 YC13800 il 1 X
5 YC12035 )it 1 X
6 H101677 Iy 1 X
7 H119710 whERE 1 X
8 YC12597 hg 1 X
9 19M7169 HE A 3 X M10 X 35
10 14G01262 3 1 X M24X 2
11 14G03262 3 1 X M24X2
12 19M7073 HE A 4 X M12 X 50
13 21M1236 BR4T 6 X M6 X 10
14 12M7013 o 3 X 10MM
15 14M7140 1R & 3 X M10
16 12M7014 g 4 X  12MM
17 14M7031 Y2} 4 X  Mi12
18 YC14168 = 1 X
19 YC16393 G 1 X
20 YC14249 o 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 100-13

PN=281



100-14

IR EER

PUC00398 -UN- ' ' ‘

PUC0OD398

N

TE RS T

100-14 1076 HEE W EIH PC4496 (30-JUL-08)
PN=282



100-15

%
1
0
7
HwE FHE FlE #E FFAE 6 #E
1 AYC12425 RENR 1 X
2 730142 h 1 X
3 00G390507 %A 2 X
4 737382 b 7 KB 2 X
5 AZ25927 BRI 2 X
6 AYC12605 AR 1 X RH
AYC12608 AR 1 X LH
7 738536 f 4R 2 X
8 734419 s 2 X
9 YC16683 AR 2 X
10 P49545 BRE 2 X
11 YC16673 P 6 X
12 19mM9417 B2 2 X M14 X 60
13 YC12122 Bk 2 X
14 YC12618 o 4 X
15 11G02336 FF O 2 X
16 40M7046 E 2 X
17 19M7590 B2 2 X M12 X 100
18 19M7166 B2 AR X M10 X 20
19 12M7013 BB AR X 10MM
20 12M7069 B hE AR X 16MM
21 24G20016 P AR X 16MM
22 14M7031 12 £ AR X M12
23 14M7142 12 £ AR X M16
24 14G25162 12 £ AR X M16
25 AYC12422 0 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 100-15

PN=283



100-16

pokvisEe L)
PUCO00399

“UN-

PUCO00389

1076 HEE W EIH PC4496 (30-JUL-08)

100-16

PN=284



100-17

%
1
0
7
% FHE FlHE #E S 6 &
1 710749 ok e 1 X
2 738186 A 1 X
3 724489 4 1 X
4 24M7047 R 1 X 12MM
5 11G02020 4 2 X
6 AYC12614 AT 1 X
7 14G02149 125 1 X M14
8 24M7085 R 1 X 14MM
9 730552 k= 1 X
10 L17952 R 1 X
11 YC16811 B 1 X
12 AYC12615 BAEE 1 X
13 739573 F B 1 X
14 739569 k=4 1 X
15 22G36630 AT 2 X M12X30
16 AYC12254 FEM 1 X
17 14M7140 125 3 X M10
18 12M7013 BRI AR X 10MM
19 12M7014 BRI 1 X 12MM
20 14M7031 125 2 X M12
21 19M7167 by 3 X M10 X 25
22 AYC10541 BRI 1 X
00G180203 ak 1 X
40G00040 4 2 X
AYC10868 BRI 1 X
23 24M7053 R 1 X 16 MM
24 AYC12260 FERE 1 X
25 721892 AR 1 X
26 03G44551 IR 1 X M12X75
27 12M7008 HE 2 X 8MM
28 14M7029 e 2 X M8
29 19M7139 B 1 X M8X20
30 AYC12261 AR RS 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 100-17

PN=285



100-18

EMIAE

PUCO0400 -UN- k

PUC00400

%

THEREET
100-18 1076 HEE W EIH PC4496 (30-JUL-08)
PN=286




%
1
0
7
#HE FHE FlE #E JFIE 6 &2
1 14M7140 12 £ AR X M10
2 14M7013 BB AR X M6
3 24M7028 P AR X 10MM
4 03M7017 B2 2 X M10X25
5 19M7167 B2 2 X M10 X 25, M10X25
6 AYC12798 Fas 1 X
7 AZ25943 Ea o 1 X
8 736948 P 1 X
9 YC17019 P 1 X
10 24M7055 P AR X 8MM
11 12M7008 B AR X  8MM
12 14M7029 12 £ AR X M8
13 19M7139 B2 4 X M8 X 20
1076 BEA W EIHL PC4496 (30-JUL-08) 100-19

PN=287



100-20

Bl &Rz (HRD

PUCO00401 -UN- w

PUC00401

%

THEREET
100-20 1076 HEE W EIH PC4496 (30-JUL-08)
PN=288




100-21

%
1
0
7
HwE FHE FlE #E FFHE 6 #E
1 14M7140 12 £ AR X M10
2 14M7013 B B AR X M6
3 00GXJ208 K 2 X
4 734740 k£ 4 X
5 24M7028 o AR X 10MMM
6 19M7382 B2 1 X M10 X 40
7 19M7169 B2 5 X M10 X 35
8 19M7167 B2 2 X M10 X 25
9 735318 f 4R 1 X
10 YC16989 5 1 X
11 19M7139 IR 2 X M8 X 20, M8X20
12 12M7008 sk 2 X  8MM
13 14M7029 12 £ 2 X M8
14 AYC12419 PpE 1 X
15 AYC12348 P 1 X
16 40M1839 $4 5 1 X
17 AYC10540 B 1 X
18 YC16675 WEER 3 X
19 AYC12613  {&zhih 1 X
20 730548 %= 2 X
21 40G02040 E 4 X
1076 BEA W EIHL PC4496 (30-JUL-08) 100-21

PN=289



100-22

100-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=290



110-A01

XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX BRI
1- 2
PUC00402 -UN- - 4
3- 6
4- 8
5- 10
6- 12
14- 27
15- 28
18- 34
21- 40
2N 28- 54
& &
S =
£
i i
i
PUC00402
1076 BEA W EIHL PC4496 (30-JUL-08) 110-A01

PN=291



110-A02

XXXXXXXXXX XK XXX XKXXXK XXX XK KXK XXX XKKXK XXX XK XXKXXXXX RS

7- 14

PUC00403 -UN- 8- 16

9- 18

29- 56

33- 64

PUC00403

110-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=292



110-A03

XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
10- 20
PUC00404 “UN- 11- 29
12- 24
13- 26
16- 30
17- 32
19- 36
24- 46
25- 48
26- 50
32- 62
34- 66
PUC00404
1076 BEA W EIHL PC4496 (30-JUL-08) 110-A03

PN=293



110-A04

3

=

BB

10,.9,9,0,0.0.9.9,9,0,0.9.9,0,9,0,0.9,0,0,0,9,0.9,9,0,0.0.9,9,9,0,0.0.9,0,0,0.9.9,0,9,0.0.0.0,0,¢

38
52
68
70

20-
27-
35-

36-

_UN-

PUCDO405

PUC00405

PN=294

1076 HEE W EIHL PC4496 (30-JUL-08)

110-A04



110-A05

XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
37- 72
PUC00406 “UN- 38- 74
38
?fffiﬂﬁgg%’;;:f,
PUC00406
1076 BEA W EIHL PC4496 (30-JUL-08) 110-A05

PN=295



110-2

AR

PUCD0407 -UN- ‘

PUC00407

N

TE RS T

110-2 1076 HEE W EIH PC4496 (30-JUL-08)
PN=296



110-3

Hﬁ*ﬂ’#‘gﬁ*u /%/gi
1
0
7
W5 EHE T4 HE FoE 6 &
1 AYC12683 TR 1 X LH
AYC12684 TR 1 X RH
2 YC16682 k] 2 X
3 AYC12606 FH 2 X
4 AZ23778 =R 1 X
5 AZ23761 e 1 X
6 Z34709 ]’ 1 X
7 734707 W 1 X
8 YC16812 B ER 1 X
9 19G08416 B2 AR X M8X16
10 24G00008 P AR X
11 14G25082 Ekdisss AR X
12 YC17326 3 ] 4 X
13 24G10012 P 2 X
14 24G00006 P AR X
15 19G01120 B2 AR X M6X20
16 14G25062 =gl as AR X
17 21G08416 BRET AR X M6X16
18 19G08525 B2 AR X M10X25
19G08530 B2 AR X M10X30
19 24G00010 P AR X
20 12G45010 HaEhE AR X
21 14G00102 12 £ AR X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-3

PN=297



110-4

=Rt

PUCOO08 LIM- g

110-4 1076 HEE W EIH PC4496 (30-JUL-08)
PN=298



110-5

Bt EINEEE
1
0
7
®E S ZH4 g FEs 6 &iE
1 AYC12880 &= 1 X
2 734483 B 1 X
3 734661 a3 1 X
4 722779 4 1 X
5 735852 B 1 X
6 19G08320 B AR X MBX20
7 19G08525 B2 AR X M10X25
8 12G45010  BEIE AR X
9 14G00102 B} AR X
10 19G08630 1B AR X M12X30
11 12G45012 BB AR X
12 14G00122 B4} AR X
13 19G08520 1B & AR X M10X20
14 14G25102 12 £ AR X
15 21G08416 BR4T AR X M6X16
16 12G45006 2 ieE AR X
17 14G00062  #Bf} AR X
18 735160 T ARk 3 X
19 24G0008 7 3 X
20 YC12352 TR B 3 X
21 YC16748 R 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-5

PN=299



110-6

GITRRE

BEEEE
PUCO0409 UM g

( [TT77

AN ANRARNRNN

PUC00409 12

PUC00409 -UN-

110-6 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=300



110-7

Bt EFEIEE
1
0
7
HT BB T YR RS 6 &
1 AS40477 S REE 1 X
2 AYC12725 s e 2 X
3 AYC12724 s e 2 X
4 735899 g 1 X
5 735641 oUF 4 X
6 735642 frgad 4 X
7 19G08635 by 40 X M12X35
8 24G00012 i AR X
9 14G00122 IR AR X
10 YC17067 #h 1 X
11 00GP510 RDE 2 X
12 19G08630 by AR X M12X30
13 00G390610 Ak 2 X
14 YC16691 K B 2 X
15 49G01758 Eid 2 X M12X80
16 19G02455 by 2 X M12X95
17 12G45012 BRI AR X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-7

PN=301



110-8

M4

PUCO0410 LIN- g

PUCO0410

110-8 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=302



110-9

Biide EFniEEE
1
0
7
HwE FHE T4 & o2z 6 #E
1 14G25162 12 £ 4 X
2 24G20016 P 4 X
3 733976 ElES 4 X
4 720084 EW 2 X
5 19G04647 BE 2 X
6 14G00082 12 £ 7 X
7 12G45008 P 8 7 X
8 L18955 LY AR X
9 727780 EW 2 X
10 AYC12595 Mk IEE 1 X
11 220064 VMR & 85 X
12 AZ13300 %R AR X
13 19G08420 B2 9 X
14 728716 I 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-9

PN=303



110-10

MR T 4T

PUCOO411 LIM- g

PUCO0411

N

TE RS T

110-10 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=304



110-11

B 2 T EE =
1
0
7
e e EHL HE 2755 6 &
1 736726 EoR s 2 X
2 24G20027  #E 1 X
3 711100 e 1 X
4 19G08430 2% 4 X MB8X30
5 710994 B 2 X
6 12G45008  #[E 4 X
7 14G00082 & 4 X
8 736728 4T 2 X
9 736729 4T 2 X
10 14G02169 ¥ 4 X
11 14G25162 3 4 X
12 736731 IR 2 X
13 736730 EHIER 2 X
14 YC17012 il 2 X
15 11G02036 &4 2 X
16 49G00558 4 1 X
17 11G02345 i 1 X
18 AZ25680 h 1 X
19 YC16913 [AfRE 1 X
20 11G02026 44 2 X
21 724489 7L 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-11

PN=305



110-12

EIEEERNT

PUCOO412 LIN- g

PUC00412

N

TE RS T

110-12 1076 HEE W EIH PC4496 (30-JUL-08)
PN=306



110-13

Biide EFniEEE
1
0
7
HT BB Fih5 YR el 6 &
1 YC16748 K% 1 X
2 720073 Eihs 30 X
3 720074 [ 52 22 15 X
4 735186 e 1 X
5 14G00102 12 £ AR X
6 14G00062 12 £ AR X
7 12G45010 oS E] 1 X
8 730190 Etc AR X
9 12G45006 B hE AR X
10 19G08318 B2 AR X M6X18
11 19G08316 B2 AR X M6X16
12 03M7085 B2 AR X M10X30
1076 BEA W EIHL PC4496 (30-JUL-08) 110-13

PN=307



110-14

R (RAERD)

PUCOO13 LIM- g

PUCO0413

110-14 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=308



110-15

Bt EINEEE
1
0
7
®E S E4 g FEs 6 &iE
1 710953 T 1 X
2 YC14567 #h 1 X
3 45G01245 24 1 X
4 11G01720 F O 4 X
5 YC16937 Ee 1 X
6 34M7043 fel el e 1 X
7 58M5573 T 1 X
8 24M7052 g 1 X
9 11G02336 IF E4 1 X
10 YC12565 BRI 1 X
11 YC12675 4P 1 X
12 00G7206EA 4R A3 1 X
13 00G7206EB I 1 X
14 40G00047 4 1 X
15 00G7204EB HhARSNE 1 X
16 00G7204EA HhAE NI 1 X
17 S43168 g 1 X
18 11M7022 F O 1 X
19 14M7331 125 1 X
20 AYC12146 k| 1 X
21 11G02020 IF E4 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-15

PN=309



110-16

RERAREE

PUCO0414 LIN- g

PUCO0414

110-16 1076 HEE W EIH PC4496 (30-JUL-08)
PN=310



110-17

B 2 T EE =
1
0
7
e 45 g e 755 6 &iE
1 YC17318 1 U 1 X
2 AYC10842  F# 1 X
3 19M7163 B 1 X M8X25
4 14M7029 W2} 4 X
5 24M7055 WEIE 4 X
6 58M5573 HE 4 X
7 YC16672 g 1 X
8 11G02046 FO4 1 X
9 34M7030 8 TR AT 1 X
10 34G00820 8 TR A A 2 X
11 AYC12381  #i 2 X
12 722110 BB 1 X
13 722116 FE 1 X
14 24M7047 g 1 X
15 14G14120 W2 1 X
16 YC16938 EoR s 2 X
17 11G02020 FO4 3 X
18 24M7180 g 1 X
19 734431 EoR s 1 X
20 45G01245 £ 2 X

1076 BEA W EIHL PC4496 (30-JUL-08)

110-17
PN=311



110-18

RHRR

PUCO41E LIN- g

PUCO0416

110-18 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=312



110-19

Bt EINEEE
1
0
7
i s EHE ez g FEs 6 &iE
1 AYC12256 EWEE 1 X
2 711562 W 1 X
3 711563 S 1 X
4 19Mm7327 B2 1 X M10X65
5 14M7140 12 £ AR X
6 12M7013 BB AR X
7 YC10147 FZ 1 X
8 AZ35220 EWEE 1 X
9 Z33799 FEM 1 X
10 19M7638 B2 2 X M10X130
11 14G25102 4 SR EE 2 X
12 731640 PE 1 X
13 YC17196 E 1 X
14 19M7288 B2 2 X M8X30
15 14M7307 4 SR EE 2 X
16 12M7008 HEhE AR X
17 AYC12255 o 1 X
18 19M7167 B2 AR X M10X25
19 24M7028 P AR X
20 19M7323 B2 8 X M8X40
21 49G01778 Eid 1 X
22 11G01720 FF O 2 X
23 734436 R 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-19

PN=313



110-20

EREREENE

PUCOAT LIM- '

12

1

PUCO0MT

110-20 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=314



110-21

Bt EINEEE
1
0
7
®E S ez g FEs 6 &iE
1 AZ31666 3k 1 X
2 742031 HE 1 X
3 742032 a3 1 X
4 19M7073 B2 8 X M12X50
5 12M7014 o 8 X
6 742024 R 1 X
7 742023 i E 1 X
8 YC12050 TR 1 X
9 711424 THEHER 1 X
10 742022 MWER 1 X
11 737473 iz 1 X
12 YC16644 T RAENE 1 X
13 58G30813  MfF 1 X
14 YC16645 ®ih 1 X
15 49G06764 Eid 1 X
16 21M7137 BRET 2 X M4X10
17 242027 O A 2 X
18 YC17159 WAL 2 1 X
19 742029 EEESS 1 X
20 742028 o HE 1 X
21 742037 BN 1 X
22 44G11236 4 3 X
23 742026 = 3 X
24 711425 HELEE 1 X
25 742030 O B 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-21

PN=315



110-22

RELRTER

PUCOO418 LIN- g

PUCO0418

110-22 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=316



110-23

Bt EINEEE
1
0
7
% FE FEHE HE JFFE 6 &
1 19M7166 B2 1 X M10X20
2 12M7013 hg 1 X
3 E10079 hg 1 X
4 YC12234 e 1 X
5 19M7270 B2 6 X M8X65
6 12M7008 o 12 X
7 58M5573 T 1 X
8 AHB86809 A Ak 2 X (A
YC12236 A Ak 2 X (B)
9 737508 A 2 X
10 737509 s 2 X
11 22G58420 24 12 X M10X20
12 737511 o 2 X
13 737510 s 1 X
14 AYC10637 i 1 X
15 741813 418 1 X
16 AYC10636 i 1 X
17 YC16354 S 1 X
18 711528 ik kS 1 X
19 19M7163 B2 6 X M8X25
20 AYC10635 b3 1 X
21 711525 E 1 X
22 YC12235 Bk 1 X
23 YC16144 L33 6 X
24 738133 4% 58 1 X
25 YC12190 k=4 1 X
(A) ZmAE (B) Rl
1076 BEA W EIHL PC4496 (30-JUL-08) 110-23

PN=317



110-24

R RS

PUCO0419

UN-

PUCQ0419

1076 HEE W EIH PC4496 (30-JUL-08)

110-24

PN=318



110-25

Bt EINEEE
1
0
7
#HE FHE FlE #E S 6 &
1 YC14402 k=4 1 X
2 AS39837 by 1 X
3 19G52125 B2 4 X M6X25
4 12M7116 ST 4 X
5 YC12045 H 1 X
6 YC14423 o S 1 X
7 AH20868H  jESzE 1 X
8 YC14438 E 1 X
9 00G61818 K 1 X
10 YC10162 HE 1 X
11 737509 S 2 X (A
12 YC14437 418 1 X
13 00G61809 K 1 X
14 738133 E 2 X
15 AH86809 A A 2 X (YC12236 4 )
16 AYC10731 % 1 X 4 YC12042 1 237515
YC12042 B 1 X
737515 A 1 X
17 44G30614 24 5 X D6X14
18 AYC11480 i 1 X
19 YC14426 1R 2 X
20 YC14425 o S 2 X
21 19M7163 B2 6 X M8X25
22 YC12044 =ik 1 X
23 12M7013 4B 1 X
24 YC14422 ] 1 X
25 14M7140 12 £ 2 X
26 YC14408 E 1 X
27 AYC11463 HHE 1 X 4 AYC12285, YC14409 f1 YC14403
AYC12285 biiEa) 1 X
YC14409 HHE 1 X
YC14403 EE 1 X
28 19M7347 B2 1 X M10X120
29 YC11461 418 1 X
30 YC14439 E 1 X
31 00G61822 K 1 X
32 YC10161 $4 5 1 X
33 YC12043 =k 1 X
34 YC14424 =1 3 X
35 00GK162220 ¥4k 3 X
36 737517 g 3 X
37 YC14404 g 1 X
38 19M7270 B2 6 X M8X65
39 12M7008 B hE AR X
40 19M7167 B2 1 X M10X25
41 YC13009 o 1 X
(A) EHLE
1076 BEA W EIHL PC4496 (30-JUL-08) 110-25

PN=319



110-26

R IR 25 S5

PUC00420 -UN- “

PUC00420

1
0
7
e FHE FlE #E o2z 6 #E
1 14M7029 [ 3 X
2 12M7008 B AR X
3 737478 by 3 X
4 AYC11467 TR 1 X
5 14M7307 EEd: 3 3 X
6 AYC11466 o 1 X
7 14M7029 125 4 X
8 24M7055 o AR X
9 AZ27269 TR B 2 X
110-26 11076 B EE UL EIN] PC4496 (30-JUL-08)

PN=320



110-27

B 2 T EE =
Eiae
PUC00421 -UN- k
PUCO00421

1

0

7
HE FE FlEE #HE FAE 6 HE
1 AYC12886 &g 5 X
2 21G08416 BEAT 20 X M6X16
3 AYC12426 B SRS AR X
4 14G00062 12 £f AR X
5 751179 FRESRE 10 X
6 738553 RS 15 X
7 14G25062 BB AR X
8 24G00008 g AR X
9 H33395 PhER AR X
0 AZ13818 E s iRET AR X
11 YC16701 TEHAR AR X
12 21G08412 BEAT AR X M6X12
13 12G45006 P8I0 AR X
14 YC12232 BT 5 X

1076 BEA W EIHL PC4496 (30-JUL-08)

110-27
PN=321



110-28

Bt

PUCODD422 -UN- '

PUCOQ0422

110-28 1076 HEE W EIH PC4496 (30-JUL-08)
PN=322



110-29

Bt EFEIEE
1
0
7
HE FHE FltE HE ViZiaa 6 &t
1 21G16512 HR4T 2 X M8X12
2 12G45008 B hE 2 X
3 YC16819 = 1 X
4 AYC12622 B 1 X
5 YC16370 h 1 X
6 49G01770 S 1 X
7 00GP510 HEIR 2 X
8 00G390610 %A 2 X
9 19G08630 HE A AR X M12X30
10 12G45012 oS E] AR X
11 711278 4 7K B 1 X
12 19G02656 HE A AR X
13 12G45016 B S B AR X
14 14G00162 1R & AR X
15 YC16691 4 7K B 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 110-29

PN=323



110-30

i

PUCO0D423 -UN- ‘

PUCD0423

110-30 1076 HEE W EIH PC4496 (30-JUL-08)
PN=324



110-31

B 2 T EE =
1
0
7
HE FHE FHE #HE JFFIE 6 &t
1 AYC12782 il 1 X
2 YC14460 BER 10 X
3 739428 B AR X
4 YC17114 R AR X
5 YC17398 M 5 X
6 03G24453 HRAT AR X M10X85
7 14G25102 4R A AR X M10X25
8 738395 K B 4 X
9 00G390206 Ak 2 X
10 Z20051 o 1 X
11 YC17190 o 1 X
12 03G24420 HRAT 2 X M10X20
13 19G08525 HE R 10 X
14 12G45010 g 12 X
15 14G00102 R 12 X
16 00GP506 e 2 X
17 YC16747 HFR 2 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 110-31

PN=325



110-32

g

PUCO0424 -UN- ‘

PUCD0424

110-32 1076 HEE W EIH PC4496 (30-JUL-08)
PN=326



110-33

Bt EFEIEE
1
0
7
HwE FHE FE #E FFAE 6 #E
1 AYC12782 il 1 X
2 YC14460 RRT 10 X
3 03G24430 [ AR X
4 YC17114 L AR X
5 YC17398 ]’ 5 X
6 03G24453 BRET AR X M10X85
7 14G25102 X iR A AR X
8 738395 K B 4 X
9 00G390206 Ak 2 X
10 720051 Ez 2 X
11 739428 B AR X
12 YC16747 bah 0 2 X
13 19G08525 A 4 X M10X25
14 12G45010 el 12 X
15 14G00102 125 12 X
16 00GP506 RbE 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-33

PN=327



110-34

N

PUCO0425 -UN- ‘

PUC00425

%

THEREET
110-34 1076 HEE W EIH PC4496 (30-JUL-08)
PN=328




Brfir s EFnEEE
1
0
7
#HE EHE FlE HE JFRE 6 &1
1 AZ25390 4t 1 X
2 722770 ¥ 1 X
3 11G01720 i 1 X
4 19G10400 =) 1 X
5 11G02336 i 1 X
6 14G00062 3 1 X
7 12G45006 o AR X
8 YC16748 AR AR X
9 730190 Etc 2 X
10 19G08316 12 1 X M6X16
11 AYC12726 5 AR X
12 739063 Fas 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 110-35

PN=329



110-36

B S itfatkshiEE

PUCO0D428 -UN- “

PUCQ0426

N

THEREET
110-36 1076 HEE W EIH PC4496 (30-JUL-08)
PN=330




110-37

Bt EFEIEE
1
0
7
HwE FHE FlE #E o2z 6 #E
1 YC12059 B 1 X
2 49G01545 Eid 1 X
3 22G36530 BRET 2 X M10X30
4 14G02109 12 £ 2 X
5 AS43587 B 1 X
6 AYC12573 S 1 X
7 AYC12572 S 1 X
8 711690 SRS B 1 X
9 19Mm7327 B2 1 X M10X65
10 12M7013 o 1 X
11 14M7140 12 £ 1 X
12 YC13752 o344 1 X
13 12M7008 P 3 X
14 19M8126 B2 3 X M8X45
1076 BEA W EIHL PC4496 (30-JUL-08) 110-37

PN=331



110-38

B S itfatkshiEE

PUCO0427 -UN- “

PUCQD427

110-38 1076 HEE W EIH PC4496 (30-JUL-08)
PN=332



110-39

Hﬁ*ﬂ’#‘gﬁ*u /%/gi
1
0
7
HwE FHE FHE #E o2z 6 #E
1 YC12060 B 2 X
2 YC15489 b 1 X
3 AYC11861 RER 1 X 4 00G180203, 40G00040 1 AYC11862
00G180203 ik 1 X
40G00040 E 1 X
AYC11862 BRARED A 1 X
4 YC14816 k=4 1 X
5 24G20016 i 2 X
6 03M7209 by 1 X M16X60
7 YC10144 A 1 X
8 12M7069 i 1 X
9 14M7142 125 1 X
10 22G36425 BRET 4 X M8X25
11 14M7029 125 4 X
12 49G01540 # 2 X
13 19M7167 by AR X M10X25
14 24M7028 R AR X
15 12M7013 R AR X
16 14M7140 125 AR X
17 YC12405 R 2 X
18 24G20030 i 4 X
19 YC13152 i 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-39

PN=333



110-40

SEERE

PUCOD428 -UN- ‘

PUC00428

110-40 1076 HEE W EIH PC4496 (30-JUL-08)
PN=334



110-41

m*&ﬁﬁ*ﬂ;?,gi
1
0
7
HE FE FltE HE  FAE 6 HE
1 YC17481 T 30 X
2 7103298 B SE 15 X
3 19M7295 B 15 X  M8X45
4 24M7095 g 30 X
5 DQ16220 {HI4E e S R AR 15 X
6 YC16395 [GEsD 15 X
7 14M7307 & g 15 X
8 7101844 5 15 X
9 00G390206 ik 3 X
10 00GP506 JRILE 3 X
11 DQ42194 BEIE R G 1 X
12 CQ66617 = 1 X
13 DQ49532 RS 1 X
14 19M7387 g 1 X M12X40
15 14G25122 & 4 1 X
16 DQ66618 EEEL 1 X
17 AZ52407 ey 1 X
18 03M7098 B 3 X  M10X35
19 19M7783 2R 6 X M10X16
20 AYC12026 B e IR A 2 X
21 YC15505 7 2 B 2 X
22 738395 TR AR 3 X
23 YC17301 BRET 10 X
24 735482 EES 3 X
25 49G01540 & 1 X
26 AYC11860 WMEERE 1 X
27 12M7013 g 6 X
28 14M7140 2 3 X
29 14M7274 R 3 X
30 24M7096 g 3 X
31 19M7166 R 3 X M10X20
32 03M7090 g 16 X M8X16
33 12M7008 g 18 X
34 14M7029 2 18 X
35 03M7093 g 2 X M8X25
36 S44396 peERE 10 X
37 726250 g 15 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-41

PN=335



110-42

REFEE

PUCO00429 -UN- ‘

PUCO00429

110-42 1076 HEE W EIH PC4496 (30-JUL-08)
PN=336



110-43

B 2 T EE =
1
0
7
#HE EHE FlE HE JFRE 6 &
1 11G01716 24 AR X
2 24G00010  #H[E AR X
3 L20507 s 1 X
4 727520 5 R 1 X
5 19G08316 R AR X M6X16
6 14G00062 R} AR X
7 YC13614 5 XA 2 X
8 24G00008  #H[E 26 X
9 746532 R AR G 1 X
10 720154 AR 1 X
11 24G00006  #H[E 8 X
12 19G08420 2 13 X M8X20
13 14G00082 Wtk 13 <
14 12G45008 ik 13 X
15 AYC11144 KB EE 1 X
16 19G08525 HE A AR X M10X25
17 24G00010  #[E AR X
18 14G25102 1R & AR X
19 YC13610 KRR BT MR 1 X
20 YC13621 R B 1 X
21 YC13603 & SE AR 5 X
22 748287 EH % 2 X
23 YC13615 b S A 1 X
24 YC13613 TEM 1 X
25 12G45006 i 4 X
26 YC13609 D) Mg 1 X
YC13608 D il 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-43

PN=337



110-44

R R 3R

PUC00430 -UN- ‘

PUC0D430

%

FMEREE T
110-44 1076 HEE W EIH PC4496 (30-JUL-08)
PN=338




110-45

Hﬁ*ﬂ’#‘gﬁ*u /%/gi
1
0
7
#5  EHE FlE #E JFFE 6 &
1 03G24425 B2 AR X M10X25
2 12G45010 S AR X
3 14G00102 12 £ AR X
4 YC13577 TR G A 2 2 X
5 00GP507 fRE 2 X
6 22G22510 T AR X M10X10
7 YC17265 HhAE 4 X
8 00G390507 %A 2 X
9 745773 KB IR 12 X
10 Z45770 TR G 1 X
11 19G08535 B2 12 X M10X35
12 14G00082 12 £ AR X
13 19G08425 B2 12 X M8X25
14 19G08420 B2 12 X M8X20
15 12G45008 S AR X
16 Z45774 R B 4 X
17 12G45010 S AR X
18 14G00102 12 £ AR X
19 14G25082 12 £ AR X
20 19G08420 B2 AR X M8X20
21 AYC11143 R TR 4 X
22 YC13636 & & 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-45

PN=339



110-46

RES B &

PUC00431 -UN- ‘

PUC00421

%

THEREET
110-46 1076 HEE W EIH PC4496 (30-JUL-08)
PN=340




110-47

BRt g EFNEIEE
1
0
7
#HE FHE L #E S 6 &2
1 AYC11873 ARG 1 X
2 AYC10979 ARG 1 X
3 YC14339 Ex 1 X
4 19M7504 by 1 X M16X85
5 40G00047 P4 1 X
6 00G180303 a4k 1 X
7 YC11969 BRI 1 X
8 YC15529 AT 1 X
9 AYC10978 BRI 1 X
10 58M5573 SHIAR 2 X
11 11G01716 24 1 X
12 740936 i 1 X
13 24G10012 HE 1 X
14 14G00122 s 2 X
15 14G25162 125 1 X
16 12M7069 HE AR X
17 740935 VE IR 1 X
18 AYC11870 T 1 X
19 24M7052 E 2 X
20 40M1828 P4 2 X
21 YC13759 tE 2 X
22 YC14340 AR 1 X
23 24M7028 g AR X
24 11G01720 24 1 X
25 YC16666 BBk 1 X
26 YC15531 AR 1 X
27 740934 5 I 1 X
28 14G25102 B AR X
29 24M7053 i AR X
30 YC12209 kS 1 X
31 AZ27084 o3 1 X
32 19M7283 B 1 X M16X35
33 24G10010 HE 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-47

PN=341



110-48

REBENEERATESR

PUC00432 -UN- ‘

PUC00432

110-48 1076 HEE W EIH PC4496 (30-JUL-08)
PN=342



110-49

Hﬁ*ﬂ’#‘gﬁ*u /%/gi
1
0
7
#HE  EHE FEHE #E FHE 6 &2
1 03M7098 B2 AR X M10X35
2 746383 B 3 X
3 YC17265 Ak E 4 X
4 00G390207 &k 2 X
5 00GP507 fRE 2 X
6 T AR X
7 24M7028 o AR X
8 12M7013 S AR X
9 14M7140 R AR X
10 YC13752 o344 1 X (iT AYC11184)
11 YC12029 R 1 X (iT AYC11184)
12 12M7008 IR 3 X
13 19M8126 B2 3 X M8X45
14 746365 iz 1 X
15 40M7046 418 2 X
16 L53825 O A 1 X
17 YC16353 =ikss 1 X
18 00G688910K ik 1 X
19 YC13750 TR G 1 X
20 AYC11184 B EE 1 X
21 49G01650 % 4 X
22 AYC11871 FERE 1 X
23 YC16352 ®Y 1 X
24 45G01245 ikl 1 X
25 24M7044 o AR X
26 11G01720 4 AR X
27 03M7098 B 6 X M10X35
28 58G21010 AR 1 X
29 19G02335 g 1 X M10X35
30 19M7170 B2 2 X M10X50
31 YC12039 TR 1 X
32 YC11990 e 1 X
33 YC12731 R 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-49

PN=343



110-50

Bt EINEEE
ERTERE
PUC00433 -UN- w
PUC00433

1

0

7
e FHE FlE #HE Vo2 7k 6 #it
1 L53825 O A 1 X
2 58M5573 AR 1 X
3 711692 J A 1 X
4 34M7044 T 1 X
5 34M7054 2] 1 X
6 711695 AR 1 X
7 746371 P 1 X
8 746367 BWEE 1 X
9 YC13617 B 3 X
10 14M7307 125 3 X
110-50 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=344



110-51

B

1076 BEA W EIHL PC4496 (30-JUL-08) 110-51
PN=345



110-52

REBEERTNER

PUC00434 -UN- ‘

PUC00434

110-52 1076 HEE W EIH PC4496 (30-JUL-08)
PN=346



110-53

Hﬁ*ﬂ’#‘gﬁ*u /%/gi
1

o2z g
wE  EHE S g3 OR YEAR 6 &
1 19G08420 B2 2 X M8X20
2 12G45008 iR 2 X
3 14G00082 12 £ 2 X
4 YC13151 KRS 1 X
5 AZ13319 Vil gi-lae 1 X
6 19G08316 B2 1 X M6X16
7 AYC11419 o 1 X
8 711242 FH 1 X
9 745092 U B 1 X
10 AYC12896 FWEE 1 X
11 19G08525 B2 1 X M10X25
12 19G08640 B2 1 X M12X40
13 14G25122 12 £ 2 X
14 YC16146 o 1 X
15 AS37681 TR T 1 X
16 11G02026 2] 3 X
17 YC13213 AR 1 X
18 24G00010 P 1 X
19 14G00102 12 £ 2 X
20 12G45010 iR AR X
21 745089 k=4 1 X
22 744733 Rl 1 X
23 24G00010 P 1 X
24 11G01730 24 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-53

PN=347



110-54

AR

PUC00435 -UN- ‘

PUC00435

110-54 1076 HEE W EIH PC4496 (30-JUL-08)
PN=348



Bt EINEEE

1

0

7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC11142 AR 1 X
2 YC13578 R 2 X
3 720308 IR 4 2 X
4 AZ27698 18RI 1 X
5 21G08418 WR4T 28 X  M6X18
6 12G45006 A 37 X
7 14G14060 W2} 37 X
8 19G08420 2 2 X M8X20
9 736532 FEH % 2 X
10 14G25082 W2} 2 X
11 YC13623 AR 1 X
12 19G08430 B 8 X M8X30
13 12G45008 B 12 X
14 14G00082 W2 12 X
15 YC17359 R 1 X
16 YC17358 Tk % 1 X
17 19G52125 2 9 X  M6X25
18 AZ24210 AR 1 X
19 AYC12674 i 1 X LH
20 AYC12699 B 1 X RH
21 735132 B4 2 X
22 14G25082 W2} 2 X
23 19G08425 2 4 X  M8X25
24 YC17069 o p 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-55

PN=349



110-56

gt g

Um F8

PUC00438 -UN- *

PUCQ0436

110-56 1076 HEE W EIH PC4496 (30-JUL-08)
PN=350



110-57

Bt EINEEE
1
0
7
#HE FHE FEHE #E S 6 &2
1 AYC12187 i 1k 1 X
2 YC16911 FEA 2 X
3 733933 FEEIUE & 2 X
4 AZ13644 EERIES 1 X
5 AYC12636  IEKAESG 1 X
6 AYC12788  fgg 1 X
7 723058 & T 1 X
8 736530 A 2 X
9 720127 % 2 X
10 AYC12813 TErE Y 1 X
11 19G08400  iE# 6 X M8X22
12 12G45008  @EIE 6 X
13 14G14060 V2 5 32 X
14 12G45006  BEINE 32 X
15 21G08416 BR4T 32 X M6X16
16 03G24338  #z# 2 X M8X38
17 24G00008  #H[E 2 X
18 YC12352 1 A g2 2 X
19 24G20012 2 X
20 11G01720 4 2 X
21 AZ25428 TR 1 X
22 739071 T 2 X
23 14G00102 B} 4 X
24 12G45010  EIE 4 X
25 YC17340 3 4 X
26 19G08525  iE# 4 X M10X25
27 739723 i 4 X
28 21G40316 44T 4 X M5X16
29 12G45005 B 4 X
30 14G14050 12 £ 4 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-57

PN=351



110-58

FPRIFE 5 3R

PUC00437 -UN- ‘

PUC00437

N

TE RS T

110-58 1076 HEE W EIH PC4496 (30-JUL-08)
PN=352



110-59

B 2 T EE =
1
0
7
HE FHE FHE #HE Vo2 7k 6 #it
1 AYC12809 T 1 X
2 YC17001 i e 2 X
3 YC16904 R 1 X RH
4 YC16903 R 1 X LH
5 AYC12764 MAT A 2 X
6 14G14050 i 4 X
7 AYC12654 % 1 X
8 YC10236 TR 1 X
9 736421 TR 1 X
10 AZ19242 T 2 X
11 16G30618 AT 18 X
12 19G08420 B 8 X M8X20
13 12G45008 g 16 X
14 24G00016 g 6 X
15 11G02026 £ 6 X
16 19G02252 2R 4 X M8X80
17 12G45005 g 4 X
18 P42100 BE 6 X
19 03G24349 R 4 X M8X65
20 14G00082 W2 8 X
21 21G08420 j=Xa) 8 X M6X20
22 24G00006 g 8 X
23 12G45006 g 8 X
24 14G14060 i 8 X
25 19G08525 R 2 X M10X25
26 12G45010 g 2 X
27 PK1103H B 8 X
28 16G30622 AT 8 X
29 736984 FEHRER 2 X
30 736523 TR 2 X
31 16G70406 AT 6 X
32 24G00010 g 2 X
33 739723 THRE SR 2 X
34 21G40316 BRET 4 X M5X16

1076 BEA W EIHL PC4496 (30-JUL-08)

110-59
PN=353



110-60

FNEE0T

PUC00438 -UN- w

PUCQ0428

110-60 1076 HEE W EIH PC4496 (30-JUL-08)
PN=354



Bt EFEIEE
1
0
7
HwE FHE FlE #E o2z 6 #E
1 14G00102 12 £ 2 X
2 AYC12585 EKTE 1 X
3 AYC12653 ks 1 X
4 12G45010 oS E] 4 X
5 24G00010 P 2 X
6 03G24425 B2 2 X M10X25
7 733930 SR 5 X
8 21G16312 BRET AR X M5X12
9 24G00005 P AR X
10 12G45005 oS E] AR X
11 14G00052 12 £ AR X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-61

PN=355



110-62

PR E R R R f 3R

PUC00439 -UN- ‘

PUCQO0429

110-62 1076 HEE W EIH PC4496 (30-JUL-08)
PN=356



110-63

Hﬁ*ﬂ’#‘gﬁ*u /%/gi
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AYC10771 SEES 1 X 4#31, 39f1YC13593
2 19G08528 B2 2 X M10X28
3 P49545 BE 3 X
4 P42100 BRE 4 X
5 AYC10781 E=XE 1 X YC12004 o iz i
6 AYC10780 HEXNE 1 X YC12005 o i i
7 AYC11201 B BEAR BT 4k 1 X AZ22780 TR B
8 710639 i s 2 X
9 710418 i s 3 X
10 YC12037 4 )5 2 X
11 H10613 pid 6 X
12 YC12001 i s 3 X
13 19G08451 B2 4 X M8X75
14 12G45008 B hE 10 X
15 14G00082 12 £ 10 X
16 19G02249 B2 4 X M8X65
17 19G02448 B2 6 X M12X60
18 19G02354 B2 4 X M10X90
19 14G25102 12 £ 8 X
20 19G02349 B2 8 X M10X65
21 12G45010 B hE 10 X
22 14G00102 12 £ 10 X
23 19G02350 B2 4 X M10X70
24 19G08640 B2 1 X M12X40
25 14G02129 12 £ 2 X
26 YC14405 o 1 X
27 AYC12598 o 1 X
28 729015 s 1 X
29 19G08520 IR 4 X M10X20
30 19G08420 B2 2 X M8X20
31 YC13595 BRE 5 X
32 11G02240 FF O 2 X
33 24G20030 P 2 X
34 19G02449 B2 6 X M12X65
35 14G25122 12 £ 12 X
36 YC12002 B 6 X
37 PK1103H R 8 X
38 710634 i s 2 X
39 YC13594 BE 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-63

PN=357



110-64

HFE S AT

PUCO00440 -UN- ‘

PUC00440

110-64 1076 HEE W EIH PC4496 (30-JUL-08)
PN=358



Biide EFniEEE
1
0
7
HwE FHE FlE #E o2z 6 #E
1 710914 *H 2 X
2 19G02348 B2 16 X M10X60
3 P49545 BE 8 X
4 AZ23183 h 2 X &§3f710912
5 PK1931H HhE 8 X
6 AZ23184 h 2 X 4351210913
7 YC12003 4 )5 2 X
8 03G04450 B2 4 X M10X70
9 12G45010 B hE 20 X
10 14G00102 12 £ 20 X
11 12G45012 BB 4 X
12 19G08525 B2 6 X M10X25
13 11G02230 FF O 4 X
14 14G00122 12 £ 4 X
15 24G35024 P 4 X
16 19G08420 B2 8 X M8X20
17 12G45008 B hE 8 X
18 19G08630 B2 4 X M12X30
19 14G25102 12 £ 4 X
20 YC12000 i s 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-65

PN=359



110-66

i 78t AR AT AL

PUCD0441 -UN- ‘

PUCQO0441

110-66 1076 HEE W EIH PC4496 (30-JUL-08)
PN=360



110-67

Biide EFniEEE
1
0
7
HwE FHE FHE #E FFAE 6 #E
1 AYC11925 EF S 2 X
2 YC15665 ERT 2 X
3 738446 X 2 X
4 720170 ]’ 2 X
5 16G00832 AT 4 X
6 740124 #H 1 X
7 P49545 BE 2 X
8 YC14361 b 4 X
9 19G02340 by 4 X M10X40
10 YC14360 =ik 2 X
11 14G25102 125 2 X
12 19G08420 by 6 X M8X20
13 12G45008 A E 6 X
14 14G00082 125 6 X
15 AYC11201 #h 1 X
16 26G10832 # 2 X
17 AYC12817 b 2 X
18 00G390206 R G 4 X
19 00GP506 IR 4 X
20 14G25162 125 2 X
21 YC16597 K B 8 X M10X30
22 YC16692 AR 1 X
23 19G08525 by 2 X M10X25
24 19G02346 by 2 X M10X50
25 12G45010 A E 2 X
26 14G00102 125 2 X
27 03G24425 by 6 X M10X25
28 YC14444 by 2 X M16X86
1076 BEA W EIHL PC4496 (30-JUL-08) 110-67

PN=361



110-68

R ATk
PUCD0442 -UN- ‘
14
=
PUC00442
ZEMERSE T
110-68 1076 HEE W EIH PC4496 (30-JUL-08)

PN=362



110-69

Bt EINEEE
1
0
7
#HE FHE FlE #E JFFE 6 &
1 AYC12660 WREE 1 X
2 734303 WRERE 2 X
3 AZ23180 WA E 1 X
4 AYC12677 PR 2 X
5 37G32816 Epi1a) 6 X
6 YC16917 BHER 2 X
7 19G08416 B2 3 X M8X16
8 AYC12394 FF (A 25 20 2 X
9 734294 WEREIH 4 X
10 24G00010 o AR X
11 14G25082 12 £ 4 X
12 03G52335 B2 4 X
13 19G08420 B2 AR X M8X20
14 19G08425 B2 AR X M8X25
15 19G01116 B2 4 X M6X16
16 12G45006 o AR X
17 725904 W 2 X
18 YC16761 W 2 X
19 21G08420 BRET 8 X M6X20
20 YC16749 IR 1 X
21 14G14060 12 £ AR X
22 YC16994 K% 1 X
23 12G45008 o AR X
24 14G00082 12 £ AR X
25 722335 i 2 X
26 37G33613 B BRAT 2 X
27 720443 EIRF M16 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-69

PN=363



110-70

B

PUC00443 -UN- ‘

PUC00442

110-70 1076 HEE W EIH PC4496 (30-JUL-08)
PN=364



110-71

Bt EINEEE
1
0
7
#HE FHE FlHE #E  FAE 6 &2
1 AYC12751 W 1 X
2 AYC10976 W 1 X
3 49G01540 # 2 X
4 11G02250 F O 2 X
5 26G00828 # 2 X
6 YC16687 234 2 X
7 AYC11205 F B 1 X
8 19M7156 125 1 X M10X60
9 741248 KSR 1 X
10 24M7178 o 2 X
11 14G25102 SR £ 1 X
12 AYC12575 BEE 1 X
13 737953 EE 2 X
14 14M7029 125 6 X
15 AYC12574 HET 1 X
16 AZ23212 3 1 X
17 P47232 7K KB 4 X
18 00G390505 Ak 2 X
19 00GP505 e 2 X
20 AZ19843 EATIRE} 2 X
21 710955 Bk 2 X
22 14G02109 125 4 X
23 YC16659 EATIRAT 4 X M10X25
24 03G24320 BRET 6 X M8X20
25 24M7055 g 6 X
26 12M7008 G 6 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-71

PN=365



110-72

ik

PUCO0D444 -UN- ‘

PUC00444 14 13 4

110-72 1076 HEE W EIH PC4496 (30-JUL-08)
PN=366



110-73

1

0

7
HwE FHE FlE #E o2z 6 #E
1 YC10147 FZ 1 X
2 YC10148 iz 1 X
3 744762 iz 1 X
4 737473 FZ 1 X
5 734828 e 1 X
6 YC10144 R 1 X
7 744761 FZ 1 X
8 AYC10131 iz 1 X
9 734099 e 1 X
10 738186 A 1 X
11 YC12444 s 1 X
12 R123461 iz 1 X
13 YC10141 R 1 X
14 746365 R 1 X
15 732190 iz 1 X
16 YC11368 e 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-73

PN=367



110-74

pakg

PUCO0445 -UN- k

SRR AL
g
ey e

PUCQ0445

N

TE RS T

110-74 1076 HEE W EIH PC4496 (30-JUL-08)
PN=368



110-75

Biide EFniEEE
1
0
7
HwE FHE FlE #E o2z 6 #E
1 AS29429 Bk % 1 X
2 AYC10540 B 1 X
3 AZ23212 X8 1 X
4 AYC10538 G % 2 X
AYC10539 X8 1 X
5 AYC12156 B 1 X
6 AYC12647 X3 1 X
7 AS51997 B 1 X
8 AYC12453 B 1 X
9 AYC12427 % 1 X
10 AS43587 [ 9 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 110-75

PN=369



110-76

110-76 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=370



120-A01

Fiz B NARE
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
1- 2
PUC00448 -UN- 2- 4
3- 6
4- 8
5- 10
6- 12
7- 14
8- 16
9- 18
15- 30
21- 41
PUC00446
1076 BEA W EIHL PC4496 (30-JUL-08) 120-A01

PN=371



120-A02

Fiz B NARE
XXXXXXXXXX XK XXX XKXXXK XXX XK KXK XXX XKKXK XXX XK XXKXXXXX RS
10- 20
PUC00447 -UN- 11- 22
12- 24
13- 26
14- 28
16- 32
17- 34
18- 36
19- 38
20- 40
22- 42
23- 44
24- 45
25- 46
11,12
PUC00447 T T
120-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=372



120-1

Hiz S FnREE

B

1076 BEA W EIHL PC4496 (30-JUL-08) 120-1
PN=373



120-2

Hiz S FnREE

RETHEE

PUC00448 -UN- ﬁ

37

PUCQ0448

120-2 1076 HEE W EIH PC4496 (30-JUL-08)
PN=374



120-3

Fiz B NARE
1
0
7
#5  EHE FlHE #E  FHE 6 &
1 AYC11191 FHizze 1 X
2 711406 FF 1 X
3 721059 2] 1 X
4 11M7078 F O 1 X
5 720627 2] 1 X
6 720741 B 1 X
7 19G51135 by 2 X M16X35
8 24M7054 R 2 X 6MM
9 12M5737 BRI 2 X 6MM
10 14M7027 125 2 X M6
11 00GP506 RDE 1 X
12 14M7307 SR AR X M8
13 00G390206 Ak 1 X
14 738395 K B 2 X
15 03M7190 P 3 X
16 12M7008 BRI AR X 8MM
17 14M7029 125 AR X M8
18 720523 ]’ 1 X
19 19M7163 by AR X M8 X 25
20 AZ25442 = 1 X
21 733475 R 2 X
22 YC16927 EiEar S 2 X
23 AYC12961 X AR X
24 AYC12389 X AR X
25 03M7184 by AR X M8X20
26 24M7055 R AR X 8MM
27 19M8049 by 2 X M10 X 80
28 24M7028 i 1 X 10MM
29 14M7140 [E3Es AR X M10
30 AYC12452 2 S 1 X T=38 L=177
31 YC17049 EIMR 44 X
32 16M2525 AT AR X
33 AYC12365 24 1 X T=38X5
34 737952 RN 1 X
35 12M7013 BRI AR X
36 AYC12366 255 1 X T=38
37 19M7162 by AR X M8 X 16
38 720619 U RgR 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-3

PN=375



120-4

Hiz S FnREE

BT RISk

PUCO0449 -UN- “

PUC00449

120-4 1076 HEE W EIH PC4496 (30-JUL-08)
PN=376



120-5

Fiz B NARE
1
0
7
HwE FHE FHE #E  FHE 6 #E
1 AYC12827 FHizze 1 X
2 AYC10840 =ik 1 X
3 733470 X 2 X
4 733445 #h 1 X
5 YC16684 BERD 1 X
6 11G02250 F O 1 X
7 49G01532 # 2 X
8 733471 b 1 X
9 YC16601 = 1 X
10 19Mm7327 by 1 X M10 X 65
11 19M7643 by AR X M8 X 75
12 24M7055 R AR X 8MM
13 12M7008 A B AR X 8MM
14 14M7029 125 AR X M8
15 19M7162 by AR X M8 X 16
16 AYC12829 o 1 X
17 AS51997 o3 1 X T=15.875 L=49
18 AYC12574 ey 1 X T=15.875
19 AYC12575 ey 1 X T=15.875
20 14G25102 BEIR R AR X M10
21 22G36525 EEERAT 2 X M10X25
22 14G02109 125 2 X M10
23 710955 BERD 1 X
24 00GP505 g 2 X
25 00G390205 ik 2 X
26 P47232 K B 4 X
27 03M7185 BRET AR X M8X25
28 03M7054 BRET AR X M8X20
29 YC12810 S 1 X
30 YC16602 e 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-5

PN=377



120-6

Hiz S FnREE

Fizeatk s

PUC00450 -UN- ”
.

PUC00450

N

TE RS T

120-6 1076 HEE W EIH PC4496 (30-JUL-08)
PN=378



120-7

Fiz B NARE
1
0
7
#5  EHE FlHE #2  FAE 6 &
1 11M7031 F O 1 X
2 24M7180 R 1 X 12MM
3 YC15529 & 1 X
4 11M7021 F O 2 X
5 24M7053 g 3 X
6 YC13737 %= 2 X
7 YC17235 #h 1 X
8 34M7033 2] 1 X
9 711807 b 1 X
10 26G00828 # 1 X
11 740936 B 1 X
12 24M7047 R 1 X 12MM
13 14M7031 125 2 X M12
14 YC11969 0 1 X
15 00G180303 Ak 2 X
16 40G00047 4 1 X
17 19M7609 by 1 X M16 X 90
18 YC10447 R B 1 X
19 YC10209 B 1 X
20 H101677 e 1 X
21 YC16393 e 1 X
22 737953 = 1 X
23 YC10418 i 2 X
24 H119710 = 1 X
25 14M7240 125 1 X M24
26 14M7143 125 1 X M24
27 24M7052 R 1 X 24MM
28 14M7140 125 AR X M10
29 12M7013 BEERE AR X
30 738395 K B 2 X
31 00G390206 Ak 1 X
32 03M7190 by AR X M10X20
33 737953 k= 1 X
34 H105584 = 1 X
35 YC12036 # 1 X
36 19Mm7387 by 4 X M12 X 40
37 12M7014 AL E] AR X 12MM
38 14G25122 125 1 X M12
39 YC16666 ERiL 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-7

PN=379



120-8

Hiz S FnREE

iR

PUC00451 -UN- '

25

PUCQO0451

120-8 1076 HEE W EIH PC4496 (30-JUL-08)
PN=380



120-9

Fiz B NARE
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC12465 FHizze 1 X
2 733415 = 1 X
3 YC15895 b 1 X
4 YC16864 e 1 X
5 AZ25442 = 1 X
6 14M7140 125 AR X M10
7 14M7027 125 AR X M6
8 12M7013 AN E AR X 10MM
9 14M7307 125 AR X M8
10 12M7008 AL E] AR X 8MM
11 24M7055 R AR X 8MM
12 19M7163 by AR X M8 X 25
13 737952 R 1 X
14 741726 B 4 X
15 711406 FF 1 X
16 721059 24 1 X
17 11M7078 F O 1 X
18 720627 2] 1 X
19 720619 FET-VS 1 X
20 03M7193 by AR X
21 00G390206 Ak 1 X
22 738395 K 2 X
23 00GP506 g 1 X
24 14M7307 125 AR X M8
25 720742 = 1 X
26 19G51135 by AR X M6X35
27 24M7054 R AR X 6MM
28 12M5737 AL E] AR X 6MM
29 19M7077 IR 2 X M6 X 20
30 24M7028 i AR X 10MM
31 14G02109 125 AR X M10
32 YC17380 i AR X
33 738380 i pE AR X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-9

PN=381



120-10

Hiz S FnREE
ATz gk
PUC00452 -UN-

a
T,
kE

R

o

5,

e

PUCQ0452

120-10

N
4

TR S T

1076 HEE W EIH PC4496 (30-JUL-08)

PN=382



120-11

Hiz S FnREE
1
0
7
#HE EHE WL HE  FHE 6 &
1 AYC12427 4t 1 X T=38, L=157
2 19G52125 HE R 4 X M6X25
3 14M7350 R 4 X M6
4 YC17049 EIMR 20 X
5 YC17410 EIMR 2 X
6 16M2525 AT 36 X
7 AYC12365 ey 1 X T=38 X5
8 AYC12367 ey 1 X T=38
9 AYC12366 ey 1 X T=38
1076 BUBLA W EINL PC4496 (30-JUL-08) 120-11

PN=383



120-12

Hiz S FnREE

TR FHE ARk

PUC00453 -UN- w

PUC00453

120-12 1076 HEE W EIH PC4496 (30-JUL-08)
PN=384



120-13

Fiz B NARE
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AZ31453 WE 1 X
2 AYC12388 W 1 X
3 49G01532 # 1 X
4 733429 X 1 X
5 YC16601 BRI RS 1 X
6 19M7327 by 1 X M10 X 65
7 14M7029 125 AR X M8
8 12M7008 g AR X 8MM
9 24M7055 R AR X 8MM
10 21M7280 BRET AR X M6 X 20
11 12M5737 AN E AR X 6MM
12 14G14060 125 AR X M6
13 19M7162 by AR X M8 X 16
14 21M6689 BRET AR X M8 X 16
15 YC16767 3 B 1 X
16 00G90505 Ak 1 X
17 P47232 Ak B 4 X
18 03M7054 by AR X M8X20
19 00G390205 ik 1 X
20 720198 X 1 X
21 00GP505 RDE 1 X
22 YC16602 e 1 X
23 710955 BERD 1 X
24 22G36522 EEERAT 2 X M10X22
25 14G02109 125 2 X M10
26 AYC12574 ey 1 X T=15.875
27 AYC12156 4t 1 X T=15.875
28 14G25102 BEIR R AR X M10
29 YC13206 [H & 1 X
30 AYC12575 ey 1 X T=15.875
1076 BEA W EIHL PC4496 (30-JUL-08) 120-13

PN=385



120-14

Hiz S FnREE

REBRRAIESEERN

PUCO0D454 -UN- '

PUCQ0454

%

THEREET
120-14 1076 HEE W EIH PC4496 (30-JUL-08)
PN=386




120-15

Fiz B NARE

1

0

7
#5  EHE FlHE #2  FAE 6 &
1 YC16185 o3 1 X
2 34M7070 PR AT 1 X
3 34M7043 PR AT 1 X
4 00G390206 ik 2 X
5 738395 K B 4 X
6 00G390206H  {RE 2 X a7
7 726248 i 2 X
8 733422 G2 2 X
9 19M7643 by 2 X M8 X 75
10 14M7029 125 AR X M8
11 03M7054 BRET AR X M8X20
12 24M7055 R AR X 8MM
13 14M7307 4R A AR X M8
14 YC16866 BES 2 X
15 YC16687 o3 1 X
16 YC13757 #h 1 X
17 49G01532 Eid 1 X
18 03G24420 BRET AR X M10X20
19 12M7013 AL E] AR X 10MM
20 14M7140 125 AR X M10
1076 BEA W EIHL PC4496 (30-JUL-08) 120-15

PN=387



120-16

Hiz S FnREE

AR

PUCO0455 -UN- ‘

PUC00455

N

TE RS T

120-16 1076 HEE W EIH PC4496 (30-JUL-08)
PN=388



120-17

Fiz B NARE

1

0

7
HwE FHE FHE #E o2z 6 #E
1 AYC10856 IRAEE 1 X
2 YC12831 I 2 X
3 YC16924 G2 1 X
4 YC12852 R 1 X
5 AYC10839 X 1 X
6 YC17014 EAY74 AR X
7 19M7288 by AR X M8 X 30
8 YC17414 TR X
9 734467 HIif 3 X
10 19M7167 by AR X M10 X 25
11 14M7140 125 AR X M10
12 24M7028 #H AR X 10MM
13 12M7013 A B AR X 10MM
14 21M6667 BRET AR X M8 X 18
15 14M7029 125 AR X M8
16 24M7055 R AR X 8MM
17 12M7008 AN E AR X 8MM
18 21M7125 BRET AR X M8 X 25
19 19M7163 by AR X M8 X 25
20 21M6668 BRET AR X M8 X 20
21 58G21010 il 2 X
22 14M7027 125 AR X M6
23 740323 G2 1 X
24 12M5737 AN E AR X
25 19M7375 by AR X M6 X 18
26 03M7191 BRET AR X M10X25
1076 BEA W EIHL PC4496 (30-JUL-08) 120-17

PN=389



120-18

Hiz S FnREE

DA A

PUCO04568

UN-

PUC00456

1076 HEE W EIH PC4496 (30-JUL-08)

120-18

PN=390



120-19

iR

1

0

7
HE FE FltE HE FAE 6 HE
1 YC16184 TC B 1 X
2 AYC10537 T 1 X
3 34M7049 PR AT 1 X
2 34M7037 B T [ A 2 1 X
5 34M7054 B A4 1 X
6 34M7044 PR AT 1 X
7 19M7168 2R AR X M10 X30
8 14M7140 iR AR X  MI10
9 12M7013 P8I g AR X 10MM
10 24M7028 g AR X 10MM
11 00G39020 ik 2 X
12 00GP506 (RE 2 X
13 YC16999 BHARIL 2R 1 X
14 735894 BARIE 2R 1 X
15 AZ28083 S 1 X
16 AYC12638 HhAERED 1 X
17 738395 B B 2 X
18 03M7017 B 3 X M10X25
19 26G00828 & 1 X
20 AYC10718 B 1 X
21 733242 Sz 2 X
22 03M7054 2R 1 X M8X20
23 24M7055 g AR X  8MM
24 12M7008 P8I g AR X  8MM
25 14M7029 2 AR X M8
1076 BEA W EIHL PC4496 (30-JUL-08) 120-19

PN=391



120-20

Hiz S FnREE

REEH

PUCO0457 -UN- ‘

PUC00457

%

THEREET
120-20 1076 HEE W EIH PC4496 (30-JUL-08)
PN=392




120-21

Fiz B NARE

1

0

7
HwE FHE FHE #E o2z 6 #E
1 YC12833 = 1 X
2 03M7093 BRET AR X M8X25
3 03M7094 BRET AR X M8X30
4 720367 ST 4 X
5 YC12352 R 4 X M8
6 738785 W 1 X
7 733244 R 6 X
8 AYC12778 pE 1 X
9 24M7055 R AR X 8MM
10 12M7008 AL E] AR X 8MM
11 14M7029 125 AR X M8
12 21G08515 BRET AR X M8X15
13 21M7125 BRET AR X M8 X 25
14 21M6667 BRET AR X M8 X 18
15 732900 bEE 1 X
16 734438 k=4 1 X
17 733379 3 B 1 X
18 19M7169 by AR X M10 X35
19 14M7140 125 1 X M10
20 12M7013 AN E AR X 10MM
21 03M7185 BRET AR X M8X25
22 19M7382 by AR X M10 X 40
23 AYC12741 s 1 X
24 711065 =GR 1 X
25 58G21010 il 2 X
26 YC17002 ElISiZ 3 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-21

PN=393



120-22

Hiz S FnREE

R

PUCO0D458 -UN- k

PUC00458

BEMHERSE T

120-22 1076 HEE W EIH PC4496 (30-JUL-08)
PN=394



120-23

Fiz B NARE
1
0
7
E FHE FHE #E o2z 6 #E
1 AYC10845 ER 1 X
2 YC17092 = 1 X
3 14M7029 125 AR X M8
4 12M7008 AL E] AR X 8MM
5 24M7055 R AR X 8MM
6 21M6667 BRET AR X M8 X 18
7 740389 £ 3 X
YC12832 faseit) 1 X
8 YC17428 B 1 X
9 YC17091 ER 1 X
10 AYC10853 B 1 X
11 YC17426 B 1 X
12 YC17427 [ER 1 X
13 AYC12831 B 1 X
14 YC19044 B 1 X
15 AYC10847 [ER 1 X
16 14M7307 4R A AR X M8
17 E10079 g 2 X
18 19M7274 by 4 X M8 X 70
1076 BEA W EIHL PC4496 (30-JUL-08) 120-23

PN=395



120-24

Hiz S FnREE

R TR

PUCO0459 -UN- k

PUC00459

N

TE RS T

120-24 1076 HEE W EIH PC4496 (30-JUL-08)
PN=396



120-25

Hiz S FnREE
1
0
7
HE FHE FHE #HE ViZiaa 6 &t
1 AYC10848 AEF 2 X
2 19M7284 HE R AR X M8 X 18
3 21M6667 BRET AR X M8 X 18
4 24M7055 R AR X 8MM
5 12M7008 AN E AR X 8MM
6 14M7029 R AR X M8
7 Z40390 AR 2 X
8 21M6689 BRET AR X M8 X 16
9 AYC10509 TR & 1 X
10 YC12196 VLB 1 X
11 03M7184 HE R AR X M8X20
12 AYC10841 3 B 1 X
13 YC17351 = 1 X
14 03M7054 HE R AR X M8X20
15 720367 AR 4 X
16 YC12352 RERIE R} 4 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 120-25

PN=397



120-26

Hiz S FnREE

RANIPE

PUCO0480

UN-

PUCQ0460

1076 HEE W EIH PC4496 (30-JUL-08)

120-26

PN=398



120-27

Fiz B NARE
1
0
7
HE FE L #E  FHE 6 &
1 AYC10906 REWENE 1 X
2 YC17429 Y lovcd=r,1 1 X
3 19G52118 by AR X M6X18
4 24M7054 R AR X 6MM
5 12M7116 R AR X 6MM
6 14G14060 125 AR X M6
7 YC17430 e B3RS EE 1 X
8 AYC11326 ARFE LA SR 1 X
9 YC17446 M LA 1 X
10 AYC11327 BENGET] 1 X
11 YC17101 A LA SR 1 X
12 AYC10938 REWLIEM B 1 X
13 AYC10928 RS 1 X
14 AYC10939 EWEE 1 X
15 740585 bt =g 1 X
16 YC12352 1 g A 2 X
17 720367 AR 2 X
18 740386 e b 1 X
19 21M6667 = AR X  M8X18
20 24M7055 R AR X 8MM
21 12M7008 R AR X 8MM
22 14M7029 125 AR X M8
23 19M7284 by AR X M8 X 18
24 YC13969 =4 1 X
25 YC13981 =4 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-27

PN=399



120-28

Hiz S FnREE

RFEE

PUCOD0481 -UN- k

PUC00461

N

THEREET
120-28 1076 HEE W EIH PC4496 (30-JUL-08)
PN=400




120-29

Fiz B NARE
1
0
7
#HE FHE L #E  FHE 6 &2
1 AYC10846 LER 1 X
2 AYC12786 oF 1 X
3 19M7284 84T AR X  M8X18
4 14M7029 125 AR X M8
5 12M7008 AN E AR X 8MM
6 741407 TR 1 X
7 YC12844 BEMR 1 X
8 YC12850 JEEM 1 X
9 24M7055 R AR X 8MM
10 AYC10843 FEE 1 X
11 AYC10844 FEE 1 X
12 YC17464 FEHR 1 X
13 19M7269 by 1 X M8 X 50
14 741398 PpE 1 X
15 YC16140 R 1 X
16 YC12841 [ER 1 X
17 19M7077 by AR X M6 X 20
18 14M7027 125 AR X M6
19 12M5737 AL E] AR X
20 24M7054 R AR X 6MM
21 741415 JNBRAR 1 X
22 YC17148 R 1 X
23 741401 HER 1 X
24 YC17149 R 1 X
25 19M7163 by AR X M8 X 25
26 14M7307 BHENE T AR X M8
27 YC17463 e 1 X
28 YC12849 =M 1 X
29 741422 THEMR 1 X
30 YC17175 JMBRAR 1 X X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-29

PN=401



120-30

Hiz S FnREE

¥R E

PUCOD482 -UN- a

PUC00462

120-30 1076 HEE W EIH PC4496 (30-JUL-08)
PN=402



120-31

Fiz B NARE
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC10719 W 1 X
2 AZ31512 Eo A 3 X
3 22G36530 EEERAT 3 X M10X30
4 YC12815 e 1 X
5 YC12818 R 1 X
6 YC12809 b=<Eail 1 X
7 AZ23809 PR 1 X
8 722561 P 4 X
9 19M7284 by AR X M8 X 18
10 24M7055 R AR X 8MM
11 12M7008 AN E AR X 8MM
12 14M7029 125 AR X M8
13 24M7085 R 1 X 14MM
14 11G01716 F O 1 X
15 AYC10852 = 1 X
16 740562 e 1 X
17 19M7162 by AR X M8 X 16
18 19M7139 by AR X M8 X 20
19 19G52112 by AR X M6X12
20 24M7054 R AR X 6MM
21 12M5737 AN E AR X 6MM
22 14M7027 125 AR X M6, M6
23 49G01532 # 1 X
24 710955 o3 1 X
25 22G36525 S EHRAT 2 X M10X25
26 14G02109 125 AR X M10
27 00GP505 g 2 X
28 736521 EIEEA 1 X
29 00G390205 & 2 X
30 P47232 K B 4 X
31 03M7018 BRET AR X M8X20
32 AYC10725 [SiE7ali 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-31

PN=403



120-32

Hiz S FnREE

EDIR RN

PUCO0463 -UN- ‘

PUC00462

N

TE RS T

120-32 1076 HEE W EIH PC4496 (30-JUL-08)
PN=404



120-33

Fiz B NARE
1
0
7
HwE FHE FHE #E o2z 6 #E
1 19M7164 by 1 X M8 X 50
2 00GP506 g 2 X
3 00G390206 Ak 2 X
4 14M7509 125 AR X M10
5 12M7013 AN E AR X 10MM
6 738395 K B 4 X
7 03M7307 by AR X M10X25
8 AYC12410 X 1 X
9 YC17372 AR 1 X
10 14M7307 4R A AR X M8
11 24M7053 R 2 X 16MM
12 721325 B 1 X
13 AYC12823 Z 1 X
14 11M7021 F O 1 X
15 AZ22498 ¥ 1 X
16 14M7029 125 AR X M8
17 40G06009 E 1 X
18 24M7055 R AR X 8MM
19 19M7284 by AR X M8 X 18
20 12M7008 g AR X 8MM
21 YC17378 b 1 X
22 733527 AR 2 X
23 26G00828 # 1 X
24 19M7270 by 2 X M8 X 65
25 735956 FEAR 1 X
26 YC16861 4 1 X
27 AZ22509 G2 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-33

PN=405



120-34

Hiz S FnREE

KEMRIE &

PUCO0D484 -UN- ‘

PUCO00464

N

TE RS T

120-34 1076 HEE W EIH PC4496 (30-JUL-08)
PN=406



120-35

Fiz B NARE
1
0
7
#HE FHE L #E  FHE 6 &
1 19M7268 by 2 X M12 X 25
2 AYC12729 R 1 X
3 58G30813 S 1 X
4 AZ27913 E=Y5ll 1 X
5 12M7008 AN E AR X 8MM
6 14M7140 125 AR X M10
7 24M7047 R AR X 12MM
8 12M7014 AN E AR X 12MM
9 14M7031 125 AR X M12
10 738597 F T 12 X
11 19M7180 HE R AR X M10 X 45
12 YC16149 EEA 1 X
13 24M7028 R AR X 10MM
14 12M7013 AN E AR X 10MM
15 737227 tE 1 X
16 14M7029 125 AR X M8
17 12M5737 AN E AR X 6MM
18 14M7027 125 AR X M6
19 738395 B 2 X
20 00G390206 ik 1 X
21 14G25122 EkiteEs 1 X M12
22 34M7044 PR AT 1 X
23 34M7054 PR AT 1 X
24 YC12619 s 1 X
25 00GP506 BOE 1 X
26 03M7017 by AR X M10X25
27 YC17050 HEE 1 X
28 738539 AR 2 X
29 21M5619 4B4T AR X  M6X16
30 19G01216 e AR X M8X16
31 YC17207 WO E 1 X
32 19G52116 e 12 X M6X16
33 AYC10724 Eo A 1 X
34 711095 4 G5 1 X
35 03M7085 by AR X M10X30
36 AYC10720 B 1 X
37 19M7189 by 1 X M12 X 80
1076 BEA W EIHL PC4496 (30-JUL-08) 120-35

PN=407



120-36

Hiz S FnREE

EIAR R

PUCO0485 -UN- ‘

PUC00465

N

TE RS T

120-36 1076 HEE W EIH PC4496 (30-JUL-08)
PN=408



120-37

Fiz B NARE
1
0
7
#5  EHE FlHE #E  FAE 6 &
1 19M7139 by AR X M8 X 20
2 24M7055 R AR X 8MM
3 AZ30351 b 1 X
4 12M7008 AL E] AR X 8MM
5 14M7029 125 AR X M8
6 YC16140 R AR X
7 732264 G2 1 X
8 AYC12637 P 1 X
9 AYC12836 ] 1 X
10 732298 EES 1 X
11 19M7288 by 1 X M8 X 30
12 19M7185 by 1 X M8 X 60
13 737452 k=4 1 X
14 14G25102 125 1 X M10
15 24M7028 R AR X 10MM
16 AZ26365 R 1 X
17 711243 B 2 X
18 YC17380 i 3 X
19 14M7307 EEit3ss 1 X M8
20 222294 = 2 X
21 AYC12881 ERR 1 X
22 37G33616 B URAT AR X
23 720443 iR AR X
24 03M7085 by AR X M10X30
25 738395 K AR X
26 00G390206 Ak 1 X
27 00GP506 g 1 X
28 738380 [ES) 1 X
29 14M7140 [E3Es AR X
30 12M7013 g AR X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-37

PN=409



120-38

Hiz S FnREE

AR AR
PUCO00466

PUC00466

N

THEREET
120-38 1076 HEE W EIH PC4496 (30-JUL-08)
PN=410




120-39

Fiz B NARE
1
0
7
#5  EHE FlHE #E  FAE 6 &
1 AYC12573 ey 1 X T=19.05
2 AYC12572 ey 1 X T=19.05
3 711152 o3 1 X T=18
4 34M7054 PR AT 2 X
5 34G01646 PR AT 2 X
6 14M7140 125 AR X M10
7 12M7013 AL E] AR X 10MM
8 00G390206 Ak 2 X
9 730026 K B X
10 AS29429 3 1 X T=19.05, L=36
11 19M7166 by AR X M10 X 20
12 00GP506 g 2 X
13 YC17391 #h 1 X
14 14M7307 EEit3ss AR X M8
15 12M7008 AN E AR X 8MM
16 24M7055 R AR X 8MM
17 YC16875 b 4 X
18 733527 AE 4 X
19 19M7297 by AR X M8 X 12
20 19M7270 by AR X M8 X 65
21 726248 i 1 X
22 AYC10803 s 1 X
23 S51971 X 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 120-39

PN=411



120-40

Hiz S FnREE

T

PUCO0487 -UN- ‘

PUCO00467
1
0
7
#HE FHE FE #HE Vo2 7k 6 #it
1 14M7029 EY T35 AR X M8
2 24M7055 R AR X 8MM
3 YC12219 P 1 X
4 733410 k=4 1 X
5 YC13543 [EIkE 1 X
6 740441 SR 1 X
7 YC16613 ) 1 X
8 19M7179 by 1 X M10 X 50
9 734438 BES 1 X
10 AYC12842 ] 1 X
11 AYC12410 U MIZER 1 X
12 732900 BRIEAS 1 X
13 14G25102 [E3Es AR X M10
14 223660 U BIsRR 1 X
15 YC17328 =R 1 X
16 AYC12586 T 2 X
120-40 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=412



120-41

Hiz S FnREE

EDIR IR 15 BN

PUCO0468 -UN- ‘

PUC00468

1
0
7
HwE FHE FHE #E o2z 6 #E
1 40G02030 4 1 X
2 YC16150 R AR X
3 711079 BERD 1 X
4 AYC12575 ey 1 X T=15.875
5 14G25102 4R A 1 X
6 AYC12574 ey 1 X T=15.875
7 AYC12647 2 1 X T=15.875, L=123
8 19M7327 IR 1 X M10 X 65
9 741248 BRI 1 X
10 711233 R 1 X
11 YC16146 R 1 X
12 YC14353 TANRET 1 X
13 40M1839 4 1 X
14 AYC12781 o3 1 X
15 14M7307 4R 1 X M8
1076 BEA W EIHL PC4496 (30-JUL-08) 120-41

PN=413



120-42

Hiz S FnREE

AR AR

PUCO0469 -UN- ‘

PUC00469

N

TE RS T

120-42 1076 HEE W EIH PC4496 (30-JUL-08)
PN=414



120-43

Fiz B NARE
1
0
7
HwE FHE FHE #E o2z 6 #E
1 22G36530 S EHRAT 2 X M10X30
2 14M7140 125 AR X M10
3 14M7142 125 1 X M16
4 12M7069 AL E] 1 X 16MM
5 YC10845 k=4 1 X
6 AYC11096 BRI RS 1 X
00G180203 ik 1 X
40G00040 E 1 X
AYC12267 HRE 1 X
7 19M7609 by 1 X M16 X 90
8 14M7029 125 1 X M8
9 12M7008 g 1 X
10 721892 FER 1 X
11 19M7163 by AR X M8 X 25
12 YC10148 A 1 X
13 710880 AR 1 X
14 AYC10841 3 B 1 X
15 AYC11880 PpE 1 X
16 19M7284 by AR X M8 X 18
17 734742 e 1 X
18 24M7055 R AR X 8MM
1076 BEA W EIHL PC4496 (30-JUL-08) 120-43

PN=415



120-44

Fiz B NARE
HREEINE
PUCD0470 -UN- k
PUC00470

1

0

7
e FHE FHE #HE Vo2 7k 6 #it
1 737228 P 1 X
2 YC17040 B 1 X
3 21G08512 BRET AR X M8X12
4 737530 = 1 X
5 12M7008 g AR X 8MM
6 24M7055 R AR X 8MM
7 YC16875 ) 4 X
8 19M7139 by AR X M8 X 20
120-44 11076 B EE UL EIN] PC4496 (30-JUL-08)

PN=416



120-45

iR
EEF-:4
PUC00471 -UN- k
PUC00471

1

0

7
HE FHE FE #HE Vo2 7k 6 #it
1 AYC12822 SHIEL 2 BB 1 X
2 11G02336 ) 2 X
3 44G42554 1 1 X
4 YC16876 B 4 X
5 19M7609 2R 1 X  M16X 90
6 742069 WERE 1 X
7 14G25162 W2 1 X  M16

1076 BEA W EIHL PC4496 (30-JUL-08)

120-45
PN=417



120-46

Hiz S FnREE
SHEIAT
PUC00472 -UN- ‘
PUC00472

1

0

7
HE FHE FHE #HE ViZiaa 6 &t
1 741180 e 1 X
2 AZ30892 bx: 1 1 X
3 24M70532 R 1 X 16MM
4 12M7069 G 1 X 16MM
5 19M7283 HE R 1 X M16 X 35
6 58G30813 T 1 X
7 19M7273 HE R 1 X M12 X 60
8 14G25122 R 1 X  M12
9 AYC12866 oz 1 X
10 YC12154 T 1 X
11 11M7029 FFO8s 1 X
12 45G12248 i 1 X
120-46 11076 B EE UL EIN] PC4496 (30-JUL-08)

PN=418



130-A01

I 23 A i 25
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
1- 2
PUC02032 “UN- - 4
3- 6
4- 8
5- 10
6- 12
10-__ 18
PUC02032
1076 BEA W EIHL PC4496 (30-JUL-08) 130-A01

PN=419



130-A02

1T EE AN i 25
XXXXXXXXXX XK XXX XKXXXK XXX XK KXK XXX XKKXK XXX XK XXKXXXXX RS
7- 14
PUC02033 -UN- 8- 16
9- 17
PUC02033
130-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=420



130-1

Y% 85 Fndin il 25

B

1076 BEA W EIHL PC4496 (30-JUL-08) 130-1
PN=421



130-2

Y% 85 Fndin il 25

R, RERMET]

PUC02034 -UN- ‘

PUCD2034

130-2 1076 HEE W EIH PC4496 (30-JUL-08)
PN=422



130-3

YIRS 25 0 B
1
0
7
E FHE FHE #HE ViZiaa 6 &t
1 AYC12705 =ik 1 X
2 AYC12703 B 1 X LH
3 AYC12704 B 1 X RH
4 19G02330 HE R AR X M10X30
5 12M7013 R AR X 10MM
6 24M7178 R AR X 10MM
7 14M7140 R AR X M10
8 19M7179 HE R AR X M10 X 50
9 710999 it 2 X
10 24M7053 R AR X 16MM
11 735305 B 2 X
12 735306 =) 1 X LH
735307 =) 1 X RH
13 34M7029 FFO8s 2 X
14 AYC12708 =] 1 X LH
AYC12707 =] 1 X RH
15 735266 PR 2 X
16 34M7093 A 2 X
17 735271 R 2 X
18 24G20014 R AR X 14MM
19 19M7284 HE R AR X M8 X 18
20 12M7008 R AR X 8MM
21 14M7029 R AR X M8
22 735226 T 1 X
23 J16931 i 1 X
24 24G20014 R AR X 14MM
25 19M7394 HE R AR X M16 X 25
26 12M7069 R AR X 16MM
27 735241 TiH 47 X
28 24M7053 R AR X 16MM
29 12M7014 R AR X 12MM
30 735314 & 4 X
31 735313 R 4 X
32 24M7180 R AR X 12MM
33 03M7199 HE R AR X M12X35
34 19M7166 HE R AR X M10 X 20
35 14G02109 R AR X M10
36 735244 PR 1 X
37 YC16976 M 1 X
38 19M7139 HE R AR X M8 X 20
39 19M7268 HE R AR X M12 X 25
40 AYC12701 b 1 X
41 E39529 FIH 2 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 130-3

PN=423



130-4

Y% 85 Fndin il 25

VIR RE N

PUC02035 -UN- k

PUCD2035

130-4 1076 HEE W EIH PC4496 (30-JUL-08)
PN=424



130-5

I 23 A i 25
1
0
7
#5  EHE FlHE #E  FAE 6 &
1 AYC12495 LEEH A 1 X EEE3-7
2 50G01054 S 1 X
3 742176 TR 48 X
4 742175 k=4 48 X
5 735217 R 48 X
6 19M7658 by AR X M10 X 50
7 14G25102 125 AR X M10
8 AYC12722 7K KB 2 X A9
9 735844 5 2 X
10 AYC12721 HhAREE 2 X 400G111209
11 AZ24834 PpE 1 X
12 735845 4 2 X
13 AYC12723 7K KB 2 X 12, 14
14 58M5573 SHIAR 2 X
15 24M7028 R AR X 10MM
16 711632 R 1 X
17 19M7167 by AR X M10 X 25
18 12M7013 R AR X 10MM
19 24M7178 R AR X 10MM
1076 BEA W EIHL PC4496 (30-JUL-08) 130-5

PN=425



130-6

Y% 85 Fndin il 25

REESR

PUC02038 -UN- ‘

PUCD2036

N

TE RS T

130-6 1076 HEE W EIH PC4496 (30-JUL-08)
PN=426



130-7

I 23 A i 25
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC12709 WEZE 1 X
2 Z35309 2] 2 X
3 L18955 2] 2 X
4 AYC12706 1+ 2 X
5 24M7051 R 2 X
6 34M7033 2] 2 X
7 735311 T 2 X
8 19M7180 by AR X M10 X 45
9 19M7181 by AR X M10 X 55
10 12M7013 R E AR X 10MM
11 14M7140 125 AR X M10
12 729770 k= 8 X
13 YC12960 Pk 1 X RH
14 19Mm7327 by AR X M10 X 65
15 24M7178 R AR X 10MM
16 19M7156 by AR X M10 X 60
17 735279 e 1 X
18 34M7059 24 1 X
19 34M7038 2] 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 130-7

PN=427



130-8

Y% 85 Fndin il 25

HNSEEREE

PUC02037 -UN- “

PUC02037

N

THEREET
130-8 1076 HEE W EIH PC4496 (30-JUL-08)
PN=428




130-9

I 23 A i 25
1
0
7
#5  EHE FlHE #2  FAE 6 &i
1 AZ24324 B 2 X
2 19M7163 by AR X M8 X 25
3 12M7008 i AR X 8MM
4 14M7029 125 AR X M8
5 34M7033 24 AR X
6 735280 BT 2 X
7 24G00022 #H AR X
8 L18955 2] 2 X
9 21M7125 by AR X M8 X 25
10 AZ31523 B 1 X
11 19G0212 by AR X M6X20
12 12M7116 R AR X 6MM
13 14M7027 125 AR X M6
1076 BEA W EIHL PC4496 (30-JUL-08) 130-9

PN=429



130-10

Y% 85 Fndin il 25

ik

PUC02038 -UN- ‘

PUCD2038

N

THEREET
130-10 1076 HEE W EIH PC4496 (30-JUL-08)
PN=430




130-11

YIRS 25 0 B
1
0
7
HE FHE FHE #HE ViZiaa 6 &t
1 AYC12855 FEHR 1 X
2 735336 FEHR 2 X RH
3 735337 ET 3 X LH
4 735338 ER 1 X RH
5 735339 B 1 X LH
6 740293 M 1 X RH
7 740294 M 1 X LH
8 735335 M 1 X
9 19M7139 HE R AR X M8 X 20
10 12M7008 R AR X 8MM
11 14M7029 R AR X M8
12 24M7055 R AR X 8MM
13 24M7207 R AR X 8MM
14 19G08320 HE R AR X M6X20
15 12M5737 R AR X 8MM
16 14M7027 R AR X M6
17 726250 R 18 X
18 AYC11478 Eraked 1 X
1076 BUBLA W EINL PC4496 (30-JUL-08) 130-11

PN=431



130-12

Y% 85 Fndin il 25

PR

PUC02039 -UN- k

13 14 12 11 &

oees,

PUCD2039

130-12 1076 HEE W EIH PC4496 (30-JUL-08)
PN=432



130-13

I 23 A i 25
1
0
7
HwE FHE FHE #E o2z 6 #E
1 YC13567 e 1 X
2 YC16975 7+ 1 X
3 YC16977 ks 1 X
4 AYC12714 e 1 X LH
AYC12713 e 1 X RH
5 741116 FEHR 1 X
6 AYC12710 R 1 X
7 19M7139 by AR X M8 X 20
8 24M7055 R AR X 8MM
9 12M7008 i AR X 8MM
10 14M7029 125 AR X M8
11 14M7027 125 AR X M6
12 12M5737 R AR X 6MM
13 21M5619 by AR X M6 X 16
14 726250 i 2 X
15 19M7284 by AR X M8 X 18
16 735227 R 1 X
17 21M6668 by AR X M8 X 20
18 19M7162 by AR X M8 X 16
19 19M7163 by AR X M8 X 25
20 YC17381 #ri2 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 130-13

PN=433



130-14

Y% 85 Fndin il 25

ERSIR, AR, KER
PUC02040 -UN-

14

15

S

S as LN
50454443

PUC02040

130-14

S

TE RS T

At

1076 HEE W EIH PC4496 (30-JUL-08)
PN=434



130-15

YIRS 25 0 B

1

0

7
#HE EHE WL HE  FHE 6 &
1 AYC11815 FHRE 1 X
2 19G08676 B 1 X M12X200
3 47M7003 IR E 1 X 12MM
4 14M7031 R 1 X M12
5 YC15811 5 I 1 X
6 YC15810 B\ g 1 X
7 YC17198 EAF 2 X
8 11G01726 T8 2 X
9 03G44753 B 2 X M16X85
10 24G20016 #E 2 X 16MM
11 AYC12895 TR 1 X
12 YC12122 k=4 1 X
13 AYC10541 BRI RS 1 X
14 711632 S 1 X
15 14M7031 R 2 X M12
16 Z44742 FLEY 1 X
17 50G01054 3t 1 X
18 19M7318 HE R 4 X M6 X 30
19 726250 #E 2 X 6MM
20 12M5737 PEE 4 X 6MM
21 14M7027 R 4 X M6
22 AYC10545 F B 1 X
23 12M7069 ks 3 X 16MM
24 14M7142 R 3 X M16
25 24M7053 F B 1 X 16MM
26 YC17158 k=4 2 X
27 744762 R 1 X
28 58M5573 SHIAR 2 X
29 YC12618 H[E AR X
30 40M1828 i 1 X
31 24M7028 R 4 X 10MM
32 19M7168 B 4 X MI10X 30
33 24M7028 HE 1 X 16MM
34 12M7013 PEE 6 X 12MM
35 14M7140 R 4 X M10
36 AYC12500 s 1 X
37 745009 # 2 X
38 YC16739 ks 2 X
39 11M7024 FFO8s 1 X
40 AYC12893 P2 1 1 X
41 19M7169 HE R 2 X M10 X 35
42 Z44715 M 1 X
43 14M7029 B 3 X M8
a4 12M7008 HE 3 X  8MM
45 24M7055 R 3 X 8MM
46 19M7163 HE R 1 X M8 X 25
47 00G1205 Gk 2 X
48 744761 A 1 X
49 711564 R 1 X
50 19M7288 B 2 X M8X30
1076 BUBLA W EINL PC4496 (30-JUL-08) 130-15

PN=435



130-16

Y% 85 Fndin il 25

RHIPE

PUC02041 -UN- “

PUC02041
1
0
7
e FHE FHE #E o2z 6 #E
1 AZ24374 ) 1 X
2 735396 oz 1 X
3 AYC12416 = 1 X
4 734876 ) 1 X
5 AZ24370 G2 1 X
6 19M7286 by AR X M6 X 25
7 726250 g 5 X
8 12M5737 R AR X 6MM
9 14M7027 125 AR X M6
10 19M7560 by AR X M6 X 16
11 19M7139 by AR X M8 X 20
12 24M7055 R AR X 14MM
13 12M7008 R AR X 8MM
14 14M7029 125 AR X M8
130-16 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=436



130-17

I 23 A i 25
REES
PUC02042 -UN-
15
10
9
8
7 7
2 6
8
9
10
5 -1
11
12
13 4
14
PUC02042
1
0
7
#5  EHE FlHE #E  FAE 6 &
1 AYC10735 W DR 1 X ASSY
2 YC12873 [ SE 4R 1 X
3 YC12875 FRAT AR 1 X
4 YC12874 [ M 1 X
5 L55078 R 1 X
6 AZ34292 Fr 1 X
7 19M8078 by 2 X M4 X 16
8 24M7117 R 2 X 6MM
9 12M7063 i 2 X 4MM
10 14G14040 125 2 X M4
11 14G14060 [E3Es 1 X M6
12 12M5737 R 1 X
13 24M7054 R 1 X
14 21M5619 by 1 X M6 X 16
15 AYC10640 B 4% 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 130-17

PN=437



130-18

Y% 85 Fndin il 25

Pkl

PUC02043 -UN- “

PUCO002043 3
1
0
7
e FHE FHE HE Vo2 7k 6 #it
1 AZ25385 g 2 X
2 725462 P 2 X
3 734398 =) 2 X
Z YC16992 [ 2 X
130-18 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=438



140-A01

3

=

BB

10,.9,9,9,0.9.9.9,9.0,0.9.9,0,9,0,0.9,0,0,0,9,0.9,9,0,0.0.9,9,.9,0,.0.0.9,0,0,0.9.9,0,0,0.0.0.0,.0,¢

1-

S-

12
14
22
27

3-
8-
9-
13-
14-

SUN-

2UCo0477

PUC00477

140-A01

PN

1076 BEA W EIHL PC4496 (30-JUL-08)

439



140-A02

XXXXXXXXXKXXXXXK XX XXX EXX KX KKK XXX KX KKK XXX XK XXX X XXX R
5- 6
PUC00478 “UN- 10- 16
11- 18
12- 20

s

it ///,{//
45
P G %/

4

PUC00478

140-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=440



140-1

e BREHRE

PUC00479 -UN- w

é
PUC00479

1

0

7
HwE FHE FHE #E o2z 6 #E
1 S40340 T 1 X A
2 AS38028 #Hkae 1 X (A
3 S40341 iR 1 X (A
4 S25678 4% @16-@25 2 X (B)
5 S40203 BE K 2 X (B)
6 YC10004 4% 1 X (A
7 14M7027 35 4 X (A)
8 12M7116 g 4 X (A) MM
9 24M7054 g 8 X (A 6MM
10 S41141 R 1 X (A)
11 19M6614 ey 4 X (A) M6 X 12
12 S41142 R 1 X (A)
(A) 2064 F1 2066 55 # B a8
(B) 2066 == i Hi s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-1

PN=441



140-2

=i
EAERRER
PUC00480 -UN- ‘
PUC00480
1
0
7
HE FHE FHE #HE ViZiaa 6 &t
1 AS38028 BRI 1 X (A
2 AS38189 A 1 X A

(A) 2064 F1 2066 =7 # Bk i

140-2

1076 HEE W EIHL PC4496 (30-JUL-08)
PN=442



140-3

PUC00481 -UN- w

PUC00481
1
0
7
#HE FHE FlHE #E  FAE 6 &
1 AS38048 REk 1 X (A
2 AS38193 Reriak 1 X A
3 AS38045 Tl 1 X ®
4 S40206 i 1 X A
5 YC12601 145 @60-280 1 X (A
6 19M6614 e 2 X (A)M6 X 12
7 24M7054 R 2 X (A) 6.400 X 12 X 1.600 MM
8 12M7116 B 2 X A
9 14M7027 BB} 2 X (A
(A) 2064 F1 2066 55 # B 128
1076 BEA W EIHL PC4496 (30-JUL-08) 140-3

PN=443



140-4

EHEAEEE

UN-

PUCO00482

PUCD0482

1076 HEE W EIH PC4496 (30-JUL-08)

140-4

PN=444



140-5

=i
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AS38039 Beleik 1 X (A
2 AS38192 Beeiek 1 X (A
3 AS38044 FEAERL 1 X (A
4 YC10750 TR 1 X (A)
5 YC17502 = 1 X (A)
6 YC10013 ST 2 X (A
7 19M7169 e 2 X (A) M10 X 35
8 24M7028 i 4 X (A) 10.500 X 20 X 2 MM, 10MM
9 12M7013 g 6 X (A 10MM
10 14M7140 35 2 X (A)
11 S10464 S 1 X (A)
12 19M7166 P2 4 X (A) M10 X 20
(A) 2064 F1 2066 == i 4 B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-5

PN=445



140-6

% EERR

PUCOD0483 -UN- “

PUCO00483
1
0
7
e FHE FHE #E o2z 6 #E
1 AS38042 AikkE 1 X (A)
2 AS38192 Bk 1 X (A)
(A) 2064 F1 2066 5514 H 28
140-6 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=446



140-7

B

1076 BEA W EIHL PC4496 (30-JUL-08) 140-7
PN=447



140-8

EaEAEEE

PUCO00484 -UN- “

PUCD0484

N

TE RS T

140-8 1076 HEE W EIH PC4496 (30-JUL-08)
PN=448



140-9

=i
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AS38162 FHRE 1 X (A)
2 14M7140 i 6 X (A) M10
3 S40210 R 1 X (A
4 19M7166 e 1 X (A) M10 X 20
5 24M7028 g 7 X (A) 10MM
6 12M7013 g 6 X (A 10MM
7 19M7169 e 3 X (A) M10 X 35
8 AS38044 FE4EHL 1 X (A
9 YC17502 = 1 X (A)
(A) 2064 F1 2066 == i 4f B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-9

PN=449



140-10

TR

PUCO0485 -UN- ﬁ

PUC00485

140-10 1076 HEE W EIH PC4496 (30-JUL-08)
PN=450



140-11

=i
1
0
7
#5  EHE FlHE #E  FAE 6 &
1 AS31828 FHRE 1 X (A)
2 AS38175 FHRE 1 X (A)
3 119386 g 3 X (A
4 11M7015 ET] 3 X (A)
5 19M7288 2R 5 X (A)M8 X30
6 24M7055 g 10 X (A) 8MM
7 12M7088 g 5 X (A 8MM
8 14M7029 B 5 X (A M8
9 14G02129 it 1 X (A)M12
10 24M7047 R 2 X (A) 13 X 24 X 2.500 MM, 12M
11 14M7031 i 4 X (A) M12
12 734825 B 1 X (A)
13 YC17531 L= 1 X (A)
14 734828 = 1 X (A)
15 AZ24263 BRRED A 1 X (A)
16 YC17530 L= 1 X (A)
17 24M7180 R 1 X (A) 13 X 37 X 3 MM, 8MM
18 S41185 [F4R 1 X (A)
19 S31837 R 1 X (A
20 19M7189 2R 1 X (A)M12X 80
21 S38351 PR 1 X (A
22 731550 BB EE 1 X (A
(A) 2064 F1 2066 == i 4 B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-11

PN=451



140-12

SRR AR

PUCO0488 -UN- '

PUC00486

N

TE RS T

140-12 1076 HEE W EIH PC4496 (30-JUL-08)
PN=452



140-13

=i
1
0
7
e EHE WL #E  FE 6 &1
1 14G00082 W2 9 X (A M8
2 S40912 R 2 X (A
3 AS40909 EBRIEL 2 X (A
4 721232 hERE 2 X (A)
5 AS38169 FHRE 2 X (A)
6 119386 g 2 X (A
7 11M7015 ET] 2 X (A)
8 S38336 B 1 X (A
9 34G00540 £ 1 X (A
10 YC17501 = 2 X (A)
11 S38335 B 1 X (A
12 22M1729 V24T 1 X (A) M8X20
13 YC17500 = 2 X (A)
14 $38334 g 1 X (A
15 03M7128 2R 4 X (A) M8X20
16 S38362 BB 4 X (A)
17 24M7055 g 4 X (A) 8MM
18 00G390205 HhR 2 X (A
19 12M7008 g 1 X (A 8MM
(A) 2064 F1 2066 == i 4 B s
1076 BUBLA W EINL PC4496 (30-JUL-08) 140-13

PN=453



140-14

RBEER

PUCO0487 -UN- '

PUC00487

BEMHERSE T

140-14 1076 HEE W EIH PC4496 (30-JUL-08)
PN=454



140-15

=i
1
0
7
- FHE FE #HE ViZiaa 6 &t
1 19M7139 e 4 X (A) M8 X 20
2 12M7008 g 4 X (A 8MM
3 YC16210 g 4 X (A
4 S38358 R 1 X (A
5 $38337 B 2 X (A
6 $38357 Bk 3 X (A
7 49G00432 g 3 X (A
8 49G01450 gt 1 X (A
9 $38323 G2 4 X (A
10 $38330 i 4 X (A)
11 $38328 P 2 X (A
12 00G180204 Ak 4 X (A
13 S38329 i 1 X (A
14 $38343 g 1 X (A
15 49G00436 gt 1 X (A
16 S38339 AR 1 X (A)
17 $38356 Bk 1 X (A
18 S38371 EER 2 X (A)
19 AS38170 RSB 2 X (A)
20 19G52112 2R 12 X (A) M6X12
21 24M7055 g 8 X (A) 8MM
22 14M7029 W2 8 X (A M8
23 12M7116 g 12 X (A 6MM
(A) 2064 F1 2066 == i 4 B s
1076 BUBLA W EINL PC4496 (30-JUL-08) 140-15

PN=455



140-16

% R SRR

PUCO0D488 -UN- '

PUCD0488

N

TE RS T

140-16 1076 HEE W EIH PC4496 (30-JUL-08)
PN=456



140-17

=i
1
0
7
% FHE L #E  FHE 6 &2
1 19M7288 B 1 X (A)M8 X 30
2 24M7055 g 13 X (A) 8MM
3 12M7008 E 13 X (A 8MM
4 14M7029 35 10 X (A) M8
5 19M7139 ey 11 X (A) M8 X 20
6 $38348 AR 1 X (A
7 AS41179 FHRE 1 X (A)
8 AS38042 AikkE 1 X (A)
9 19M7163 P2 1 X (A) M8 X 25
10 S41150 R 1 X (A)
11 AYC11496 [T 1 X (A)
12 AS38158 FHEE 1 X (A)
13 AS38176 FHRE 1 X (A)
(A) 2064 F1 2066 == i 4 B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-17

PN=457



140-18

=i

IEsE B4R
PUC00489 -UN- '
9
8
7
PUC00489
ZEMERSE T
140-18 1076 HEE W EIH PC4496 (30-JUL-08)

PN=458



140-19

=i
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AZ21454 EEEN 1 X (A)
2 739668 FEHER 1 X (A
3 AS41181 W BEH IR L 1 X (A
4 AYC10871 EEXCR 1 X (A)
5 738597 R 12 X (A
6 03M7192 B 2 X (A)M10X30
7 24M7028 g 2 X (A) 10MM
8 12M7013 g 2 X (A 10MM
9 14M7140 s 2 X (A) M10
10 00G180203 A& 2 X (A
11 40M1823 4 1 X (A)
12 21M7094 BR4T 12 X (A) M6 X 16
13 24M7054 g 18 X (A) MM
14 12M7116 g 18 X (A) MM
15 14M7027 i 12 X (A) M6
16 03M7068 by 6 X (A) M6X20
17 AYC10870 e 1 X (A
(A) 2064 F1 2066 == i 4 B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-19

PN=459



140-20

=i

)
= i

ERER

UN-

PUCO0490

PUC00490

PN=460

1076 HEE W EIH PC4496 (30-JUL-08)

140-20



140-21

=i
1
0
7
#5  EHE FlHE #2  FAE 6 &
1 S41150 R 1 X (A)
2 AS38177 WHURE 1 X (A)
3 S41183 R 1 X (A
4 AS41179 FHRE 1 X (A)
5 $38348 R 1 X (A
6 19M7139 by 3 X (A) M8 X 20, M8X20
7 24M7055 g 5 X (A) 8MM
8 12M7008 g 5 X (A
9 14M7029 it 4 X (A M8
10 19M7298 2R 1 X (A)M8 X35
11 24M7207 g 1 X (A) 8MM
12 19M7163 P2 1 X (A) M8 X 25
13 19M6614 ER 6 X (A)M6 X 12
14 12M7116 g 6 X (A) MM
15 24M7054 g 6 X (A) MM
(A) 2064 F1 2066 == i 4l B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-21

PN=461



140-22

AR XL

PUC00491 -UN- ‘

PUC00491

N

TE RS T

140-22 1076 HEE W EIH PC4496 (30-JUL-08)
PN=462



140-23

=i
1
0
7
#HE FHE L #E  FHE 6 &2
1 S25678 %% @16-025 4 X A
2 $40203 RE K 2 X (A
3 YC10019 3Lk 2 X (A
4 YC10010 1/2 53k 2 X (A
5 AYC10001 1/2 4% & DN10 2 X (A
6 YC10000 1/2 f kL 4 X (A)
7 YC10018 Bk 1 X (A)
8 YC10020 3Lk 1 X A
9 YC10013 EIT 2 X (B
10 14M7027 35 2 X (B) M6
11 12M7116 g 2 X (B) 6MM
12 24M7054 g 4 X (B) 6MM
13 19M6614 B 2 X (B) M6 X 12
14 19M7139 B 3 X (A)M8 X 20
15 24M7207 g 3 X (A) 8MM
16 YC12376 BIT 3 X (A
17 24M7055 g 3 X (A) 8MM
18 12M7008 g 3 X (A 8MM
19 14M7029 e 3 X (A M8
(A) 2064 F1 2066 == i 4 B s
(B) 2066 == {5 E #28
1076 BEA W EIHL PC4496 (30-JUL-08) 140-23

PN=463



140-24

KER

PUCO0492 -UN- ‘

PUC00492

%

THEREET
140-24 1076 HEE W EIH PC4496 (30-JUL-08)
PN=464




140-25

=i
1
0
7
HwE FHE FHE #E o2z 6 #E
1 AYC11158 IR 2SR 1 X (A)
2 AS46855 Ak A 1 X (A
3 YC16954 B4k R 2 X (A
(A) 2064 F1 2066 {7 H #h i
1076 BEA W EIHL PC4496 (30-JUL-08) 140-25

PN=465



140-26

EiR

§
PUC00493 -UN- ‘

PUC00493

N

THEREET
140-26 1076 HEE W EIH PC4496 (30-JUL-08)
PN=466




140-27

=i
1
0
7
HwE FHE FHE #E o2z 6 #E
1 19M7139 e 4 X (A) M8 X 20
2 24M7055 g 8 X (A 8MM
3 12M7008 g 4 X (A 8MM
4 14M7029 35 4 X (A) M8
5 S38396 R 1 X (A
6 S38397 R 1 X (A
7 S45110 R 1 X (A)
(A) 2064 F1 2066 == i 4 B s
1076 BEA W EIHL PC4496 (30-JUL-08) 140-27

PN=467



140-28

=i

140-28 1076 HEE W EIHL PC4496 (30-JUL-08)
PN=468



150-A01

BHEOWES
XXXXXXXXHXXXXKXXXKHXXXXHXXKKXX XXX XX KXX XXX XK XHXXX XXX =3I
1- 1
PUC00473 -UN- 2- 2
3- 4
PUCD0473
1076 BEA W EIHL PC4496 (30-JUL-08) 150-A01

PN=469



150-A02

HEHEgES
BE
150-A02 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=470



150-1

it L E

EER

PUC00474 -UN- '

PUC00474

1

0

7
#HE FHE FlHE #E  FHE 6 &
1 AS40241 LIRS 1 X
2 19M7494 by 2 X M12X70
3 24M7180 i 2 X 12MM
4 YC12030 [iER7S 2 X
5 12M7014 R 2 X 12MM
6 14M7031 125 2 X M12
1076 BEA W EIHL PC4496 (30-JUL-08) 150-1

PN=471



150-2

it L E

&7

PUCO0475 -UN- a

PUC00475

N

TE RS T

150-2 1076 HEE W EIH PC4496 (30-JUL-08)
PN=472



150-3

EEEES
1
0
7
HE FE FltE HE FAE 6 HE
1 14M7140 2 AR X MI10
2 12M7013 g AR X 10MM
3 AYC11214 FHEE 2 X
4 AYC11215 EXHEL 1 X
5 24M7028 g AR X 10MM
6 19M7167 B AR X MI10 X 25, M10X25
7 19M7170 2R 6 X M10 X 50, M10X50
8 AS40249 FEESE 1 X
9 YC13798 B 1 X
10 24M7055 g 3 X 8.400 X 16 X 1.600 MM, 8MM
11 19M7163 g 3 X M8 X 25, M8X25
12 12M7008 g 3 X  8MM, 8MM
13 14M7029 e 3 X
14 S40239 FEEBR 1 X
15 AYC11216 EXEL 1 X
16 S40240 FEER 1 X
17 729770 EES 4 X 11X 15.770 X 29 MM
18 AS40241 EREE 1 X
19 YC16367 e 2 X
1076 BEA W EIHL PC4496 (30-JUL-08) 150-3

PN=473



150-4

it L E

&7

PUC00478 -UN- “

PUCD0476

150-4 1076 HEE W EIH PC4496 (30-JUL-08)
PN=474



150-5

BHEWES
1
0
7
#HE FHE FlHE #E  FAE 6 &
1 22G36425 BRET 1 X M8X25
2 14M7029 125 5 X M8
3 49G00530 # 1 X
4 AS40355 IEEEL 1 X
5 24M7044 R 2 X 12MM
6 11M7020 2] 2 X
7 AYC11220 BHEE 1 X
8 14M7031 125 1 X M12
9 AYC11221 BATES 1 X
10 S40405 R 1 X
11 S40358 FHR 3 X
12 19M7077 by 20 X M6 X 20, M6X20
13 24M7054 R 20 X 6.400 X 12 X 1.600 MM, 6MM
14 14M7027 125 20 X M6, M6
15 12M7116 R 20 X 6MM
16 S40385 IR 1 X
17 AS40335 YRS 1 X
18 AS40334 EFEEIRLY 1 X
19 AS40246 EFIVEE 1 X
1076 BEA W EIHL PC4496 (30-JUL-08) 150-5

PN=475



150-6

HEHEgES
BE
150-6 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=476



160-1

1076 BIBR S UL EIHL
wWEE3I
FHE HwE i FHE e i FHE E i
AD19456 7 90-31 AS38042 1 140-6 AYC10165 11 40-5
AH130127 30 30-17 AS38042 8 140-17 AYC10169 1 40-11
AH14880 1 30-13 AS38044 3 140-5 AYC10174 3 60-2
AH148879 1 30-13 AS38044 8 140-9 AYC10175 27 50-15
AH161463 1 30-14 AS38045 3 140-3 AYC10223 2 90-43
AH18240 33 50-15 AS38048 1 140-3 AYC10230 2 90-45
AH20868H 1 50-15 AS38158 12 140-17 AYC10488 4 40-5
AH20868H 7 110-25 AS38162 1 140-9 AYC10488 9 90-7
AH21815 20 50-17 AS38165 2 90-44 AYC10489 8 80-29
AH81622 21 50-23 AS38169 5 140-13 AYC10504 16 90-33
AHB86809 8 110-23 AS38170 19 140-15 AYC10507 8 90-33
AH86809 15 110-25 AS38175 2 140-11 AYC10509 14 90-33
AH87130 7 50-7 AS38176 13 140-17 AYC10509 9 120-25
AL62707 13 40-5 AS38177 2 140-21 AYC10531 14 30-17
AM3098T1 19 60-15 AS38189 2 140-2 AYC10537 2 120-19
AR26746 2 60-17 AS38192 2 140-5 AYC10538 2 100-9
AR90986 .. 70-12 AS38192 2 140-6 AYC10538 4 110-75
AS20141 9 70-19 AS38193 2 140-3 AYC10539 3 100-9
AS20189 20 60-7 AS38204 6 40-9 AYC10539 4 110-75
AS20190 13 60-7 AS38676 8 90-43 AYC10540 1 100-11
AS20195 14 60-7 AS39837 2 110-25 AYC10540 17 100-21
AS20284 2 90-13 AS40107 2 90-25 AYC10540 2 110-75
AS20287 24 70-31 AS40241 1 150-1 AYC10541 6 100-3
AS20288 10 70-31 AS40241 18 150-3 AYC10541 22 100-17
AS20311 2 70-47 AS40246 19 150-5 AYC10541 13 130-15
AS20312 1 70-47 AS40249 8 150-3 AYC10543 1 100-9
AS20351 17 70-43 AS40334 18 150-5 AYC10545 22 130-15
AS20393 21 90-33 AS40335 17 150-5 AYC10547 10 30-17
AS21340 18 90-31 AS40355 4 150-5 AYC10548 1 50-5
AS24707 2 90-33 AS40477 1 110-7 AYC10550 13 60-5
AS24774 2 30-3 AS40524 21 30-17 AYC10551 14 60-5
AS27200 1 90-33 AS40558 2 30-21 AYC10552 1 50-24
AS27201 25 90-33 AS40559 1 30-21 AYC10555 29 90-21
AS28078 12 90-17 AS40670 7 70-15 AYC10570 2 50-25
AS28863 17 70-5 AS40672 1 70-25 AYC10571 1 50-25
AS28884 16 70-5 AS40674 2 70-25 AYC10572 19 70-13
AS29429 1 110-75 AS40676 1 70-17 AYC10573 19 70-25
AS29429 10 120-39 AS40678 1 70-21 AYC10576 7 70-19
AS29677 5 40-19 AS40909 3 140-13 AYC10577 8 70-17
AS29678 15 40-15 AS41179 7 140-17 AYC10581 1 70-10
AS29688 8 40-5 AS41179 4 140-21 AYC10582 15 90-13
AS29690 2 90-47 AS41181 3 140-19 AYC10583 15 70-31
AS30924 4 70-23 AS41217 1 90-48 AYC10584 14 70-31
AS31156 3 90-33 AS41218 2 90-48 AYC10585 2 40-5
AS31326 4 40-11 AS41954 21 30-17 AYC10587 2 50-15
AS31828 1 140-11 AS43362 1 90-15 AYC10588 7 50-15
AS32232 7 40-15 AS43587 5 110-37 AYC10592 3 90-11
AS32248 10 40-5 AS43587 10 110-75 AYC10593 22 90-31
AS32311 . 50-23 AS44177 1 80-21 AYC10594 19 90-31
AS32383 2 70-19 AS44399 1 90-11 AYC10599 18 70-5
AS32732 1 70-13 AS46855 2 140-25 AYC10601 9 70-3
AS32742 17 70-27 AS46969 10 50-11 AYC10631 16 40-15
AS32749 10 70-27 AS46970 9 50-11 AYC10635 20 110-23
AS32839 10 70-13 AS50201 7 40-9 AYC10636 16 110-23
AS32950 10 70-39 AS50393 6 90-7 AYC10637 14 110-23
AS32950 18 70-43 AS50710 1 90-29 AYC10640 15 130-17
AS32966 1 70-44 AS51997 7 110-75 AYC10648 3 40-3
AS32967 15 70-37 AS51997 17 120-5 AYC10649 18 40-15
AS32967 2 70-44 AS52222 8 90-7 AYC10650 9 40-11
AS32981 7 70-9 AS52325 3 70-48 AYC10652 1 40-19
AS34631 1 70-31 AYC10001 5 140-23 AYC10654 14 40-5
AS37681 15 110-53 AYC10009 5 90-33 AYC10696 3 40-5
AS38026 10 90-41 AYC10131 11 50-3 AYC10700 25 70-3
AS38028 2 140-1 AYC10131 8 110-73 AYC10700 1 70-5
AS38028 1 140-2 AYC10160 29 30-17 AYC10709 10 90-33
AS38029 4 90-41 AYC10164 1 40-7 AYC10710 11 90-33
AS38039 1 140-5 AYC10164 6 40-19 AYC10711 10 90-37
1076 BEA W EIHL PC4496 (30-JUL-08) 160-1

PN=477



1076 BIBR S UL EIHL
wSERIl- &l
FHE e i FHE HwE i FHE e i
AYC10712 9 90-33 AYC11096 6 120-43 AYC11525 1 90-19
AYC10714 9 90-37 AYC11142 1 110-55 AYC11529 17 30-13
AYC10718 20 120-19 AYC11143 21 110-45 AYC11815 1 130-15
AYC10719 1 120-31 AYC11144 15 110-43 AYC11816 1 60-9
AYC10720 36 120-35 AYC11154 2 40-3 AYC11836 1 80-5
AYC10722 12 30-17 AYC11154 17 40-15 AYC11844 1 80-7
AYC10724 33 120-35 AYC11158 1 140-25 AYC11853 3 50-3
AYC10725 32 120-31 AYC11184 10 110-49 AYC11860 26 110-41
AYC10730 5 40-11 AYC11184 11 110-49 AYC11861 3 110-39
AYC10731 16 110-25 AYC11184 20 110-49 AYC11862 3 110-39
AYC10735 1 130-17 AYC11191 1 120-3 AYC11865 3 90-15
AYC10771 1 110-63 AYC11196 2 80-23 AYC11866 2 90-15
AYC10773 1 70-3 AYC11201 7 110-63 AYC11870 18 110-47
AYC10774 13 70-5 AYC11201 15 110-67 AYC11871 22 110-49
AYC10774 18 70-23 AYC11205 7 110-71 AYC11873 1 110-47
AYC10776 5 70-33 AYC11214 3 150-3 AYC11880 15 120-43
AYC10777 10 70-5 AYC11215 4 150-3 AYC11895 1 80-19
AYC10779 11 70-5 AYC11216 15 150-3 AYC11911 1 90-41
AYC10780 6 110-63 AYC11220 7 150-5 AYC11912 2 90-41
AYC10781 5 110-63 AYC11221 9 150-5 AYC11925 1 110-67
AYC10784 5 40-9 AYC11224 5 100-3 AYC12026 20 110-41
AYC10785 9 40-5 AYC11226 6 90-51 AYC12027 4 80-23
AYC10786 17 40-5 AYC11227 7 90-51 AYC12052 1 90-51
AYC10803 22 120-39 AYC11231 1 90-43 AYC12083 10 40-11
AYC10807 3 70-23 AYC11233 2 90-54 AYC12139 9 60-5
AYC10808 7 70-11 AYC11234 1 90-54 AYC12140 1 60-5
AYC10811 1 30-5 AYC11235 6 90-41 AYC12145 3 60-1
AYC10839 5 120-17 AYC11237 1 90-37 AYC12146 20 110-15
AYC10840 2 120-5 AYC11239 1 90-46 AYC12147 10 40-13
AYC10841 12 120-25 AYC11249 3 90-41 AYC12152 3 90-17
AYC10841 14 120-43 AYC11253 18 90-37 AYC12152 11 90-29
AYC10842 2 110-17 AYC11254 5 90-37 AYC12153 12 90-3
AYC10843 10 120-29 AYC11255 17 90-37 AYC12153 11 90-31
AYC10844 11 120-29 AYC11256 16 90-37 AYC12156 5 110-75
AYC10845 1 120-23 AYC11257 4 90-37 AYC12156 27 120-13
AYC10846 1 120-29 AYC11259 1 90-45 AYC12158 3 60-10
AYC10847 15 120-23 AYC11273 3 90-54 AYC12159 1 60-10
AYC10848 1 120-25 AYC11299 6 90-37 AYC12162 2 60-10
AYC10852 15 120-31 AYC11300 1 90-44 AYC12173 1 80-33
AYC10853 10 120-23 AYC11301 8 90-37 AYC12187 1 110-57
AYC10856 1 120-17 AYC11302 4 90-44 AYC12227 5 70-9
AYC10857 6 40-11 AYC11303 2 90-34 AYC12228 5 70-10
AYC10858 8 40-15 AYC11305 1 90-29 AYC12249 9 50-5
AYC10859 16 40-5 AYC11307 3 90-43 AYC12250 3 60-8
AYC10860 12 40-5 AYC11309 8 90-7 AYC12251 2 60-8
AYC10862 12 40-15 AYC11322 9 30-14 AYC12252 1 60-8
AYC10865 5 40-5 AYC11324 5 30-13 AYC12254 16 100-17
AYC10865 12 40-17 AYC11325 8 30-13 AYC12255 17 110-19
AYC10866 6 40-5 AYC11326 8 120-27 AYC12256 1 110-19
AYC10867 8 90-9 AYC11327 10 120-27 AYC12260 24 100-17
AYC10868 22 100-17 AYC11343 1 100-3 AYC12261 30 100-17
AYC10870 17 140-19 AYC11344 2 100-3 AYC12267 6 120-43
AYC10871 4 140-19 AYC11346 9 70-5 AYC12275 4 90-13
AYC10903 4 30-17 AYC11347 12 70-5 AYC12279 20 50-15
AYC10904 31 30-7 AYC11349 7 70-5 AYC12285 27 110-25
AYC10905 22 30-7 AYC11350 8 70-5 AYC12287 19 90-25
AYC10906 1 120-27 AYC11419 7 110-53 AYC12288 19 30-19
AYC10928 13 120-27 AYC11425 1 80-3 AYC12289 12 90-17
AYC10931 13 70-23 AYC11429 26 80-3 AYC12291 29 90-19
AYC10938 12 120-27 AYC11463 27 110-25 AYC12292 2 90-21
AYC10939 14 120-27 AYC11466 6 110-26 AYC12297 1 50-3
AYC10942 2 70-20 AYC11467 4 110-26 AYC12336 2 70-15
AYC10976 2 110-71 AYC11468 3 90-9 AYC12339 21 70-5
AYC10978 9 110-47 AYC11478 18 130-11 AYC12348 5 100-11
AYC10979 2 110-47 AYC11480 18 110-25 AYC12348 15 100-21
AYC10988 1 70-27 AYC11483 21 30-17 AYC12365 33 120-3
AYC10995 20 80-31 AYC11496 11 140-17 AYC12365 7 120-11
160-2 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=478



1076 BIBR S UL EIHL
WEEI- ZE
FHE HwE i FHE HwE i FHE e i
AYC12366 36 120-3 AYC12574 26 120-13 AYC12769 1 70-37
AYC12366 9 120-11 AYC12574 6 120-41 AYC12778 8 120-21
AYC12367 5 100-9 AYC12575 12 110-71 AYC12781 14 120-41
AYC12367 8 120-11 AYC12575 19 120-5 AYC12782 1 110-31
AYC12381 11 110-17 AYC12575 30 120-13 AYC12782 1 110-33
AYC12388 2 120-13 AYC12575 4 120-41 AYC12786 2 120-29
AYC12389 24 120-3 AYC12583 1 40-9 AYC12788 6 110-57
AYC12390 30 90-25 AYC12585 2 110-61 AYC12794 16 70-13
AYC12391 5 90-4 AYC12586 16 120-40 AYC12798 6 100-19
AYC12392 3 80-25 AYC12588 8 40-11 AYC12809 1 110-59
AYC12394 9 80-19 AYC12589 7 80-32 AYC12813 10 110-57
AYC12394 9 80-21 AYC12595 10 110-9 AYC12814 4 70-21
AYC12394 7 80-27 AYC12598 27 110-63 AYC12814 1 70-23
AYC12394 8 110-69 AYC12605 6 100-15 AYC12817 17 110-67
AYC12398 10 100-3 AYC12606 12 100-3 AYC12818 10 90-21
AYC12403 6 80-31 AYC12606 3 110-3 AYC12818 a7 90-25
AYC12405 3 70-15 AYC12608 6 100-15 AYC12819 9 70-11
AYC12406 8 100-9 AYC12609 2 100-11 AYC12821 1 70-19
AYC12407 4 80-31 AYC12613 19 100-21 AYC12822 1 120-45
AYC12410 8 120-33 AYC12614 6 100-17 AYC12823 13 120-33
AYC12410 11 120-40 AYC12615 12 100-17 AYC12827 1 120-5
AYC12416 3 130-16 AYC12622 4 110-29 AYC12829 16 120-5
AYC12419 14 100-21 AYC12624 3 100-4 AYC12831 13 120-23
AYC12420 1 70-20 AYC12627 1 30-7 AYC12832 10 80-11
AYC12421 1 100-4 AYC12636 5 110-57 AYC12833 13 80-11
AYC12422 25 100-15 AYC12637 8 120-37 AYC12834 17 80-13
AYC12425 1 100-15 AYC12638 16 120-19 AYC12836 9 120-37
AYC12426 3 110-27 AYC12640 6 100-7 AYC12838 26 90-17
AYC12427 9 110-75 AYC12647 6 110-75 AYC12842 10 120-40
AYC12427 1 120-11 AYC12647 7 120-41 AYC12847 16 70-31
AYC12431 1 80-25 AYC12652 1 80-35 AYC12848 1 90-23
AYC12432 2 80-25 AYC12653 3 110-61 AYC12850 4 90-26
AYC12438 9 80-29 AYC12654 7 110-59 AYC12851 5 90-26
AYC12443 1 100-7 AYC12655 18 50-9 AYC12852 1 90-26
AYC12448 23 90-25 AYC12656 9 40-13 AYC12853 20 80-9
AYC12451 3 80-27 AYC12660 1 110-69 AYC12855 1 130-11
AYC12452 30 120-3 AYC12674 19 110-55 AYC12863 9 70-25
AYC12453 8 110-75 AYC12677 4 110-69 AYC12865 15 80-9
AYC12454 8 80-11 AYC12678 11 50-9 AYC12866 9 120-46
AYC12455 1 90-3 AYC12680 3 80-35 AYC12871 .. 50-23
AYC12460 24 80-17 AYC12683 1 110-3 AYC12880 1 110-5
AYC12464 11 90-17 AYC12684 1 110-3 AYC12881 21 120-37
AYC12465 1 120-9 AYC12690 19 70-19 AYC12886 1 110-27
AYC12469 12 80-9 AYC12691 5 80-32 AYC12888 27 90-19
AYC12473 9 90-9 AYC12699 20 110-55 AYC12889 18 90-17
AYC12475 23 80-17 AYC12701 40 130-3 AYC12890 16 90-17
AYC12478 5 80-29 AYC12703 2 130-3 AYC12893 40 130-15
AYC12480 5 80-15 AYC12704 3 130-3 AYC12895 11 130-15
AYC12481 15 80-15 AYC12705 1 130-3 AYC12896 10 110-53
AYC12482 9 80-15 AYC12706 4 130-7 AYC12898 3 80-19
AYC12483 19 80-11 AYC12707 14 130-3 AYC12898 3 80-21
AYC12484 1 80-9 AYC12708 14 130-3 AYC12903 2 100-5
AYC12486 1 80-31 AYC12709 1 130-7 AYC12918 3 70-3
AYC12487 14 80-17 AYC12710 6 130-13 AYC12961 23 120-3
AYC12489 1 90-21 AYC12713 4 130-13 AYC13381 5 80-23
AYC12491 20 80-29 AYC12714 4 130-13 AZ10984 43 90-25
AYC12492 1 40-3 AYC12721 10 130-5 AZ13300 12 110-9
AYC12495 1 130-5 AYC12722 8 130-5 AZ13319 5 110-53
AYC12500 36 130-15 AYC12723 13 130-5 AZ13644 4 110-57
AYC12554 21 50-9 AYC12724 3 110-7 AZ13818 10 110-27
AYC12570 13 50-9 AYC12725 2 110-7 AZ16786 4 50-19
AYC12572 7 110-37 AYC12726 11 110-35 AZ18424 9 90-13
AYC12572 2 120-39 AYC12729 2 120-35 AZ18547 36 90-21
AYC12573 6 110-37 AYC12741 23 120-21 AZ19023 32 50-17
AYC12573 1 120-39 AYC12751 1 110-71 AZ19242 10 110-59
AYC12574 15 110-71 AYC12764 5 110-59 AZ19602 8 50-23
AYC12574 18 120-5 AYC12768 1 60-17 AZ19843 20 110-71
1076 BEA W EIHL PC4496 (30-JUL-08) 160-3

PN=479



1076 BIBR S UL EIHL
wSERIl- &l
FHE E i FHE HwE i FHE E i
AZ19889 32 90-19 AZ25943 7 100-19 H101677 6 100-13
AZ21454 20 30-7 AZ26365 16 120-37 H101677 20 120-7
AZ21454 1 140-19 AZ27084 31 110-47 H10280 2 50-21
AZ21974 11 70-3 AZ27176 15 70-35 H105584 34 120-7
AZ22047 33 30-7 AZ27269 9 110-26 H10613 11 110-63
AZ22498 15 120-33 AZ27698 4 110-55 H11492 1 60-15
AZ22509 27 120-33 AZ27753 8 60-17 H11493 2 60-15
AZ22673 4 70-34 AZ27754 6 60-17 H119710 7 100-13
AZ22673 4 70-35 AZ27913 4 120-35 H119710 24 120-7
AZ22761 2 60-13 AZ28083 15 120-19 H149064 9 80-39
AZ22845 7 70-36 AZ28084 15 40-5 H151671 16 80-41
AZ22870 3 70-7 AZ28467 2 60-13 H170654 10 80-39
AZ22878 4 70-3 AZ28508 4 60-15 H20336 5 60-7
AZ22892 5 40-15 AZ28785 3 60-1 H22782 3 50-21
AZ22892 8 70-3 AZ28883 1 70-45 H22784 12 50-23
AZ22970 10 30-19 AZ28884 2 70-45 H22785 10 50-21
AZ23070 6 30-9 AZ29936 4 80-17 H22789 14 50-21
AZ23076 7 70-3 AZ29942 1 80-17 H30463 10 50-7
AZ23172 4 80-35 AZ30064 8 80-13 H31263 16 50-23
AZ23180 3 110-69 AZ30066 10 80-13 H32057 24 50-17
AZ23183 4 110-65 AZ30088 1 90-9 H33395 9 110-27
AZ23184 6 110-65 AZ30117 2 80-11 H33491 7 50-17
AZ23212 16 110-71 AZ30192 19 90-17 H34482 4 30-21
AZ23212 3 110-75 AZ30196 16 80-9 H64031 6 50-17
AZ23251 2 80-27 AZ30351 3 120-37 H64037 18 50-17
AZ23252 1 80-27 AZ30402 6 90-23 H75179 9 50-17
AZ23520 12 50-19 AZ30422 2 90-23 H75180 13 50-17
AZ23667 15 70-34 AZ30424 24 90-17 H78856 3 30-21
AZ23668 2 70-33 AZ30892 2 120-46 H80197 5 30-21
AZ23679 9 80-11 AZ31228 1 90-13 H84666 17 50-9
AZ23723 22 70-31 AZ31230-1 1 60-13 H84672 4 50-9
AZ23755 4 70-48 AZ31453 1 120-13 H85988 15 50-7
AZ23761 5 110-3 AZ31512 2 120-31 H85989 5 50-7
AZ23778 4 110-3 AZ31523 10 130-9 H85993 13 50-7
AZ23809 7 120-31 AZ31666 1 110-21 H86012 17 50-5
AZ23828 29 70-3 AZ32127 3 70-29 H89171 18 50-7
AZ23842 4 70-7 AZ34292 11 40-11 JD10052 10 30-3
AZ23852 8 70-34 AZ34292 6 130-17 JD10087 10 50-9
AZ23852 8 70-35 AZ34570 35 90-19 JD10087 8 60-13
AZ23854 9 90-25 AZ34644 36 90-19 JD7222 18 50-23
AZ23956 11 70-23 AZ35220 8 110-19 JD7266 19 50-23
AZ23957 12 70-23 AZ41044 1 100-5 JD7424 21 50-17
AZ23958 7 70-41 AZ50621 27 30-17 JD7425 13 50-19
AZ23960 1 70-41 AZ52407 17 110-41 JD7449 3 50-17
AZ23970 7 70-17 AZ52663 3 40-21 JD8100 23 50-17
AZ24018 3 70-36 A16529 9 50-7 JD8134 4 50-17
AZ24189 1 70-36 BP13226 12 60-7 JD8152 14 50-23
AZ24210 18 110-55 CQ66617 12 110-41 JD8161 14 50-19
AZ24217 18 40-5 DQ16220 5 110-41 JD8171 5 50-19
AZ24217 11 40-17 DQ42194 11 110-41 JD8179 28 50-17
AZ24218 1 40-17 DQ49532 13 110-41 JD8217 6 50-19
AZ24263 15 140-11 DQ49957 7 40-5 JD8220 30 50-17
AZ24324 1 130-9 DQ49959 1 40-5 JD8248 11 50-23
AZ24370 5 130-16 DQ66618 16 110-41 JD8249 13 50-23
AZ24374 1 130-16 DQ72827 9 90-29 JD8923 10 50-23
AZ24504 2 40-17 D32965 24 70-39 JD9913 23 50-9
AZ24546 16 30-17 E10079 3 110-23 J16931 16 60-13
AZ24834 11 130-5 E10079 17 120-23 J16931 23 130-3
AZ25385 1 130-18 E10086 29 90-25 L12259 6 30-19
AZ25390 1 110-35 E12817 9 50-21 L17952 33 90-21
AZ25428 21 110-57 E39529 41 130-3 L17952 10 100-17
AZ25442 20 120-3 E82510 6 80-39 L18955 8 110-9
AZ25442 5 120-9 G10928 27 50-17 L18955 3 130-7
AZ25659 12 70-19 G10974 8 50-11 L18955 8 130-9
AZ25660 16 70-19 G10974C 31 50-17 L19162 2 60-9
AZ25680 18 110-11 G31264 17 50-23 L19386 3 140-11
AZ25927 5 100-15 H10163A 1 50-17 L19386 6 140-13
160-4 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=480



1076 BIBR S UL EIHL
WEEI- ZE
FHE HwE i FHE e i FHE HwE i
L20507 3 110-43 S32738 21 70-27 S32985 11 70-9
L29226 10 50-19 S32739 20 70-27 S32986 12 70-9
L29227 11 50-19 S32740 19 70-27 S32987 13 70-9
L53825 16 110-49 S32741 18 70-27 S32988 14 70-9
L53825 1 110-50 S32743 16 70-27 S32989 15 70-9
L55078 5 130-17 S32744 15 70-27 S32990 17 70-9
L64995 11 80-39 S32745 14 70-27 S32991 21 70-9
L851T 22 50-17 S32746 13 70-27 S32992 22 70-9
M833T 10 60-15 S32748 11 70-27 S32993 23 70-9
M834T 9 60-15 S32750 9 70-27 S32994 25 70-9
PK1103H 27 110-59 S32751 8 70-27 S32995 26 70-9
PK1103H 37 110-63 S32752 7 70-27 S32996 2 70-9
PK1931H 5 110-65 S32753 6 70-27 S32997 5 70-15
P42100 18 110-59 S32754 3 70-27 S38323 9 140-15
P42100 4 110-63 S32755 2 70-27 S38328 11 140-15
P47232 17 110-71 S32810 7 70-13 S38329 13 140-15
P47232 26 120-5 S32811 8 70-13 S38330 10 140-15
P47232 17 120-13 S32812 9 70-13 S38334 14 140-13
P47232 30 120-31 S32816 8 50-7 S38335 11 140-13
P49545 10 100-15 S32840 11 70-13 S38336 8 140-13
P49545 3 110-63 S32878 2 70-13 S38337 5 140-15
P49545 3 110-65 S32940 1 70-43 S38339 16 140-15
P49545 7 110-67 S32941 2 70-43 S38343 14 140-15
P50456 6 30-21 S32942 22 70-39 S38348 6 140-17
RE63932 1 30-13 S32942 3 70-43 S38348 5 140-21
R123461 12 110-73 S32943 4 70-43 S38351 21 140-11
R20759 21 80-11 S32944 5 70-43 S38356 17 140-15
R21612R 3 60-17 S32945 7 70-43 S38357 6 140-15
R26255 11 50-17 S32946 10 70-37 S38358 4 140-15
R26266 8 50-17 S32946 8 70-43 S38362 16 140-13
R26287 10 60-17 S32946 3 70-44 S38371 18 140-15
R26863 11 50-7 S32947 9 70-43 S38396 5 140-27
R27139 9 60-17 S32948 4 70-39 S38397 6 140-27
S10464 11 140-5 S32948 14 70-43 S38405 5 90-43
S10705 1 50-11 S32949 16 70-43 S38556 8 90-41
S10706 7 50-11 S32951 19 70-43 S38556 3 90-44
S20955 19 70-9 S32952 20 70-43 S40203 5 140-1
S20955 3 70-39 S32953 21 70-43 S40203 2 140-23
S21342 3 90-37 S32954 23 70-43 S40206 4 140-3
S21355 16 90-43 S32955 25 70-43 S40210 3 140-9
S22739Y 6 80-37 S32956 24 70-43 S40239 14 150-3
S25678 4 140-1 S32957 36 70-43 S40240 16 150-3
S25678 1 140-23 S32958 6 70-39 S40340 6 90-39
S26386 3 30-3 S32959 8 70-39 S40340 1 140-1
S27211 7 90-33 S32960 11 70-39 S40341 10 90-39
S28896 20 70-3 S32961 17 70-39 S40341 3 140-1
S28897 27 70-3 S32962 7 70-37 S40358 11 150-5
S29458 12 30-14 S32962 18 70-39 S40385 16 150-5
S31118 5 70-39 S32963 4 70-37 S40405 10 150-5
S31118 13 70-43 S32963 19 70-39 S40537 3 30-17
S31687 15 60-5 S32964 20 70-39 S40912 2 140-13
S31687 14 60-7 S32965 21 70-39 S41027Y 19 80-41
S31688 16 60-5 S32968 5 70-44 S41028Y 20 80-41
S31688 14 60-7 S32969 7 70-44 S41141 10 140-1
S31689 17 60-5 S32970 13 70-44 S41142 12 140-1
S31689 14 60-7 S32971 3 70-37 S41150 10 140-17
S31693 2 50-25 S32972 11 70-37 S41150 1 140-21
S31694 2 50-25 S32973 5 70-37 S41183 3 140-21
S31695 2 50-25 S32974 13 70-37 S41185 18 140-11
S31837 19 140-11 S32975 14 70-37 S42960Y 4 80-39
S32045 18 70-9 S32977 1 70-9 S43168 17 110-15
S32258 3 50-23 S32978 3 70-9 S43178 9 60-7
S32362 6 70-13 S32979 4 70-9 S43363 7 50-3
S32362 6 70-43 S32980 6 70-9 S43382 3 90-48
S32729 4 70-13 S32982 8 70-9 S43383 4 90-48
S32730 5 70-13 S32983 9 70-9 S44396 36 110-41
S32731 3 70-13 S32984 10 70-9 S45110 7 140-27
1076 BEA W EIHL PC4496 (30-JUL-08) 160-5

PN=481



1076 BIBR S UL EIHL
wSERIl- &l
FHE e i FHE HwE i FHE e i
S45319 9 90-41 YC10622 3 50-19 YC12143 15 50-21
S45321 9 90-53 YC10623 3 50-19 YC12144 22 50-21
S45322 10 90-53 YC10646 18 50-10 YC12145 3 50-5
S45323 11 90-53 YC10651 6 50-12 YC12146 4 50-5
S45324 12 90-53 YC10653 4 60-13 YC12147 5 50-5
S50040 6 60-7 YC10654 23 60-13 YC12148 16 50-7
S50140 8 90-29 YC10655 5 50-21 YC12149 2 50-5
S50711 9 90-3 YC10656 5 50-21 YC12150 2 50-3
S51971 23 120-39 YC10657 5 50-21 YC12154 4 60-2
T19037T 14 60-15 YC10658 14 60-13 YC12154 10 120-46
T21430A 19 50-19 YC10659 22 60-13 YC12175 3 90-13
T29394A 9 50-19 YC10662 13 60-17 YC12176 24 90-13
T3142-HA 25 50-9 YC10663 10 60-13 YC12190 25 110-23
u11017 14 50-7 YC10664 4 60-17 YC12191 14 90-31
YC10000 6 140-23 YC10665 17 60-13 YC12194 15 90-31
YC10004 6 140-1 YC10666 14 50-17 YC12195 15 90-43
YC10010 4 140-23 YC10675 2 80-41 YC12196 10 120-25
YC10013 6 140-5 YC10750 4 140-5 YC12198 6 90-31
YC10013 9 140-23 YC10845 5 120-43 YC12201 4 90-11
YC10018 7 140-23 YC11368 12 100-11 YC12209 30 110-47
YC10019 3 140-23 YC11368 16 110-73 YC12216 19 90-21
YC10020 8 140-23 YC11410 9 30-19 YC12219 3 120-40
YC10141 13 110-73 YC11461 29 110-25 YC12232 14 110-27
YC10144 7 110-39 YC11596 13 70-3 YC12234 4 110-23
YC10144 6 110-73 YC11763 4 90-15 YC12235 22 110-23
YC10147 7 110-19 YC11773 22 80-17 YC12236 8 110-23
YC10147 1 110-73 YC11945 15 30-17 YC12236 15 110-25
YC10148 2 110-73 YC11964 12 30-3 YC12243 3 70-5
YC10148 12 120-43 YC11968 2 30-9 YC12244 1 70-29
YC10160 28 90-19 YC11969 7 110-47 YC12330 28 80-17
YC10161 32 110-25 YC11969 14 120-7 YC12342 8 30-5
YC10162 10 110-25 YC11970 21 30-9 YC12343 9 30-5
YC10174 3 80-39 YC11975 5 30-3 YC12345 10 30-5
YC10193 7 80-39 YC11990 32 110-49 YC12345 11 30-14
YC10209 19 120-7 YC11998 2 100-13 YC12351 19 40-15
YC10226 7 90-37 YC11999 3 100-13 YC12352 6 80-5
YC10236 8 110-59 YC12000 20 110-65 YC12352 6 80-7
YC10336 7 90-19 YC12001 12 110-63 YC12352 11 80-11
YC10418 23 120-7 YC12002 36 110-63 YC12352 18 100-3
YC10447 18 120-7 YC12003 7 110-65 YC12352 20 110-5
YC10486 8 80-39 YC12009 4 70-29 YC12352 18 110-57
YC10552 13 90-9 YC12010 5 70-29 YC12352 5 120-21
YC10572 2 30-14 YC12029 11 110-49 YC12352 16 120-25
YC10581 3 60-13 YC12030 4 150-1 YC12352 16 120-27
YC10581 7 60-15 YC12034 11 100-11 YC12368 4 50-23
YC10584 5 50-17 YC12035 5 100-13 YC12376 16 140-23
YC10598 10 50-17 YC12036 35 120-7 YC12401 7 30-14
YC10600 19 50-17 YC12037 10 110-63 YC12405 8 30-14
YC10601 6 50-15 YC12039 31 110-49 YC12405 17 110-39
YC10602 19 60-13 YC12042 16 110-25 YC12435 13 30-5
YC10603 25 50-17 YC12043 33 110-25 YC12438 11 30-5
YC10604 15 60-15 YC12044 22 110-25 YC12444 1 30-9
YC10605 16 50-17 YC12045 5 110-25 YC12444 11 110-73
YC10606 12 50-17 YC12047 4 100-8 YC12445 12 30-5
YC10609 20 50-19 YC12050 8 110-21 YC12505 14 90-37
YC10610 6 60-15 YC12059 1 110-37 YC12507 11 90-37
YC10611 5 60-15 YC12060 1 110-39 YC12521 12 90-33
YC10612 2 50-17 YC12063 6 100-8 YC12565 10 110-15
YC10613 3 50-19 YC12067 4 60-5 YC12578 2 70-5
YC10614 3 50-15 YC12067 4 60-7 YC12579 20 70-5
YC10615 13 60-15 YC12077 2 70-3 YC12580 19 70-5
YC10616 2 50-17 YC12079 15 50-5 YC12584 1 30-3
YC10617 2 50-17 YC12122 13 100-15 YC12597 8 100-13
YC10618 2 50-17 YC12122 12 130-15 YC12601 7 30-5
YC10619 2 50-17 YC12140 21 50-21 YC12601 5 140-3
YC10620 3 50-19 YC12141 31 50-15 YC12604 8 70-29
YC10621 3 50-19 YC12142 18 50-21 YC12605 9 70-29
160-6 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=482



1076 BIBR S UL EIHL
WEEI- ZE
FHE e i FHE HwE i FHE HwE i
YC12609 14 70-3 YC12926 4 90-33 YC13981 25 120-27
YC12609 22 70-5 YC12929 15 90-37 YC13982 4 30-13
YC12613 6 70-5 YC12960 13 130-7 YC13986 1 30-17
YC12614 4 70-5 YC12984 5 30-7 YC13987 1 70-48
YC12615 5 70-5 YC12985 2 30-7 YC13987 11 90-39
YC12617 2 70-7 YC13005 8 70-10 YC13989 15 70-3
YC12618 10 70-29 YC13006 24 70-9 YC14042 17 80-5
YC12618 14 100-15 YC13006 9 70-39 YC14043 17 80-7
YC12618 29 130-15 YC13006 15 70-43 YC14044 16 80-5
YC12619 24 120-35 YC13007 25 70-39 YC14044 16 80-7
YC12620 3 30-13 YC13009 41 110-25 YC14045 15 80-5
YC12624 2 90-53 YC13010 11 70-36 YC14045 15 80-7
YC12625 6 90-53 YC13151 4 110-53 YC14046 5 100-8
YC12626 1 90-53 YC13152 19 110-39 YC14168 18 100-13
YC12627 7 90-53 YC13157 8 100-3 YC14169 1 100-13
YC12628 5 90-53 YC13199 2 80-31 YC14249 20 100-13
YC12629 4 90-53 YC13206 29 120-13 YC14318 3 80-3
YC12630 3 90-53 YC13208 12 70-27 YC14339 3 110-47
YC12634 9 90-51 YC13213 17 110-53 YC14340 22 110-47
YC12638 13 30-17 YC13410 13 90-33 YC14353 12 120-41
YC12640 11 40-19 YC13411 15 90-33 YC14360 10 110-67
YC12642 4 80-33 YC13412 6 90-33 YC14361 8 110-67
YC12644 4 90-17 YC13412 26 90-33 YC14400 2 80-3
YC12675 11 110-15 YC13543 5 120-40 YC14402 1 110-25
YC12693 7 40-7 YC13567 1 130-13 YC14403 27 110-25
YC12693 3 40-11 YC13577 4 110-45 YC14404 37 110-25
YC12693 11 40-15 YC13578 2 110-55 YC14405 26 110-63
YC12693 8 40-19 YC13594 39 110-63 YC14408 26 110-25
YC12693 2 40-21 YC13595 31 110-63 YC14409 27 110-25
YC12694 3 70-45 YC13603 21 110-43 YC14412 7 90-41
YC12707 5 30-5 YC13608 26 110-43 YC14417 4 90-51
YC12708 5 30-19 YC13609 26 110-43 YC14418 5 90-51
YC12709 1 30-19 YC13610 19 110-43 YC14422 24 110-25
YC12731 33 110-49 YC13613 24 110-43 YC14423 6 110-25
YC12761 7 50-9 YC13614 7 110-43 YC14424 34 110-25
YC12798 6 70-3 YC13615 23 110-43 YC14425 20 110-25
YC12798 12 70-37 YC13617 9 110-50 YC14426 19 110-25
YC12798 23 70-39 YC13621 20 110-43 YC14427 1 90-47
YC12799 28 70-3 YC13623 11 110-55 YC14437 12 110-25
YC12804 10 70-3 YC13636 22 110-45 YC14438 8 110-25
YC12805 12 70-3 YC13737 6 120-7 YC14439 30 110-25
YC12806 32 70-3 YC13750 19 110-49 YC14444 28 110-67
YC12807 30 70-3 YC13752 12 110-37 YC14456 22 30-17
YC12808 33 70-3 YC13752 10 110-49 YC14457 2 30-17
YC12809 6 120-31 YC13757 16 120-15 YC14457 12 90-39
YC12810 29 120-5 YC13759 21 110-47 YC14460 2 110-31
YC12815 4 120-31 YC13798 9 150-3 YC14460 2 110-33
YC12818 5 120-31 YC13800 4 100-13 YC14490 6 30-5
YC12831 2 120-17 YC13894 4 90-54 YC14533 27 80-13
YC12832 7 120-23 YC13895 7 90-54 YC14567 2 110-15
YC12833 1 120-21 YC13896 6 90-54 YC14568 25 90-13
YC12841 16 120-29 YC13903 17 90-43 YC14816 4 110-39
YC12844 7 120-29 YC13910 13 90-43 YC14881 28 30-17
YC12849 28 120-29 YC13911 12 90-43 YC15170 6 50-3
YC12850 8 120-29 YC13914 1 90-34 YC15337 14 80-41
YC12852 4 120-17 YC13916 2 90-39 YC15423 1 60-1
YC12858 6 40-7 YC13919 2 90-51 YC15489 2 110-39
YC12858 10 40-15 YC13923 6 90-43 YC15494 22 80-3
YC12863 30 90-19 YC13925 5 90-41 YC15505 21 110-41
YC12864 24 90-19 YC13929 4 90-39 YC15508 8 100-8
YC12865 17 90-17 YC13930 3 90-39 YC15516 8 90-53
YC12870 13 40-15 YC13933 1 90-39 YC15529 8 110-47
YC12871 14 40-15 YC13934 5 90-39 YC15529 3 120-7
YC12872 11 90-19 YC13966 2 30-13 YC15531 26 110-47
YC12873 2 130-17 YC13967 16 30-13 YC15536 9 90-3
YC12874 4 130-17 YC13968 11 30-13 YC15665 2 110-67
YC12875 3 130-17 YC13969 24 120-27 YC15810 6 130-15
1076 BEA W EIHL PC4496 (30-JUL-08) 160-7

PN=483



1076 BIBR S UL EIHL
wSERIl- &l
FHE E i FHE HwE i FHE E i
YC15811 5 130-15 YC16377 14 80-3 YC16761 18 110-69
YC15895 3 120-9 YC16378 10 70-19 YC16767 15 120-13
YC15924 1 60-7 YC16382 2 60-2 YC16804 4 50-12
YC15961 2 90-37 YC16393 19 100-13 YC16811 11 100-17
YC15961 8 90-51 YC16393 21 120-7 YC16812 8 110-3
YC15979 2 80-19 YC16395 6 110-41 YC16819 3 110-29
YC15979 2 80-21 YC16564 14 100-5 YC16821 6 30-7
YC16136 17 30-19 YC16569 4 70-17 YC16822 11 30-9
YC16136 13 70-34 YC16597 21 110-67 YC16822 23 90-19
YC16136 13 70-35 YC16601 9 120-5 YC16824 5 60-8
YC16137 15 30-19 YC16601 5 120-13 YC16838 2 100-7
YC16137 4 70-33 YC16602 30 120-5 YC16840 5 50-10
YC16137 14 70-34 YC16602 22 120-13 YC16843 6 90-4
YC16137 14 70-35 YC16611 40 90-25 YC16844 2 70-23
YC16138 16 30-19 YC16612 39 90-25 YC16844 3 70-41
YC16138 1 70-33 YC16613 7 120-40 YC16848 3 70-19
YC16139 16 70-34 YC16614 12 90-19 YC16848 4 70-36
YC16139 16 70-35 YC16618 24 90-25 YC16849 15 60-17
YC16140 15 120-29 YC16620 20 90-21 YC16849 6 70-15
YC16140 6 120-37 YC16620 20 90-25 YC16849 7 70-25
YC16143 6 60-5 YC16621 6 90-11 YC16852 17 70-19
YC16144 23 110-23 YC16623 18 90-25 YC16853 4 70-19
YC16146 2 40-13 YC16634 5 90-13 YC16853 5 70-36
YC16146 14 110-53 YC16641 18 60-5 YC16854 15 70-5
YC16146 11 120-41 YC16643 5 60-5 YC16854 3 70-21
YC16147 5 50-3 YC16644 12 110-21 YC16854 7 70-23
YC16149 12 120-35 YC16645 14 110-21 YC16854 5 70-41
YC16150 2 120-41 YC16659 23 110-71 YC16855 16 60-17
YC16151 18 50-5 YC16666 25 110-47 YC16855 8 70-25
YC16152 17 50-7 YC16666 39 120-7 YC16856 12 30-10
YC16161 11 30-3 YC16671 9 70-31 YC16856 12 30-11
YC16162 9 30-3 YC16672 7 110-17 YC16857 11 30-7
YC16165 1 90-17 YC16673 18 80-5 YC16861 26 120-33
YC16165 10 90-29 YC16673 18 80-7 YC16864 4 120-9
YC16169 7 30-13 YC16673 11 100-15 YC16866 14 120-15
YC16178 25 50-23 YC16675 3 100-11 YC16875 17 120-39
YC16179 4 50-23 YC16675 18 100-21 YC16875 7 120-44
YC16183 14 30-9 YC16676 6 50-10 YC16876 4 120-45
YC16184 1 120-19 YC16678 1 70-15 YC16882 4 100-9
YC16185 1 120-15 YC16679 10 70-43 YC16886 28 90-25
YC16210 3 140-15 YC16682 11 100-3 YC16891 2 70-31
YC16214 10 80-33 YC16682 2 110-3 YC16900 6 30-3
YC16215 11 80-33 YC16683 9 100-15 YC16903 4 110-59
YC16252 1 80-39 YC16684 5 120-5 YC16904 3 110-59
YC16253 2 80-39 YC16685 13 100-11 YC16907 18 80-25
YC16292 3 70-20 YC16687 6 110-71 YC16908 17 80-25
YC16294 8 70-23 YC16687 15 120-15 YC16911 2 110-57
YC16295 9 70-23 YC16691 14 110-7 YC16913 19 110-11
YC16306 12 60-5 YC16691 15 110-29 YC16914 2 70-36
YC16324 14 70-5 YC16692 22 110-67 YC16916 4 50-3
YC16324 2 70-21 YC16693 8 90-19 YC16917 8 80-19
YC16324 6 70-23 YC16701 11 110-27 YC16917 8 80-21
YC16324 4 70-41 YC16734 20 80-7 YC16917 8 80-27
YC16332 24 50-9 YC16739 2 60-1 YC16917 6 110-69
YC16334 6 50-9 YC16739 38 130-15 YC16918 7 30-21
YC16335 8 50-9 YC16740 6 30-17 YC16919 10 30-21
YC16336 9 50-9 YC16741 7 30-17 YC16924 3 120-17
YC16337 17 50-10 YC16742 8 30-17 YC16927 22 120-3
YC16338 21 90-21 YC16747 17 110-31 YC16929 5 80-27
YC16346 6 50-5 YC16747 12 110-33 YC16930 6 80-27
YC16347 1 50-7 YC16748 21 110-5 YC16937 5 110-15
YC16352 23 110-49 YC16748 1 110-13 YC16938 16 110-17
YC16353 17 110-49 YC16748 8 110-35 YC16954 5 40-7
YC16354 17 110-23 YC16749 20 110-69 YC16954 9 40-15
YC16367 19 150-3 YC16751 21 80-3 YC16954 1 40-21
YC16370 5 110-29 YC16752 24 80-35 YC16954 25 90-17
YC16375 1 60-1 YC16753 23 80-35 YC16954 4 90-23
160-8 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=484



1076 BIBR S UL EIHL
WEEI- ZE
FHE e i FHE HwE i FHE HwE i
YC16954 3 140-25 YC17326 12 110-3 710634 38 110-63
YC16965 7 80-29 YC17327 19 80-3 710639 8 110-63
YC16975 2 130-13 YC17328 15 120-40 710698 13 60-13
YC16976 37 130-3 YC17336 6 30-13 710710 11 50-12
YC16977 3 130-13 YC17337 4 100-4 710749 1 100-17
YC16989 9 100-11 YC17340 25 110-57 710764 5 50-23
YC16989 10 100-21 YC17343 16 80-25 710793 1 60-2
YC16992 4 130-18 YC17350 5 70-17 710818 17 30-9
YC16993 3 40-17 YC17351 13 120-25 710861 15 60-7
YC16994 22 110-69 YC17354 2 80-35 710872 3 30-7
YC16997 18 80-41 YC17357 4 60-8 710880 13 120-43
YC16999 13 120-19 YC17358 16 110-55 710909 15 50-19
YC17001 2 110-59 YC17359 15 110-55 710910 2 50-19
YC17002 26 120-21 YC17365 2 80-29 710914 1 110-65
YC17010 5 40-17 YC17367 1 80-29 710941 4 50-21
YC17012 14 110-11 YC17369 4 80-29 710953 1 110-15
YC17014 6 120-17 YC17370 2 40-11 710955 21 110-71
YC17015 11 70-43 YC17370 4 40-15 710955 23 120-5
YC17019 9 100-19 YC17372 9 120-33 710955 23 120-13
YC17023 4 100-7 YC17374 38 90-25 710955 24 120-31
YC17024 3 100-7 YC17375 7 40-17 710964 7 50-19
YC17036 2 100-4 YC17376 9 30-17 710973 7 50-10
YC17040 2 120-44 YC17378 21 120-33 710976 5 50-12
YC17049 31 120-3 YC17380 32 120-9 710994 5 110-11
YC17049 4 120-11 YC17380 18 120-37 710999 9 130-3
YC17050 27 120-35 YC17381 20 130-13 711013 2 50-23
YC17062 13 70-13 YC17391 13 120-39 711065 24 120-21
YC17067 10 110-7 YC17398 5 110-31 711076 15 80-3
YC17069 24 110-55 YC17398 5 110-33 711079 3 120-41
YC17091 9 120-23 YC17410 5 120-11 711095 34 120-35
YC17092 2 120-23 YC17414 8 120-17 711100 3 110-11
YC17099 18 80-13 YC17426 11 120-23 711152 3 120-39
YC17101 11 120-27 YC17427 12 120-23 Z11175 18 50-15
YC17102 2 90-31 YC17428 8 120-23 711183 18 50-3
YC17103 29 80-17 YC17429 2 120-27 711196 5 60-13
YC17111 5 80-13 YC17430 7 120-27 711233 10 120-41
YC17112 11 70-31 YC17432 14 80-13 711242 8 110-53
YC17113 24 80-9 YC17445 1 90-31 711243 17 120-37
YC17114 4 110-31 YC17446 9 120-27 711244 20 60-13
YC17114 4 110-33 YC17449 3 80-9 711278 11 110-29
YC17115 23 80-9 YC17450 10 90-17 711279 8 90-13
YC17119 22 90-9 YC17460 2 80-33 711298 9 50-15
YC17123 16 80-11 YC17462 12 80-41 711299 11 50-15
YC17142 8 90-17 YC17463 27 120-29 711315 20 50-23
YC17147 4 40-21 YC17464 12 120-29 711323 13 90-21
YC17148 22 120-29 YC17481 1 110-41 711324 14 90-21
YC17149 24 120-29 YC17484 27 50-23 711325 44 90-25
YC17158 26 130-15 YC17500 13 140-13 711362 1 50-21
YC17159 18 110-21 YC17501 10 140-13 711403 9 50-23
YC17175 30 120-29 YC17502 5 140-5 711404 1 50-23
YC17190 11 110-31 YC17502 9 140-9 711406 2 120-3
YC17196 13 110-19 YC17530 16 140-11 711406 15 120-9
YC17198 7 130-15 YC17531 13 140-11 711424 9 110-21
YC17207 31 120-35 YC18678 4 80-37 711425 24 110-21
YC17235 7 120-7 YC18679 5 80-37 711525 21 110-23
YC17236 5 100-5 YC18680 1 80-37 711528 18 110-23
YC17265 7 110-45 YC18681 3 80-37 711533 10 90-19
YC17265 3 110-49 YC18683 2 80-37 711562 2 110-19
YC17286 20 90-3 YC18766 16 70-39 711563 3 110-19
YC17301 23 110-41 YC18766 26 70-43 711564 49 130-15
YC17302 14 50-9 YC19044 14 120-23 711632 16 130-5
YC17303 15 50-9 YC19045 1 80-11 711632 14 130-15
YC17304 16 50-9 YC19427 22 80-9 711690 8 110-37
YC17316 7 40-19 7101844 8 110-41 711692 3 110-50
YC17318 1 110-17 710207 13 90-25 711695 6 110-50
YC17319 1 50-10 7103298 2 110-41 711807 9 120-7
YC17326 13 100-3 710418 9 110-63 720051 10 110-31
1076 BEA W EIHL PC4496 (30-JUL-08) 160-9

PN=485



1076 BIBR S UL EIHL
wSERIl- &l
FHE HwE i FHE e i FHE HwE i
720051 10 110-33 723058 7 110-57 731550 22 140-11
720064 11 110-9 723433 17 90-25 731640 12 110-19
720073 2 110-13 723436 16 90-25 731799 4 70-20
720074 3 110-13 723660 14 120-40 732190 15 30-9
720084 4 110-9 724302 3 40-13 732190 15 110-73
720127 9 110-57 724302 11 100-5 732264 7 120-37
720154 10 110-43 724487 32 90-21 732298 10 120-37
720170 4 110-67 724489 3 100-17 732500 6 80-41
720198 20 120-13 724489 21 110-11 732501 7 80-41
720308 3 110-55 724492 31 90-21 732602 4 50-15
720367 5 80-5 724651 32 90-25 732649 28 90-13
720367 5 80-7 725462 10 80-19 732683 5 70-21
720367 4 100-3 725462 10 80-21 732683 5 70-25
720367 4 120-21 725462 2 130-18 732900 15 120-21
720367 15 120-25 725904 17 110-69 732900 12 120-40
720367 17 120-27 726239 6 60-8 732924 5 30-10
720443 22 80-11 726239 9 80-3 732924 5 30-11
720443 2 90-4 726248 7 120-15 732962 6 70-17
720443 27 110-69 726248 21 120-39 733018 25 30-7
720443 23 120-37 726250 37 110-41 733070 6 30-10
720523 18 120-3 726250 17 130-11 733070 6 30-11
720619 38 120-3 726250 14 130-13 733071 4 30-10
720619 19 120-9 726250 19 130-15 733071 4 30-11
720627 5 120-3 726250 7 130-16 733242 21 120-19
720627 18 120-9 727186 35 90-25 733244 7 120-21
720713 2 80-5 727187 34 90-25 733315 5 80-35
720713 2 80-7 727188 4 70-45 733316 6 80-35
720713 3 100-3 727188 13 90-19 733379 17 120-21
720741 6 120-3 727188 46 90-25 733410 4 120-40
720742 25 120-9 727520 4 110-43 733415 2 120-9
720912 8 80-5 727661 4 50-10 733422 8 120-15
720912 8 80-7 727780 9 110-9 733429 4 120-13
720913 7 80-5 727991 10 70-48 733445 4 120-5
720913 7 80-7 728716 14 110-9 733470 3 120-5
720917 3 80-5 728856 9 70-41 733471 8 120-5
720917 3 80-7 728856 5 70-48 733475 21 120-3
721059 3 120-3 729015 28 110-63 733527 22 120-33
721059 16 120-9 729162 11 90-21 733527 18 120-39
721232 9 30-9 729668 8 70-15 733604 3 80-23
721232 4 140-13 729770 12 130-7 733639 2 90-3
721238 7 40-11 729770 17 150-3 733654 8 70-41
721238 4 40-13 729873 13 70-31 733681 7 70-31
721325 12 120-33 729941 24 90-21 733697 11 90-3
721613 5 70-34 729945 15 90-21 733702 3 90-4
721613 5 70-35 729951 40 90-21 733799 9 110-19
721613 9 90-21 730026 9 120-39 733854 26 30-7
721613 5 90-25 730142 2 100-15 733930 7 110-61
721823 6 90-21 730190 8 110-13 733933 3 110-57
721823 21 90-25 730190 9 110-35 733976 3 110-9
721833 7 90-21 730218 10 70-44 734005 6 70-36
721834 41 90-21 730219 11 70-44 734046 5 70-3
721834 8 90-25 730222 12 70-44 734095 21 50-3
721841 16 90-3 730548 20 100-21 734099 10 50-3
721892 25 100-17 730552 9 100-17 734099 9 110-73
721892 10 120-43 730603 16 70-41 734229Y 5 80-39
722067 14 70-19 730603 14 70-48 734294 9 110-69
722067 21 70-41 730667 2 70-17 734303 2 110-69
722110 12 110-17 730667 6 70-19 734380 5 50-21
722116 13 110-17 730667 15 70-23 734398 11 80-19
722158 3 80-41 730667 4 70-25 734398 11 80-21
722215 8 40-13 730667 23 70-41 734398 3 130-18
722294 20 120-37 730668 13 70-19 734419 8 100-15
722335 25 110-69 730668 17 70-41 734431 19 110-17
722561 8 120-31 730685 12 90-21 734436 23 110-19
722572 36 90-25 731005 7 50-23 734438 16 120-21
722770 2 110-35 731208 2 70-34 734438 9 120-40
722779 4 110-5 731208 2 70-35 734446 1 90-25
160-10 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=486



1076 BIBR S UL EIHL
WEEI- ZE
FHE HwE i FHE e i FHE E i
734467 9 120-17 735482 24 110-41 738395 22 120-9
734483 2 110-5 735544 37 90-25 738395 5 120-15
734489 8 50-19 735613 31 70-3 738395 17 120-19
734505 4 90-4 735641 5 110-7 738395 6 120-33
734506 7 90-13 735642 6 110-7 738395 19 120-35
734522 21 80-29 735844 9 130-5 738395 25 120-37
734537 5 80-31 735845 12 130-5 738438 16 50-15
734588 13 70-33 735852 5 110-5 738439 15 50-15
734591 3 80-31 735894 14 120-19 738441 22 80-29
734637 4 70-15 735899 4 110-7 738446 3 110-67
Z34656Y 4 80-41 735956 25 120-33 738521 12 60-17
734661 3 110-5 736022 12 90-25 738526 7 60-17
734707 7 110-3 736421 9 110-59 738536 7 100-15
Z34709 6 110-3 736521 28 120-31 738539 28 120-35
734711 7 50-12 736523 30 110-59 738553 6 110-27
734718 4 80-32 736530 8 110-57 738559 11 60-17
734721 3 50-12 736532 9 110-55 738597 19 30-7
734722 8 80-41 736726 1 110-11 738597 10 120-35
734740 6 100-11 736728 8 110-11 738597 5 140-19
Z34740 4 100-21 736729 9 110-11 738785 6 120-21
734742 17 120-43 736730 13 110-11 739053 17 80-41
734769 1 70-39 736731 12 110-11 739063 12 110-35
734825 12 140-11 736742 3 50-23 739071 22 110-57
734828 11 70-29 736948 8 100-19 739304 25 80-29
734828 5 110-73 736964 5 100-7 739401 14 90-13
734828 14 140-11 736984 29 110-59 739402 18 90-13
734861 6 70-21 737227 15 120-35 739428 3 110-31
734861 27 70-41 737228 1 120-44 739428 11 110-33
734876 4 130-16 737382 4 100-15 739569 14 100-17
734951 3 70-17 737452 13 120-37 739573 13 100-17
734952 5 70-19 737473 11 110-21 739668 21 30-7
734953 10 70-15 737473 4 110-73 739668 2 140-19
734953 3 70-25 Z37478 3 110-26 739723 27 110-57
734955 14 70-23 Z37508 9 110-23 739723 33 110-59
734956 6 70-25 Z37509 10 110-23 739834 28 30-7
734957 15 70-19 737509 11 110-25 740104 8 70-11
734959 21 70-19 737510 13 110-23 740124 6 110-67
734959 15 70-41 737511 12 110-23 740200 1 80-23
735132 21 110-55 737515 16 110-25 740219 42 90-21
735138 6 80-29 Z37517 36 110-25 740219 15 90-25
735160 18 110-5 737530 4 120-44 740237 4 80-27
735186 4 110-13 Z37590 19 80-15 740239 26 50-23
735217 5 130-5 Z37714 8 60-15 740291 12 40-13
735226 22 130-3 Z37917 3 80-29 740293 6 130-11
735227 16 130-13 737932 22 50-23 240294 7 130-11
735241 27 130-3 737937 24 50-23 740323 23 120-17
735244 36 130-3 Z37940 24 50-23 740386 18 120-27
735266 15 130-3 737952 34 120-3 740389 7 120-23
735271 17 130-3 737952 13 120-9 Z40390 7 120-25
735279 17 130-7 737953 13 110-71 740395 8 80-17
735280 6 130-9 Z37953 22 120-7 740441 6 120-40
735305 11 130-3 Z37953 33 120-7 740466 19 80-13
Z35306 12 130-3 738012 5 50-15 740535 3 90-3
735307 12 130-3 738133 24 110-23 740535 7 90-7
Z35309 2 130-7 738133 14 110-25 Z40557 33 90-25
735311 7 130-7 738186 2 100-17 740562 16 120-31
735313 31 130-3 738186 10 110-73 740572 18 80-17
735314 30 130-3 738234 16 50-19 740585 15 120-27
735318 10 100-11 738235 1 50-19 740640 5 80-9
735318 9 100-21 738278 29 50-17 740640 23 80-13
735321 14 100-11 738380 33 120-9 740640 25 80-17
735335 8 130-11 738380 28 120-37 740671 14 70-41
735336 2 130-11 738395 8 110-31 740679 11 80-15
735337 3 130-11 738395 8 110-33 740760 9 90-17
735338 4 130-11 738395 22 110-41 740801 10 80-9
735339 5 130-11 738395 14 120-3 740822 20 30-19
735396 2 130-16 738395 30 120-7 740843 10 90-9
1076 BEA W EIHL PC4496 (30-JUL-08) 160-11

PN=487



1076 BIBR S UL EIHL
wSERIl- &l
FHE HwE i FHE HwE i FHE HwE i
240847 20 90-9 745774 16 110-45 00G390206 18 110-67
740848 2 70-48 746365 14 110-49 00G390206 13 120-3
740871 24 70-41 746365 14 110-73 00G390206 31 120-7
740934 27 110-47 746367 8 110-50 00G390206 21 120-9
740935 17 110-47 746371 7 110-50 00G390206 4 120-15
740936 12 110-47 746383 2 110-49 00G390206 3 120-33
740936 11 120-7 746532 9 110-43 00G390206 20 120-35
740964 3 80-33 248287 22 110-43 00G390206 26 120-37
740970 28 80-13 751179 5 110-27 00G390206 8 120-39
741024 4 80-15 752306 7 100-5 00G390206H 6 120-15
741025 11 80-9 753355 13 70-29 00G390207 3 100-8
741116 5 130-13 760326 8 80-37 00G390207 4 110-49
741135 5 80-41 760327 7 80-37 00G390505 18 110-71
741136 1 80-41 760329 9 80-37 00G390507 3 100-15
741158 26 80-13 00GK162220 35 110-25 00G390507 8 110-45
741162 13 80-9 00GP502 4 30-7 00G390610 13 110-7
741180 1 120-46 00GP503 13 30-9 00G390610 8 110-29
741207 9 80-41 00GP504 13 30-7 00G61809 13 110-25
741210 13 80-41 00GP505 19 110-71 00G61818 9 110-25
741211 15 80-41 00GP505 24 120-5 00G61822 31 110-25
741217 7 40-21 00GP505 21 120-13 00G688910K 18 110-49
741248 9 110-71 00GP505 27 120-31 00G7204EA 16 110-15
741248 9 120-41 00GP506 16 110-31 00G7204EB 15 110-15
741398 14 120-29 00GP506 16 110-33 00G7206EA 12 110-15
741401 23 120-29 00GP506 10 110-41 00G7206EB 13 110-15
741407 6 120-29 00GP506 19 110-67 00G7506A 8 60-5
741415 21 120-29 00GP506 11 120-3 00G7506A 8 60-7
741422 29 120-29 00GP506 23 120-9 00G7506B 7 60-5
741546 5 90-21 00GP506 12 120-19 00G7506B 7 60-7
741639 13 70-41 00GP506 2 120-33 00G7507EA 13 50-5
741726 14 120-9 00GP506 25 120-35 00G7507EB 19 50-5
741813 15 110-23 00GP506 27 120-37 00G80205 5 50-11
741952 9 70-33 00GP506 12 120-39 00G90505 16 120-13
742022 10 110-21 00GP507 2 100-8 03G04450 8 110-65
742023 7 110-21 00GP507 5 110-45 03G24320 4 80-5
742024 6 110-21 00GP507 5 110-49 03G24320 4 80-7
742026 23 110-21 00GP510 11 110-7 03G24320 24 110-71
242027 17 110-21 00GP510 7 110-29 03G24338 16 110-57
742028 20 110-21 00GXJ208 7 100-11 03G24349 19 110-59
742029 19 110-21 00GXJ208 3 100-21 03G24420 12 110-31
742030 25 110-21 00G00088 8 30-3 03G24420 18 120-15
742031 2 110-21 00G1205 47 130-15 03G24425 1 110-45
742032 3 110-21 00G180203 27 30-7 03G24425 6 110-61
742037 21 110-21 00G180203 22 100-17 03G24425 27 110-67
742069 6 120-45 00G180203 3 110-39 03G24430 3 110-33
742175 4 130-5 00G180203 6 120-43 03G24453 6 110-31
742176 3 130-5 00G180203 10 140-19 03G24453 6 110-33
742383 6 70-29 00G180204 12 140-15 03G44425 10 60-8
744372 3 90-19 00G180303 6 110-47 03G44551 26 100-17
744373 4 90-19 00G180303 15 120-7 03G44753 9 130-15
744374 6 90-19 00G2007114A 10 50-5 03G52335 12 110-69
744389 8 90-21 00G2007114B 11 50-5 09G04440 9 100-8
744392 10 80-41 00G32209A 2 60-5 09G04535 3 60-9
744393 11 80-41 00G32209A 2 60-7 11G01412 9 90-54
744715 42 130-15 00G32209B 3 60-5 11G01620 12 60-15
744722 14 80-15 00G32209B 3 60-7 11G01714 11 60-13
744733 22 110-53 00G39020 11 120-19 11G01716 1 110-43
744742 16 130-15 00G390202 7 30-7 11G01716 11 110-47
744761 7 110-73 00G390203 10 30-9 11G01716 14 120-31
744761 48 130-15 00G390204 12 30-7 11G01720 7 30-9
744762 3 110-73 00G390205 25 120-5 11G01720 6 70-34
744762 27 130-15 00G390205 19 120-13 11G01720 6 70-35
745009 37 130-15 00G390205 29 120-31 11G01720 4 110-15
745089 21 110-53 00G390205 18 140-13 11G01720 22 110-19
745092 9 110-53 00G390206 9 110-31 11G01720 3 110-35
Z45770 10 110-45 00G390206 9 110-33 11G01720 24 110-47
745773 9 110-45 00G390206 9 110-41 11G01720 26 110-49
160-12 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=488



1076 BIBR S UL EIHL
WEEI- ZE
FHE HwE i FHE HwE i FHE e i
11G01720 20 110-57 12G45008 7 110-9 14G00082 4 70-31
11G01726 5 50-9 12G45008 6 110-11 14G00082 7 70-33
11G01726 8 130-15 12G45008 2 110-29 14G00082 1 70-34
11G01730 24 110-53 12G45008 14 110-43 14G00082 1 70-35
11G02020 5 100-17 12G45008 15 110-45 14G00082 32 70-43
11G02020 21 110-15 12G45008 2 110-53 14G00082 24 80-3
11G02020 17 110-17 12G45008 13 110-55 14G00082 1 80-32
11G02026 20 110-11 12G45008 12 110-57 14G00082 10 80-35
11G02026 16 110-53 12G45008 13 110-59 14G00082 6 110-9
11G02026 15 110-59 12G45008 14 110-63 14G00082 7 110-11
11G02036 18 70-13 12G45008 17 110-65 14G00082 13 110-43
11G02036 15 110-11 12G45008 13 110-67 14G00082 12 110-45
11G02046 8 110-17 12G45008 23 110-69 14G00082 3 110-53
11G02230 13 110-65 12G45010 3 70-10 14G00082 14 110-55
11G02236 13 70-11 12G45010 17 70-25 14G00082 20 110-59
11G02240 32 110-63 12G45010 12 70-29 14G00082 15 110-63
11G02250 4 110-71 12G45010 9 70-37 14G00082 14 110-67
11G02250 6 120-5 12G45010 23 80-7 14G00082 24 110-69
11G02330 8 30-9 12G45010 20 80-35 14G00082 1 140-13
11G02336 15 100-15 12G45010 20 110-3 14G00102 26 30-17
11G02336 9 110-15 12G45010 8 110-5 14G00102 15 70-13
11G02336 5 110-35 12G45010 7 110-13 14G00102 18 70-25
11G02336 2 120-45 12G45010 14 110-31 14G00102 3 70-34
11G02345 17 110-11 12G45010 14 110-33 14G00102 3 70-35
11G45006 11 70-25 12G45010 2 110-45 14G00102 24 80-7
12G45005 18 70-31 12G45010 17 110-45 14G00102 19 80-35
12G45005 12 70-34 12G45010 20 110-53 14G00102 21 110-3
12G45005 12 70-35 12G45010 24 110-57 14G00102 9 110-5
12G45005 6 70-41 12G45010 26 110-59 14G00102 5 110-13
12G45005 12 70-48 12G45010 4 110-61 14G00102 15 110-31
12G45005 29 110-57 12G45010 21 110-63 14G00102 15 110-33
12G45005 17 110-59 12G45010 9 110-65 14G00102 3 110-45
12G45005 10 110-61 12G45010 25 110-67 14G00102 18 110-45
12G45006 18 70-3 12G45012 6 70-10 14G00102 19 110-53
12G45006 12 70-15 12G45012 14 70-13 14G00102 23 110-57
12G45006 10 70-17 12G45012 12 70-39 14G00102 1 110-61
12G45006 23 70-19 12G45012 12 70-43 14G00102 22 110-63
12G45006 17 70-23 12G45012 16 80-3 14G00102 10 110-65
12G45006 12 70-33 12G45012 11 110-5 14G00102 26 110-67
12G45006 20 70-41 12G45012 17 110-7 14G00122 13 70-39
12G45006 8 70-48 12G45012 10 110-29 14G00122 22 70-43
12G45006 11 80-5 12G45012 11 110-65 14G00122 22 80-7
12G45006 11 80-7 12G45016 11 80-3 14G00122 12 110-5
12G45006 9 80-32 12G45016 13 110-29 14G00122 9 110-7
12G45006 14 80-35 12G45020 7 80-3 14G00122 14 110-47
12G45006 16 110-5 12G46010 4 100-5 14G00122 14 110-65
12G45006 9 110-13 14G00042 5 90-46 14G00162 12 80-3
12G45006 13 110-27 14G00052 19 70-31 14G00162 14 110-29
12G45006 7 110-35 14G00052 11 70-35 14G00182 9 50-3
12G45006 25 110-43 14G00052 2 70-41 14G00202 8 80-3
12G45006 6 110-55 14G00052 11 110-61 14G01124 2 90-19
12G45006 14 110-57 14G00062 10 50-12 14G01132 35 50-17
12G45006 23 110-59 14G00062 13 70-15 14G01132 18 60-13
12G45006 16 110-69 14G00062 24 70-19 14G01212 20 50-21
12G45008 22 70-3 14G00062 10 70-21 14G01262 10 100-13
12G45008 20 70-9 14G00062 10 70-23 14G02089 12 30-19
12G45008 9 70-21 14G00062 12 70-25 14G02109 4 110-37
12G45008 5 70-31 14G00062 11 70-33 14G02109 22 110-71
12G45008 8 70-33 14G00062 19 70-41 14G02109 22 120-5
12G45008 10 70-34 14G00062 8 80-32 14G02109 31 120-9
12G45008 10 70-35 14G00062 13 80-35 14G02109 25 120-13
12G45008 9 70-36 14G00062 17 110-5 14G02109 26 120-31
12G45008 10 70-41 14G00062 6 110-13 14G02109 35 130-3
12G45008 33 70-43 14G00062 4 110-27 14G02129 25 110-63
12G45008 25 80-3 14G00062 6 110-35 14G02129 9 140-11
12G45008 2 80-32 14G00062 6 110-43 14G02149 7 100-17
12G45008 11 80-35 14G00082 23 70-3 14G02169 2 70-37
1076 BEA W EIHL PC4496 (30-JUL-08) 160-13

PN=489



1076 BIBR S UL EIHL
wSERIl- &l
FHE HwE i FHE HwE i FHE E i
14G02169 10 110-11 14G25122 4 80-3 19G02350 23 110-63
14G03089 11 70-41 14G25122 22 80-27 19G02354 18 110-63
14G03189 1 70-7 14G25122 15 110-41 19G02445 20 50-9
14G03189 4 70-10 14G25122 13 110-53 19G02448 17 110-63
14G03262 11 100-13 14G25122 35 110-63 19G02449 34 110-63
14G14040 10 130-17 14G25122 38 120-7 19G02455 2 70-39
14G14050 8 30-19 14G25122 21 120-35 19G02455 16 110-7
14G14050 6 40-17 14G25122 8 120-46 19G02656 12 110-29
14G14050 3 70-33 14G25162 9 30-21 19G02659 2 50-7
14G14050 11 70-34 14G25162 8 50-3 19G02670 13 80-5
14G14050 11 70-48 14G25162 19 80-5 19G02670 13 80-7
14G14050 30 110-57 14G25162 19 80-7 19G02746 19 50-21
14G14050 6 110-59 14G25162 17 100-3 19G02746 9 60-2
14G14060 4 30-19 14G25162 24 100-15 19G02776 6 80-3
14G14060 9 70-48 14G25162 1 110-9 19G04462 29 70-43
14G14060 12 80-5 14G25162 11 110-11 19G04647 13 80-3
14G14060 12 80-7 14G25162 15 110-47 19G04647 5 110-9
14G14060 3 80-11 14G25162 20 110-67 19G08316 10 70-33
14G14060 2 80-17 14G25162 7 120-45 19G08316 11 110-13
14G14060 6 80-19 14G29189 17 70-13 19G08316 10 110-35
14G14060 6 80-21 14G29219 5 60-1 19G08316 5 110-43
14G14060 20 80-27 14G29239 10 60-5 19G08316 6 110-53
14G14060 18 80-29 14G29239 10 60-7 19G08318 10 110-13
14G14060 7 100-4 14G31209 7 60-8 19G08320 20 70-19
14G14060 7 110-55 14G36240 7 60-2 19G08320 6 110-5
14G14060 13 110-57 16G00832 5 110-67 19G08320 14 130-11
14G14060 24 110-59 16G30618 11 110-59 19G08325 9 70-15
14G14060 21 110-69 16G30622 28 110-59 19G08325 7 70-21
14G14060 12 120-13 16G70406 31 110-59 19G08325 5 70-23
14G14060 6 120-27 17G02412 3 90-34 19G08325 13 70-25
14G14060 11 130-17 19G00030 15 70-48 19G08335 11 70-17
14G14100 14 70-39 19G00147 16 70-3 19G08335 22 70-19
14G14100 31 70-43 19G01116 26 70-3 19G08400 11 110-57
14G14120 15 110-17 19G01116 15 110-69 19G08416 21 80-35
14G21082 12 70-41 19G01118 6 70-48 19G08416 9 110-3
14G25062 16 110-3 19G01120 4 40-9 19G08416 7 110-69
14G25062 7 110-27 19G01120 15 110-3 19G08420 6 70-33
14G25082 24 80-13 19G01125 17 70-3 19G08420 27 70-43
14G25082 11 110-3 19G01216 30 120-35 19G08420 7 80-35
14G25082 19 110-45 19G01220 13 80-27 19G08420 22 80-35
14G25082 10 110-55 19G01335 15 70-39 19G08420 13 110-9
14G25082 22 110-55 19G01335 30 70-43 19G08420 12 110-43
14G25082 11 110-69 19G02030 25 70-41 19G08420 14 110-45
14G25102 13 60-8 19G0212 11 130-9 19G08420 20 110-45
14G25102 10 70-11 19G02130 11 70-19 19G08420 1 110-53
14G25102 18 80-3 19G02135 11 70-15 19G08420 8 110-55
14G25102 15 80-13 19G02135 16 70-23 19G08420 12 110-59
14G25102 19 80-17 19G02135 10 70-25 19G08420 30 110-63
14G25102 10 80-25 19G02135 18 70-41 19G08420 16 110-65
14G25102 14 110-5 19G02140 18 70-19 19G08420 12 110-67
14G25102 11 110-19 19G02140 28 70-41 19G08420 13 110-69
14G25102 7 110-31 19G02147 8 70-19 19G08425 12 50-10
14G25102 7 110-33 19G02147 22 70-41 19G08425 21 70-3
14G25102 18 110-43 19G02235 8 70-36 19G08425 9 80-35
14G25102 28 110-47 19G02249 16 110-63 19G08425 13 110-45
14G25102 19 110-63 19G02252 16 110-59 19G08425 23 110-55
14G25102 19 110-65 19G02320 16 70-9 19G08425 14 110-69
14G25102 11 110-67 19G02330 4 130-3 19G08430 4 50-11
14G25102 11 110-71 19G02335 29 110-49 19G08430 4 70-44
14G25102 20 120-5 19G02340 8 50-21 19G08430 25 80-35
14G25102 28 120-13 19G02340 2 70-10 19G08430 4 110-11
14G25102 14 120-37 19G02340 8 80-25 19G08430 12 110-55
14G25102 13 120-40 19G02340 9 110-67 19G08451 13 110-63
14G25102 5 120-41 19G02346 12 70-13 19G08520 23 80-3
14G25102 7 130-5 19G02346 24 110-67 19G08520 18 80-35
14G25122 15 30-5 19G02348 2 110-65 19G08520 13 110-5
14G25122 5 60-9 19G02349 20 110-63 19G08520 29 110-63
160-14 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=490



1076 BIBR S UL EIHL
WEEI- ZE
FHE HwE i FHE HwE i FHE E i
19G08522 15 70-25 19G52120 10 80-7 24G00010 2 110-43
19G08525 8 80-35 19G52125 30 30-7 24G00010 17 110-43
19G08525 18 110-3 19G52125 3 110-25 24G00010 18 110-53
19G08525 7 110-5 19G52125 17 110-55 24G00010 23 110-53
19G08525 13 110-31 19G52125 2 120-11 24G00010 32 110-59
19G08525 13 110-33 21G08412 11 80-32 24G00010 5 110-61
19G08525 16 110-43 21G08412 12 110-27 24G00010 10 110-69
19G08525 11 110-53 21G08416 17 110-3 24G00012 4 60-9
19G08525 26 110-57 21G08416 15 110-5 24G00012 7 70-34
19G08525 25 110-59 21G08416 2 110-27 24G00012 7 70-35
19G08525 12 110-65 21G08416 15 110-57 24G00012 8 110-7
19G08525 23 110-67 21G08418 5 110-55 24G00016 14 110-59
19G08528 2 110-63 21G08420 21 110-59 24G00022 12 60-2
19G08530 14 50-10 21G08420 19 110-69 24G00022 7 130-9
19G08530 1 50-12 21G08425 19 70-3 24G0008 19 110-5
19G08530 11 70-11 21G08512 3 120-44 24G10010 33 110-47
19G08530 8 70-37 21G08515 12 120-21 24G10012 13 110-3
19G08530 20 80-3 21G08516 9 70-34 24G10012 13 110-47
19G08530 18 110-3 21G08516 9 70-35 24G20012 19 110-57
19G08535 17 80-3 21G08520 6 80-32 24G20014 9 70-17
19G08535 21 80-7 21G08525 14 80-31 24G20014 18 130-3
19G08535 11 110-45 21G08620 7 80-13 24G20014 24 130-3
19G08630 6 50-21 21G08620 8 100-7 24G20016 21 100-15
19G08630 10 110-5 21G08630 7 100-7 24G20016 2 110-9
19G08630 12 110-7 21G16208 11 90-41 24G20016 5 110-39
19G08630 9 110-29 21G16312 8 110-61 24G20016 10 130-15
19G08630 18 110-65 21G16512 1 110-29 24G20027 2 110-11
19G08635 5 80-3 21G40316 28 110-57 24G20030 18 110-39
19G08635 7 110-7 21G40316 34 110-59 24G20030 33 110-63
19G08640 28 70-43 22G17325 9 50-12 24G35024 15 110-65
19G08640 12 110-53 22G22510 6 110-45 24G45010 5 70-27
19G08640 24 110-63 22G34420 6 50-23 26G00828 8 50-12
19G08676 2 130-15 22G36420 4 30-9 26G00828 5 110-71
19G08681 17 50-3 22G36425 10 110-39 26G00828 10 120-7
19G08845 14 80-5 22G36425 1 150-5 26G00828 19 120-19
19G08845 14 80-7 22G36522 24 120-13 26G00828 23 120-33
19G10400 4 110-35 22G36525 21 120-5 26G01032 12 100-8
19G10840 10 80-3 22G36525 25 120-31 26G10832 16 110-67
19G22540 7 70-10 22G36530 3 110-37 34G00318 15 50-23
19G24535 18 50-19 22G36530 3 120-31 34G00420 6 70-31
19G28030 7 50-5 22G36530 1 120-43 34G00530 16 30-9
19G51135 7 120-3 22G36630 15 100-17 34G00540 9 140-13
19G51135 26 120-9 22G58420 11 110-23 34G00820 10 110-17
19G52112 6 40-21 24G00005 26 70-41 34G01646 5 120-39
19G52112 19 80-9 24G00005 13 70-48 360111K1 6 50-11
19G52112 17 80-35 24G00005 9 110-61 37G32816 5 110-69
19G52112 19 120-31 24G00006 7 70-48 37G33613 26 110-69
19G52112 20 140-15 24G00006 10 80-32 37G33616 22 120-37
19G52116 23 30-7 24G00006 15 80-35 37G33619 23 80-11
19G52116 8 30-10 24G00006 14 110-3 40G00040 22 100-17
19G52116 8 30-11 24G00006 11 110-43 40G00040 3 110-39
19G52116 2 40-7 24G00006 22 110-59 40G00040 6 120-43
19G52116 8 40-17 24G00008 24 70-3 40G00042 1 70-12
19G52116 9 80-5 24G00008 8 70-21 40G00047 14 110-15
19G52116 9 80-7 24G00008 14 70-25 40G00047 5 110-47
19G52116 7 80-11 24G00008 10 70-36 40G00047 16 120-7
19G52116 12 80-17 24G00008 34 70-43 40G00080 9 60-13
19G52116 4 80-19 24G00008 3 80-32 40G00084 22 50-9
19G52116 4 80-21 24G00008 16 80-35 40G02016 8 70-31
19G52116 12 80-27 24G00008 10 110-3 40G02025 7 70-29
19G52116 9 100-4 24G00008 8 110-27 40G02030 1 120-41
19G52116 32 120-35 24G00008 8 110-43 40G02040 21 100-21
19G52118 15 80-29 24G00008 17 110-57 40G02045 15 30-3
19G52118 12 80-35 24G00010 16 70-25 40G02068 16 50-5
19G52118 3 120-27 24G00010 4 70-27 40G05010 9 70-44
19G52120 2 30-19 24G00010 2 70-29 40G05032 6 70-37
19G52120 10 80-5 24G00010 19 110-3 40G06008 12 90-37
1076 BEA W EIHL PC4496 (30-JUL-08) 160-15

PN=491



1076 BIBR S UL EIHL
wSERIl- &l
FHE HwE i FHE HwE FHE HwE i
40G06009 17 120-33
40G06015 35 70-43
405RH 17 50-15
42G65130 21 70-31
44G10830 2 50-11
44G11236 22 110-21
44G30614 17 110-25
44G42554 3 120-45
45G01245 3 110-15
45G01245 20 110-17
45G01245 24 110-49
45G12248 12 120-46
45G12249 5 60-2
45G12256 12 70-11
49G00432 7 140-15
49G00436 15 140-15
49G00530 3 150-5
49G00558 16 110-11
49G01450 8 140-15
49G01532 7 120-5
49G01532 3 120-13
49G01532 17 120-15
49G01532 23 120-31
49G01540 12 110-39
49G01540 25 110-41
49G01540 3 110-71
49G01545 2 110-37
49G01650 21 110-49
49G01758 15 110-7
49G01770 6 110-29
49G01778 21 110-19
49G06764 15 110-21
50G01054 7 100-8
50G01054 2 130-5
50G01054 17 130-15
55G70030 17 70-31
58G21010 14 50-5
58G21010 11 50-10
58G21010 28 110-49
58G21010 21 120-17
58G21010 25 120-21
58G30813 13 110-21
58G30813 3 120-35
58G30813 6 120-46
58G30818 8 60-2
58G31013 3 50-9 -
58G31018 19 50-9
160-16 1076 HEE W EIHL PC4496 (30-JUL-08)

PN=492



